CHINMAYA ACADEMY FOR CIVIL SERVICES
Group 1 Preliminary Free Test Series — 3

A

Booklet Series Register Number

[TimeAllowed:3 Hours] [MaximumMarks:200]
Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

. This Question Booklet contains 200 questions.

2. Answer all questions. All Questions carry equal marks.

. The Test Booklet is printed in ‘A’ series booklet, he/she has to indicate in
the side 2 of the Answer Sheet with Black Ball point pen as follows:

. You must write your Register Number in the space provide on the top right
side of this page. Do not write anything else on the Question Booklet.

. An Answer Sheet will be supplied to you separately by the invigilator to mark
the answers. You must write your Name, Register No.and other particulars on
side 1 of the Answer Sheet provided.

. You will also encode your Register Number, Subject Code etc., with Black
Ink Ball Point Pen in the space provided on the side 1 of the Answer Sheet.

. Each question comprises five response [A], [B], [C], [D] and [E]. You have to
select ONLY ONE correct response and mark in your Answer Sheet. In case
you feel that there are more than one correct response, mark the response
which you consider the best. In any case ,choose ONLY ONE response for each
question. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

. In the Answer Sheet there are five brackets [A],[B],[C],[D] and [E] against
each question. To answer the questions you have to mark with Black Ball
point pen ONLY ONE bracket of your choice for each question. Select one
response for each question in the Question Booklet and mark it in the Answer
Sheet. If you mark more than one answer for one question, the answer will
be treated as wrong.

. You should not remove or tear off any sheet from this Question Booklet. You
are not allowed to take this Question Booklet and the Answer Sheet out of
the Examination Hall during the examination. After the examination is
concluded, you must hand over your Answer Sheet to the invigilator. You are
allowed to take the Question Booklet with you one after the Examination is
over.

10.In all matters and incase of doubt, the English Version is final.
11.Do not tick-mark or mark the answer in the Question Booklet.
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1. Consider the following statements

1.Indian Standard Time calculation was introduced during the period of Lord Wellington
2.29°58' longitudinal lines are between Rann of Kutch from west to Prayagraj from east
3.The central meridian longitude passes through Naini Village near Allahabad of Uttar
Pradesh state

Choose the correct answer

a) 1, 2 only false b) 2, 3 only false c) 1, 3 only false d) All are false

L 60TEU(BLD Fo M MIGEMET 86U 60T UL M & 6iT

1.@HS W CHIsH &6ors:EH QeuedlmiLer LNTY &meusSl6v JMWSELUIUGSSLULLLSI

2.29°58 ' Hend CHMHGET CLOMH FH6L TMeT JL&L HLEF (NSH6L FP&EHR 6 LNTWTETTS 6UemIT 2_6T6TeuT.
3.058W BOHSECHETH BIEHCrans 2 .55J9NrCHEF WMFlVD JUSETUTH MBS 2 6TaT  emHeoll
S rTusS 6T aulWmsd QF B M.

giflumerr aflemLenw g G517 HA S 6 M & 6T

a) 1,2 (L Heum b) 2, 3 DL (HLD Heum 01,3 LMW Heuml d) 9|emeaTHSID Heauml

2. Consider the following Statements

1. It is the longest flowing river in Peninsular India

2.It is the second largest river in India

3.It has a drainage area of 3.13 Lakhs Square Kilometre

Which of the following river described by the above statement?

a) River Ponni b) River Tsangpo

c) River Dakshin Ganga d) River Alok Nandha
LS 6tTeU(BLD FaM M1 8560 6IT 85 6L 60T UL M1 &5 61T

1. @& GusnHu @hEHwmeile e BeToms LT HHWTELD

2. @\ & @B wmelleT @ revorLmeus Quflu /S

3. @18l 3.13 UL&FLD F5IT RCMSLLT aUL9&T6L LIG B 6w & Q& mTeuor(h 6iTeng!
CLM&H 60T FaMMmmevL efleurfl& & LU H6TeT 65 6THI?

a) QuImedTen] BHG) b) & GUIT G ¢) BLF\60T HHBIGT HS) d) 31CeuITE BHST HSH

3. Choose the incorrect one in the following.

a) Indian space research organization was established in the year 1969

b) Satellite system in India can be grouped into two categories

c) GSAT-1 A is the India’s first remote sensing satellite launched in the year 1986
d) INSAT-1B is the first communication satellite launched in INSAT series.

L) 656U (1H 6 60T6U M NIl 6L & 6UMITEUT 6p60TeMM S CHTTH QS [H & & 6]LD.

a) @BH W elevoTQeler] QL TmMUIFS BlmiaueTd 1969 ylb o6t BloueuliLL L g

b) @bBSH W melev 2 _6TeT QEFWMenNSHEHECSTET SemlnLienLl @ Tevor(® euendBaen oLl LNflgseurid
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o) Slem-1 ¢ 1986 10 24,6007 geullLil L @HH W melledr (LNH6v Q&Ten6U 2 60T Q&FUIMENSHEHCHTOT QLG LD.

d) @erem_-119 eTeTLIG @6TFML. QSTLIfleb gaullll L (0S6V $&56160 QSTLIL QFUMeNEECEHTET 9L, GLD.

4. Choose the incorrect one in the following.

a) Digboi oil fields - Eastern coast - oldest oil fields in country

b) Mumbai high oil fields - Western coast - largest oil fields

c) Nahorkatiya oil fields - Western coast - Highest reserve oil fields

d) Rudrasagar-Lawa oil fields - Eastern coast - Oilfield in assam

L) 656U (15 6 60T6U M NIl 6L & 6UMITETT 6p6iTemMM S C& T TH QS [H & &6 ]LD.

a) 198 LIMUI 6T600TQ 600T U1 eUWIEV &6 - BLPEHEG HLME6MT - IHTL_IQ60T LILD6MLOUITET 6T600TG600T LI GULLIGY
b) (LNLDEMLI 2_WITT 6T600TGI600T U UGV E6T - GLOMEG HLME&6T - LS LIQ LI 6T600T Gl 60T U 66V 6IT

) BEAMMIGLQUIIT 6TE00TGl600T U QUULIGVEET - GLOMEG HLMH&GET - AH & @) (HLIL| 6T600TGl600T U 6ULLIGV&6IT

d) (BSTEFMSHIT-6VITEUIT 6T6T0TGl6TT U GUUIGVEET - BPEG HLMEHENT - S FTLA6 6T600T G600 U 6)1LLIGV

5. Choose the correct pair in the following statement.

a) State with highest Population - Madhya Pradesh

b) State with lowest Population - Manipur

¢) Union Territories with highest Population - Chandigarh

d) Union Territories with lowest Population - Lakshadweep
Letrau(pLb sammlev &iflwimerr @ emetoTenls G5 THASH & &6 LD.

a) 3IBG IN&HHET QG TeNSH Q& MeTL IMHleVLD - SH W LITCH&LIh

b) GMMHS D& HET QST Q&Te0TL LOMBIEVLD - L06vor ) LILL T

Q) P& NGHGHET QFHTens Q& mevorL W,eoflWiedT LT CH&F BIGH6T - &F600TIq &I

d) wesflwet LNFCHaFmIG6T &8 GmMMES D&GEH6T QGTNS Q&ML M6 - UL_F&5F6)

. Consider the following Statements
. Border road organisation was established in the year 1960
. This Organization has constructed world’s highest road joining Chandigarh and Leh in
Ladakh.
. This road runs at an average altitude of 4,270 meters.
a) 1, 2 is true and 3 is false b) 1, 3 is true and 2 is false
c) 1, 2, 3 is true d) 2, 3 is false and 1 is true
LSl 6tTeU(BLD FaM MIG6MEIT &6 60T MBI & 6T
1. 6T6LEM6V FITEM6EL J|6mLDLIL] 1960 9LlD 31600T(H BlMIULILILL &I
2. @hHS 6oLl VLTSS Feoorl&J WMMIDL G LT W HETHIGMET G)eM6UITH G 2 uHeir NS
2_WITLOT60T FMen6Venl 600G Si6Temgl.

3. @5 Fremev ErmeEflwns 4,270 ISLLJ 2. WIsHe QFBmaI.
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a) 1,2 &ifl HMID 3 Heum b) 1, 3 FfllnMMILD 2 Heum 01,2 3 & d) 2, 3 Haum nmmiLd 1 &ifl

. Consider the following statements

. The Sentinelese tribe, the most dangerous tribe in the world

. However, they do occupations like cattle herding and milking.

7
1
2. They would be described as Stone Age people and agriculture is not known for them
3
4

. They do not want help from outsiders.
a) 1, 2 only true b) 3, 4 only true c) 1, 2, 4 only true d) 1, 3, 4 only true
L 6dTeU(BLD Fa.M M1 &5 60)6IT &5 6L 60T | UL M1 &5 61T
1. QFetTIq6T6eS6ML LILPMEIGLY, 260 E 60T L&D 31 LIGS S TE0T LILDMEIEL
2. 9|6UTG&ET HMETEV L6V S IT&6IT 6TeTMI 6UIT6v0l 185 & LILIH UTTSHET, 3uTSHEHS G elleusF T Qslwungl
3. 9p6urmey, LOME GG S 6L, LIV M SH60 CLMETM Q& TLSl6L&emeT Q& WIS 60TmeuTIy.
4. QeuerflwmLgerfletr 2_gallemw 6urs6T 69l(HLDL|6uB)eLem6v.
a) 1,2 GG &ifl b) 3, 4 LLRGCW &Fifl 01,240 GCW &Fif d) 1,3, 4w BHGCW &

8. Match the following.
a) COP 28 - 1. Dubai
b) COP 27 - 2. Sharm El Sheik (Egypt)
c) COP 26 - . Glasgow (Scotland)
d) COP 25 - . Madrid (Spain)

. Paris (France)
L9 6dreu (I eustTEU MHEMMLI QILITIHS S1.
a) COP 28 - 1. ILmul
B) COP 27 - 2. @qIJLD 6T6L Gaq & (TR LISI)
c) COP 26 - 3. ReTMerVCEIT (VB TLEVITHSI)
d) COP 25 4. _TLHIL (6srv@uuiedr)

5. urriflerv (L medrerv)

a)l1234 b) 1345 c)2345 d2354

9. There is a Chinese company doing business in India. The profit made by the company
will be part of:
1. India’s GDP 2. China’s GNP
Select the correct answer using the code given below:
a) 1 only b) 2 only c) both 1 & 2 d) neither 1 nor 2
@(H Fer MlMIaueTL @ HHWTeT6L euetntllsb QFWSRMSI. Bl mieueTd FFL(BLD 6VITLILD )& 60T 6 (hH LG HWITS
@\ (H&(SLD:
1. @S wmelledr 2ig.L9
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2. Feormefleor 23).6160T.L9).
BC QsmHHsUULBG6Ter GMuiienL 1 LweaTu®MSS Fiflwmer LS emevs CHTHASH &S LD:
a) 1 (b b) 2 nL_(hILD o) 1&2 @uevor(hlld d) 1 9j6LeL Gl 2 @ evor(H LD @)6V6emI6V

10. Match the following.

a) World Nature conservation day . June 5

b) Green consumer day . July 28

c) World Environment day . September 16
d) World Ozone day . September 28

e) World Pollution control day . December 2

L9l 6dTeu(HeueTTUMEMM LI QLIMTIHE S 6 LD.

a) 2,608 @QWMeN& LITHISTLIL] Heorld 1. &29 60T

b) L& MO BIGTCUMT Heurlh 2. O6m6L 2

€) 2.6V HHMIFG:LL0 Heorld 3. Q&FLILLbLIT 16

d) 265 RCEFMeT Heorld 4. QFLILLbUIT 28

e) 2.8 LM&H&HSELHLUUTL®H HT6T 5. 19&F1DUF 2

a)23154 b)24 135 c)32 145 d35214

11. Which of the following statements could be true for a high savings rate in an
economy?

1. Higher investment 2. Higher consumption 3. Higher exports
Select the correct answer using the code given below:

a) 1 & 2 only b) 1 & 3 only c) 2 & 3 only d) all of the above
QUIEBETTSTISGH L 2 Wiy CFIALIL efFHHH MG GLh& & 600TL. FammiGerflev gl QLITIHHSILD?

1. 2188 Ws80H 2. 91855 msjey 3. 91855 gHmILG)

BC AamH&&LIULBG 6T MUl LweaTLRSS) Frlwmer UG eamevsd C5THASHH &S50 LD:

a) 1 &2 1@l b) 1 &3 L (b )2 &3 L (LD d) GLDB6V 2_6ITET I6MEITSH SN

12. Consider the following statements with respect to Sunrise Sector in Indian Economy:
1. The sunrise sector industry is characterised by high growth rates and high degree of
innovation.

2. Food processing, Information technology and Telcom can be termed as Sunrise sectors
of Indian Economy.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) both 1 and 2 d) neither 1 nor 2
@HH WL QUIIBETTSTTSH L GFlCWMSWS Senm QSTLTLMS LN6TeU(HLD Fa M MIGM6TSH & 6160t b & 6iT:
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1. Gflewmsw gleom QsTHLZHMMN IBE auarfedd NGHFhRE6HT WHMIL s 3erelleumerr

SeT(H LI LIL&6MTeL euensLUILOSSLILOSH M.

2. 2.60Tey USLUUBSSIGN, SHaUL QFHMPlLBILLL WLMMIDL QL&TL HBweumenm @ HH WLl
QUIBETTSTIS G 6T 2 T8 S16MM& 6T 6T6iTM FaMEVITLD.

CLG6v AEBMH & & LILILBHETET sammiGerflev ergi/eremeu &ifluimeor g/ & ifl W meoremeu?

a) 1 L (D b) 2 (LD o) 1 wMmmID 2 @revor(hLD d) 1 9J6Vevsl 2 @ TevoT(HLD @)6V6Em6V

13. Which of the following statement is correct about the National Planning Committee
(NPc) set up in 1938:

1. The National Planning committee was set up by the initiative of INC president J. L. Nehru
in 1938.

2. J.R.D. Tata, G.D. Birla was also invited for participation in The National Planning
committee.

3. NPC was a 30-member committee devoid of any sub-committee who failed to produce any
recommendation due to its large membership.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 2 only d) 3 only

1938 @6V MWSGHLILILL C5AW B L&EGSW (NPc) Lihmlw LNeTeuBd sammiseflev ergl &iflumers:

1. 19386V @HBHW CHHFW HTEHRIG TV Hemeveul] G2.616L.CH (Bl 6T NWHF WML CHFW HLL &S
S|MESLILLLSI.

2.G2.915.19. LALLM, &Y. L9Feum 9B GWM@HL C5HFW HIL L &G wWellev LIBICHMS | empdaLILILL 6.

3. QUL DTS T600T &Feml 30 2 MILILS 60T 78 606118 Q& ITEU0TL (&(LD6UME @\ (HHS S, THSQGUM[H 2L (S(Q6yLh
@IS SI, 56T 3B & 2 MILILN TS 6T &MFETLONS 6 HSG e UKl bhSiengenwwd FFUNESS
Seumlwisl.

CLGev AEMH & & LILIL B ETET &amiGerflev ergl/eTemeu &iflwimeorgl/&iflWimeoremeu?

a) 1 LmmILD 2 L (HILD b) 2 LbMMID 3 WL GILD c) 2 DL (BLD d) 3 LG

14. The Bombay Plan with the popular title of ‘A Plan of Economic Development for India’,
prepared by a cross-section of India’s leading capitalists. With context of it consider the
following statements:

1. The Bombay plan was published under the editorship of John Mathai who later became
the first Railway minister in Nehru's cabinet.

2. There were evident conflicting views on the economic planning between the members of
Bombay Plan and the National Planning committee.

3. The Plan gave priority to the basic industries.

Select the correct answer using the code given below:

a) 1,2 and 3 only b) 3 only c) 1 and 2 only d) 2 only
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@\ HH wmelledr (L etTeoreuot] (W& 6vTerfls SGleueum S serfleor W milées Ll L '@ b8 wmeldlmas meor
QUIEBETTSTT CLWLUTLHS S LID' eTedrm LN JFLIEUIDTET HemeuLieniig Q& meoorL LILDLIMW SLLLD. 3|8 60T
LI 60T LI 6iTeU(BLD Fan DI 606TE & 61601 MG 6iT:

1. ubuml LD Kmer 1nggmuller oA lwiler &b QeueflulLLILL L g, S6ulf LetTeory G (H 6N 6ot

S M FFFemeuuileL (NG TUNLEEU | EMLDEFFTITEOTITI.

2. UbUMW HLLSSH 6T 2 milINerf&HEh8H G0 CHF W HLL IO G wellMESLh @)L G QLITIHETTSITY

S L IOL6L &5 S QeuerflLILI6mLWITEUT (LN J6UoTLIITLIT6T &(H& S18 86T @) (HHS 60T.

3. @555 HILLID SLiLenLs OsTHlusEns S wearanfleaw gaflss s

BC QsmHHsUULBG 6T GMIuiienL Ll LweaTu®MSS Fiflwmer LS emevsd CHTHOSH &&HaLD:

a)1,2 InmmIb 3 L GILD b) 3 LMD ¢) 1 wmmib 2 I GILb d) 2 b (LD

15. With reference to Agriculture in India, consider the following statements:

1. Kharif crops are sown with the onset of monsoon in different parts of the country.

2. Blossom Showers in Kerala, help in the flowering of plantation crops like Coffee and Tea.
3. Improper drip irrigation installation often culminates into poor root development.
Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d) all of the above
@ HH WITell6v CeU6ITIT6ToTem LD ML QLITMIS S 6UemT, LIN60TeU(HLD SaM) MIS606TE 86U 60T UL MG 6iT:

1. BHITL.19.60T LI6LGaUMI LIG B &erfléb LiHeulnenp QG ML B we L6t &ML LullTseTr eflen s & &L L (b 6 60T M 6or.
2. Gapermefley LiemmEd aqeul (U, wem), & wmmib BT GumeTm CHMLLL LuNTH6eT WhUSMHES
2 5SS

3. FmL@® B LUMFeurib (emmMWmM (emmMuiley HLLILIGTE Geulf euenf&FHF Genm&BmSiI.

GG QEHMH&SELILLB6TET gaMmiserflev ergil/eTemeu Fiflwmenrsl/& Flumeoremeu?

a) 1 lnmmILd 2 L (HLD b) 2 (nMmmith 3 ()LD

o) 1wmmib 3 10 GLb d) GGGV 2_6ITET 260)60TSH SILD

16. Consider the following statements:

1. Kisan Credit Card covers post-harvest expenses, produce marketing loan and
consumption requirements of farmer households.

2. Farmers involved in the crop production or allied activities such as animal husbandry;
fisheries are eligible for Kisan Credit Card Loan Scheme.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) both 1 and 2 d) neither 1 nor 2
LS etTeU(BLD FanM MG 6METE &6 60T UMb 6iT:

1. Aemear AL STIH JMNMLEGSL LNHemgWw QFaeys6r, alleneTQUITBLEGET, FihemngLiLH 55560
&L 6T LoMMILD efleusF Tl & @ D LIMISG6rfl6ir HIST6Y G 606U em6lT 2 6T6rmL &6 W gl.

2. W 22MUSH) 36LV6VEI HMELHEOL QUETTLIL CUTETM QSTLFL 6L HLeULSGen&G&eTlev FEHUL G 6o

efleusmuil & 6iT; LO6OTEUITE 6T T &FTEIT &L60T |60 SHL 6T G LGB MG &E&S S W60 LI6UTSH6IT.
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CLG6v AEBMH & & LILILBHETET sammiGerflev ergi/eremeu &iflwimeor s/ & iflwimeoremeu?
a) 1 (b b) 2 nL_(hILD
o) 1 mmib 2 @revor(h LD d) 1 96LeusI 2 @ TeuoT(HLD G)6LEmI6V

17. Post Independence, the Government of India took efforts for land reforms, under which
tenancy reform was an integral part. Which of the following things falls under tenancy
reforms?

1. Abolition of Zamindari system

2. Regulation of rent

3. Ownership rights to tenants

4. Redistribution of land among the landless poor

5. Security of tenure

Select the correct answer from the code given below:

a) 1, 2 and 5 only b) 2, 3 and 5 only c) 1, 2 and 4 only d) all of the above
&SHHISHOGL LNNEG, QHBHW TS5 BIVFETHHSSHHISEFHSETET WWHFHmeT GLOME & TeUorL i,
Qe B G55ms FIDGSHD @G PGEIPM@NHS LSHWTE QBHSS!. LNeraGaaraHmle s
&S558 FrDBSsmE s B uGRDS?

1. etz il e el

2. umLen & SLBHILILIT®H

3. 555MESHMTITSHEH 5 & Teor 2 [f160L0 8 6iT

4. BlevlD MM FOLNHEBHE S BleVHeNS LD MILIKIEH QFUSH6

5. UGN & &MV H 6T LIMSISTLILY

&G s &&LULReTer GMIUTL 199 BB S Fflwmer LUSHeanans C&THASH &S LD:

a) 1,2 LOMMID 5 L (ILD b) 2, 3 LDMHMILD 5 WL (HILD

01,2 mmib 4 0L (HID d) GGGV 2_6TET 2|6060TSH SILD

18. Consider the following:

1. Revenue Deficit 2. Capital Expenditure 3. Effective Revenue Deficit
Grants or expenditure used for creation of Assets are calculated under which of the given
heads?

a) 1 and 3 only b) 2 only c) 2 and 3 only d) 3 only

L) 65T6U (TH 6 60TEU MMM &5 &5 61 60T L MBI B 61T:

1. suHUITW LIMHMITE & emm 2. PV S 6T QI F6V6Y 3. LIWEDI6ITEIT 6u (B 6eu ML LIMHMTEHEG6emMm
QFMSHSISHEMET 2 (HeUMTHES L LWeTUBSSLILIBILD L0mesl k& 6T 3606vg1 Q& 6v 66T & 6T
QEMH&SLILLL HemeullL| Sy 615 60T SLh & 6vor8: S L LI LI () ) 60T 60r?

a) 1 lnmmILd 3 L (HILD b) 2 0L_(hILD €) 2 oMmMID 3 DL (ILD d) 3 LG
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19. Consider the following with reference to Indian Tax System:

1. Corporation Tax 2. Dividends Distribution Tax

3. Minimum Alternative Tax 4. Stamp Duty

Which of the following is/are direct tax(es) applicable to private sector companies in India?
a) 1 and 2 only b) 2, 3 and 4 only c) 1 and 3 only d) 1, 2 and 3 only
@BHW eaull WemmenwLl QUITMISHS6eUenT LI 60T6U(IH6U6oTaUMHeMmME & 61 60T U] M1 S 6iT:

1. sTFULCTag.6or eurfl 2. FeY505mens eNmlCwIms eurfl

3. GeOMbHSLILE Lommm eurfl 4. (5B eniy eurfl

Cumaanweummiecy sTemeu @) S WImelleL 2_6Tem &6l IWITT SHiemm B MI6 6T IS @MH & (&L G\LITHHSILD?

a) 1 LMmmILD 2 L (BID b) 2, 3 LDMMILD 4 DL (HILD

¢ 1 Wwmmib 3 LG d) 1,2 lommid 3 L GILD

20. Which of the following statements about Goods and services tax are correct?

1. It is a destination-based taxation system.

2. It is direct tax for the whole country on the lines of “One Nation One Tax” to make India
a unified market.

3. It is calculated in line with Value added tax (VAT).

Select the correct answer from the codes given below:

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d) All of the above
&6 WHmib GFenel aurl LIMMw LNetTeuHLD Fammiserfle ersl &iflwimeors?

1. @8 @V&E g LiLemLulieurer euflaS L] SemoLiL.

2. @\ S WITemeu 6(h 6 (HMEIHeM6THS &FlHen s WME LDMMM "G BTH @G aulfl” ererm i LliLemLullév @) 5I
BT WWenLEGLD CHITLY eurflwm@Lb.

3. @18 LHULY FLLLUULL aulflé G (VAT) ghu SeaursR LGS maI.

Qam@&sLULL GHuiG&saepha Fiflwmear UG anensd C5THASH &8l

a) 1 lnmmiLd 2 Ll (HLD b) 1 Lommith 3 (LD Q2 mmib 3 LG d) GLG6V 2_6T6T 2|6M60TS SN

21. Which of the following statements regarding the Reserve Bank of India are correct?
1. The concept of Reserve Bank of India was based on the strategies formulated by Dr.
Ambedkar in his book named “The Problem of the Rupee - Its origin and its solution”.
2. RBI regulates the credit and currency system in India.
3. RBI manages the FOREX Reserves of India.
4. The Reserve Bank of India is responsible for providing the public with a sufficient supply
of currency notes and coins.
Select the correct answer from the codes given below:
a) 1, 2 and 3 only b) 2, 3 and 4 only c) 1, 3 and 4 only d) All of the above.
@bew el eum e ummw SLhé e e Fammigerfley eTgl &iflwmeorg?
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1. @BHW Mefeu aum&Guwlear CHETLUMEG LT&SELT LCUSHT Heurgl "epumuilear LNFdFeaner - 2|860T

G MMHMLD LDMHMID 3ISH6T GTaY" 6TeTM LS55 5BV 6UE S SI6Tem 2 56) 5 6m6T 3|1 LILIOL LTSS Q&ITe0oTL Sl.
2. @S W faFFeu eumG @S wmellel &L 6T LoMHMID LIEIT jemolienL (WRIGUBSSIHMmSI.

3. @B W FlFTeu eum s @b S wmeiler 3 HHIW G&F6uTeueuol] @) (HLIL & & emeT HITeUuR &R MmSI.

4. QUITEINESHEHSHE CUITSHIDITET |6T6Y LI6UITS S TET&HET MMILD [HITEU0TILIMBISEM6ET 6ULDMEIGS @)hS W
fle el euniG udledT QLIMMILILIMEGLD.

EC Aam@ssLIULB6reT GMuiG &efledl B g Frlwmer LGamavs C5ITHAS M &&e]LD:

a) 1,2 nMMID 3 L (LD b) 2, 3 LDMMILD 4 DL (BILD

o 1,3 mmib 4 0L (HILD d) GL0G6V 2_6TET I6M6OTSHSILN.

22. Which of the following statements about the International monetary fund (IMF) is/are
correct?

1. Reduce poverty around the world is one of the objectives of IMF

2. Special Drawing Rights (SDRs) is IMF's currency

3. India is a founder member of the IMF.

Select the correct answer from the codes given below:

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d) All of the above
FJeuGs & HTeuorw BIG WL (IMF) ummlw eTeubLd Ml &en & Serfley ersil/eTemeu &l meorsi?

1. 2. vQEBIH I euMienen LPILILIG FTeuGsH & [HIT6UTW B S WS G 60T GIHITE: & MG 660 6eTMIMESLD
2. ALy er@LUY 2 flemlng 6T (SDRs) IMF @) 60T [HIT600T LLLOIT(S LD

3. QBB WIT FJeUGCHF [HIT6UTIL [H1H WG B 6tT [Hlmiauet 2 miLiLSeri.

EC QasmhHssUULBdrer GMui@ sefleSlBhg Frlwmer LGlemeas C5ITHGS®H & &6y Lh:

a) 1 lnmmiLd 2 L (HLD b) 1 ommith 3 ()LD

€) 2 lnMmmIth 3 L (HILD d) GLOGeV 2_6iT6eT I|6m6TSH SN

23. With reference to India Energy Outlook, consider the following statements:

1. It is released by United Nations sustainable Development Solutions Network

2. India's share in the growth in renewable energy is the second-largest in the world, after
China.

Which of the following statements is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
QBB WIT ererTd 3|6 V& QSTLTLITS, LN6TeU(HLD FaM MG EMET & 6U 60T IG5 6T:

1. @5 R&H W BTH SGerfler Blemeuw merr L6 (HSS) &Tey&6T QBLAMTTESM QeueflulL LIRS M

2. 4sILNESES55E aiflFsad auafFFRulley @bGlwmeller UmEG Farmase AGSSULWTES 2 6VS 6T
@ reTLmeugl Quiflugm@Ld.

LetTeu(pLh Fam migerfleL eTgi/eTemeu FHlwmeoTs/& W meuTemeu?

a) 1 L (D b) 2 nL_(Hb

o) 1 mmID 2 @revor(hLd d) 1 96v6u8 2 @ Ievor(hLD @)6V6tI6V
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24. Which of the following indexes/reports are prepared by NITI Aayog:

1. Composite Water Management Index 2. Financial Inclusion Index

3. Export Preparedness Index 4. Bare Necessities Index

Which of the options given above is/are correct?

a) 1 and 3 only b) 2 and 4 only c) 1, 2 and 4 only d) All of the above
BIS 2,CWNs BLh& & et GMUT(H &6iT/3In & en s s 6rfleL Ten s s &WMIfl&ERmSI:

1. ga L@ BT Coeumevoremin &mMIui® 2. BIS) 2 6TenL &858 GMui@®

3. gh oIS swrFBlame GHILIG 4. 3jqLILEOLS CHemeus GMIuTH

CLGev AEMH&&LILIL B 6Tem 68l (HLILM &erflev eTgi/eTemou &Il meoTsi?

a) 1 LoMmmILd 3 L BID b) 2 LnHMID 4 L (LD

o 1,2 mmib 4 0L (HILD d) GLOG6V 2_6TET 3|6060TSH SILD

25. The Positive Pay Mechanism' introduced by Reserve Bank of India means -

a) Timely payment of interests over loans financed with commercial banks

b) Ensuring customer safety from cyber attacks in transactions from atms

c) To augment customer safety in cheque payments with commercial banks

d) To reduce the amount deducted for exchanging damaged notes of denominations over Rs 100
in order to encourage more such exchanges

@be W FflEFFeu eum S oMl &LILIm &S W 6Ter 'Positive Pay Mechanism' 6T60T LIS 60T QLIT(H6IT -

a) 660U 18 aUMBIT & EB 6T BB ESHLILLL &L T8 Eh&HSHTer all_lgemul 2l CBIEH 60 QF s S 560

b) glgeTinsefley Ben QUMD UflalsSHemersefle) engFLUF &G SH60&56r 160 @ (HHS! 61L& 608 W ey
UMSISTLeL 2 MIF) QFUIS6

¢) 6U6tol1 8 CUMBIT & EHL 6T STRF M6V Q& MT(HILILICTE|SH6r 60T CLIME! QUMLY&Hem&HUITeTT LIMSISTLI6o L
GO SSIHV

d) GFsenLbS 100 epUTU GBI (HSGener IDMHMIAISHES L1156 QFUWLILGILD Q& TS &M S S5

@) &ICUITETM MM MBS 26185 & 6ell LIS

26. Consider the following statements regarding the Society for Worldwide Interbank
Financial Telecommunication (SWIFT):

1. It is a specialised agency of the United Nations, for providing services related to the
execution of financial transactions and payments between banks worldwide.

2. SWIFT is not only a platform that sends messages but also holds securities and money.
3. If a country is excluded from SWIFT its foreign funding would take a hit, making it
entirely reliant on domestic investors.

Which of the statements given above is/ are correct?

a) 1 and 3 only b) 2 only c) 3 only d)1,2and 3
2_euaemmalll 6usI S & @588 emL CUIWITET BIH S QS TMVSHASTLTL FhigLID (SWIFT) QG ITLTLITeT
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L etTeu(BLD i) 56088 6M6rTEs & 61601 MG &5 61T:

1. @8 2&HW BTHSGET Feanuuller FMLUIL BlMeUETIOMGWD, @S 2 VEOHHRIFB YLD 2 6T6T 6UMHITH & 655G
QenLwilev BT ufleufiHsemerseT WHMIWL QHTHLILGIGHMET QFWOLIGSS UG QFTLITLITET
CFem6UGEMET QULDMEIG S M Sl.

2. ervallalIl. TaiTLE QEFWSSGEm6T eILIL|ID @ SH6md L (HL06V6, LSHIHEIGMETW LD LI6uoTdemnsWLh
MausH BB MSI.

3. SWIFT @6V @S R BHTH RBIGHHLILLLT, FT QeuelBTL® BIGwWsel LTHEHSLILGBLLD, |S!
wmnsiib 2 6TBHTLH WSeSLLmerTsemeT HLOLAUN &S Coueuoriqudl(H & SLD.

GG QEMH & & LILILBHETET Fa MG 66 eTgl/eremeu &iflwimeot g/ &iflWimeoremeu?

a) 1 lnmmILd 3 L (HILD b) 2 L (HD ) 3wl (b d) 1,2 lommib 3

27. The Right to Education Act (RTE) in India guarantees free and compulsory education for
children aged 6-14. What is the major challenge in ensuring effective implementation of
this Act?

a) Shortage of qualified teachers b) Lack of adequate infrastructure in schools

c) Limited budgetary allocation d) Low parental awareness about the Act
@hHWmellev sevedl 2 flemwnd FLL1b (RTE) 6-14 auWISIOLW GLPHMSHEHEES @)6VeUsF I0MMILD HLLTWE
soallenw 2. MBS QFEWERMS. @Hs FLLHMS GMOLIL LGS SHuams 2 mF QFUEH 6 2 drer
Quflw &Feurmev ereoreor?

a) 55 UGBS P FlUTSET LIMMmTEGemnm b) LeTerfl&erleb GLIMEILDTET 2 6T&L_LemlnLIL] @eVevTH S

0) QUMTWMGHILLL ULQRL a5H0 d) @&l L Lmlwl QuUOHCMTT &enmbe ellblLliL|emrTey

28. Which of the following statements about the National Education Policy (NEP) 2020 is
INCORRECT?

a) It emphasizes a shift towards a more holistic and activity-based learning approach.

b) It proposes a new 5+3+3+4 curricular structure.

c) It aims to achieve universal enrolment in school education by 2030.

d) It focuses solely on vocational training and skill development.

CxHFW &Hevafls QEmeiTems (NEP) 2020 Limmlw LSletTeuhld oM &em & & 6rl6u 6TS1 & eum meuTSi?

a) @5 W& (W6 LWITET LMMID QFWLITL (R QLI L UN6uTeT &MHM6L | s0IGWenmenl CHTHSIW
LTHmSHmS a6l niSST M.

b) @8l @M LUSW 5 + 3 +3+4UTLSHL L S Lemnllenl WNeTQmHASHmEI.

c) 2030 Q1D o,600T(H &G 6T LisTerf1s &evallufley siemeaauemyuh LeTaflulleh CFTLiLiens @& CHTEHSHINTSHS

Q& mevor(h 6ITETSI.

d) @8 Ml LUNHE WHmID FmeT GUML 1960 L HIGLD &HaI6TD QFNSSIFMS.

29. What is the primary objective of the Pradhan Mantri Jan Dhan Yojana (PMJDY)?
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a) To provide subsidized housing for the poor

b) To offer financial inclusion and access to banking services for the unbanked

c) To promote skill development among rural youth

d) To provide free meals to school children

WYggmeor bS] 26T &6t GUIMeTT (PMJDY) (05 60TemL0 G ITH &0 6T60T60T?

a) FMLPGHEHEE Lnmestl aflemevuilev af_ (HeusFDH allpmIG G560

b) eUBIG GFemel QLIMTSHAITSGEHSE BISH 2 6TaTL&H&D WHMILD eUBIGH G668 6H& 8 T60T 2| sl 8 60)6V
QULPMEIG 56V

o) FgmwliLm @ emerehserflen Gl HmedT CLLITL 6L 2615 el & 560

d) LieiTerfl Lomesoreli s ehe @ @)6VelETF 2_6mT6) QUL 60

30. ‘Panar and Viraliyar’ during the ancient period of Indian history were:

a) Military officials b) Chiefs of craft guilds

c) Traders d) Singing bards

@HH W eugeumHNI 6T LI6utTemL WL &Tevs 6V 'Limeuory eflmeSlwy' eredrLIeU

a) @ureiel H & mifleer b) 60566016018 (& (LD LD HI S 6T 60T & 616V6U [T 55 6iT

C) UTSHS&HTGH6T d) LUm® LD el EhFser

31. Which of the following were the reasons for the decline and disintegration of the Delhi
Sultanate?

1. Weak personality and military inefficiency of all the Sultans

2. System of granting hereditary Iqtas

3. Successive rebellions in different parts of the empire.

4. Absence of a clear law of succession

5. Constant invasion from outside

Select the correct answer using the code given below:

a) 1, 2 and 5 only b) 3 and 4 only c) 2, 3,4 and S onl d) 2, 3 and Sonly
QL6L6Y Feug el g B)etr afLp& & & (GLh, TG 6y & (GLh B LD & & 600TL6UM MIGT 6TSI &ITIeuTLD?

1. SMEUTSH G| &6V M60TS 61l 60T LI6VaT6UTLOIMEIT Sy EH6mLn LM MID @) T TeEDIeus SmemwouilsiTenio

2. UpDLIen T @)\ &S5 MTEE&6M6T 6ULNMEIGLD (LNemm

3. CUITFer LLCuM LGHS&6lev DO HHH S S HLHS R eTTEFEF SHalT.

4. agefleurer aumfla el G @ e6vevmemin

5. QeuerflulleL @ UBH S QASTLITHS LenL QW@ LIL

SCW AaMH&&LIULBG 6T GMIuiiamL Ll LweaTL®SS) Filwmsr LG eamevsd C5THAHH &S50 LD:

a) 1,2 lommith 5 (D b) 3 (nMmMILh 4 0L ()LD

©) 2 3,4 mmid 5 L (HILD d) 2, 3 lommib 5 LG
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32. Which of the following books were written by Harshavardhana?

1. Ratnavali 2. Harshacharita 3. Priyadarshika 4. Kadambari

5. Nagananda

Select the correct answer using the code given below:

a) 1, 3 and 4 only b) 2, 3 and 5 only c) 1, 3 and 5 only d1,3,4and 5
only

G LD & 85 600T L6 ) MI6IT QM 7619.6U178 5 60TIIT6L @ WMMLILIL L BI6LEET eTemeu?

1. g eormeuerf 2. amFaq &gl 3. Nflwsgadlsm 4. g LUy
5. HMTSGTEOTH ST

BC QsmHHsUULBG6Ter GMuiienL 1 LweaTu®MSS Fiflwmer LS emevsd CHTHOSH &S LD:

a) 1,3 LDMHMID 4 L (LD b) 2, 3 LMMILD 5 L (HILD

o 1,3 mmib 5 oL GHID d) 1,34 0HmiDd 5 oL G0

33. Which of the following factors is/are responsible for the rise and growth of the Gupta
empire?

1. They could exploit the iron ores of Central India and south Bihar.

2. They took advantage of the silk trade with the Byzantine empire.

Select the correct answer using the code given below:

a) 1 only b) 2 only c) both 1 and 2 d) neither 1 nor 2
GLUSL CUTTF 6T TR EF &GS eUATTEFS & (GLD &ITIFEU0TLOTE0T &ITIJ600T & 61T 6Tem6U?

1. LEHHW @HBSWT LMHMILD AHMES LiesTler @UBLDL S STSI885M6TE & J6euoTL (NLHSSI.

2. L& MeuoT g WL GUITT&L60T HemLQLMM LIL (R 6U6v0l18 8 6ema L LIW6TLGH & & G\ &TeuorL6ur(y.

GG Aam@&&LIUL B 6T GMIuTiemL LI LweaTU®R S S Filwimer LG enevsd G5 HASH D & &6 LD:

a) 1 (b b) 2 0L_(hILD

o) 1 wmmi 2 @ yevor(hLd d) 1 9j6veugl 2 @evor(hLD @)6Leme6y

34. With reference to Mansabdari system under Mughals, consider the following
statements:

1. The person who held a rank below 2500 zats was called mansabdar.

2. The contingents of the nobles were periodically inspected.

3. Jagirs assigned to nobles gave them hereditary rights over revenue collection.

4. Jama-dami was the register maintained by revenue department that indicated the
income from a jagir.

Which of the statements given above is/are incorrect?

a) 1 and 3 only b) 1, 2 and 4 only c) 2 and 3 only d) 3 and 4 only
wseumwisealler GLp werFlg T (pemmenwl QUITMIS S euenT, LI6Teu(HLD FaM MG eM6TS & 6160T U] Mg 6T:
1. 2500 QML HEHE G 6N MEUITET 3| HSeNVeNGL QLIMMEIT LOGTEFTLIGSITT 6T60rMI 60L& LILILLITI.
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2. Qyy&sefler LemL L1 6ys 6T SeueulICGLIMS Syl Q&WwLILIL L 6oT.

3. NITY&&EF5HE eUPBIGLILILL QTS TSH6T eu@heuITWl 6u@E 6V LG TT LIFLDLIemT 2 [flenln g enerT
S| 6QUIT& @58 G 6ULNEIGH 6T,

4. 2OM-S T T6iTLIS QUIBeUMIS Slemmwimel UFmTufl&sUuu@n LS G SLGW. @& @b
2R fled ([BH S & 60L& GLD UIHLOTTS MBS SN &S M.

CLG6v AEBMH & & LILILBHETET Sa M MG 6rfl6L 6TS1/6Tem6U & 6U M ITEUTE06U?

a) 1 lnmmILd 3 L (HILD b) 1, 2 InMHmMILD 4 OL_(HILD

¢) 2 nmMID 3 LG d) 3 MM 4 WL HILD

35. Consider the following paragraph:

Gupta period is remarkable for the production of secular literature. A play was written
during this period which deals with the love affair of a poor Brahmana with the beautiful
daughter of a courtesan.

Which play are we talking about here?

a) Abhijnanashakuntalam b) Mrichchhakatika

c) Raghuvamsha d) Mudrarakshasa

L etTeu(pLD LIS H e & 6160l b & 6T:

GLUST &MTeulD INSFSFTTLMM ©) 68 S WIS 6rfler 2 (heunsssH 6 GMUNL 555551 @\HS55
SMVGLLSH6V (b [HITLSGLD TS LILILL GI. (6 FemlpLll LN JTL0600TenI & (&L (H eflemevlnsserfleir Sip&w
05 EH &G0 @6emLGW Mleva|lh HMTGemeuLl] LiMnlw gi.

BT GBICS 6hS HTLESHMSL LIMmML CL&&H CGMITLL?

a) 3@ MevT&F MG HSevLd b) BHEFFHIQHT ¢) FGaULb&T d) WNSTTITLEFLD

36. Shivaji defeated the Mughals in the battle of-

a) Purandar b) Raigarh c) Salher d) Shivner
Flourmrg) (N&TWTSHEm6T 6ThHSLI CUTHeL CHMTMEILHSHTT?

a) Urba b) & <) &mevany d) efleueoriy

37. Who among the following was represented by the title of “Amil-Guzar® in the Mughal
Empire?

a) An official responsible for collecting land revenue from a particular region.

b) An official responsible for the training of soldiers in the Mughal army.

¢) An official responsible for the land grants for the mosque buildings.

d) An official responsible for the implementation of Islamic law as per legal proceedings.
WSLMWL CUITHI " V-GEFTT" 6T6dTM LIL LG8 T6V L9 60T6u (HLI6U T8 @H6IT WITIT

HrSpIS SsauubGSSLILLLeT)?

a) @ GOIUILL ugGuledmha Blevalfl ai@edsHEn QUITMILILITGT @@ NS &M,
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b) n&eVTW @I TemialgHev eSTIHEH&HEG LUIMHG ojeflésEb Qummiliimer & smif.
¢) LemeeUmaF6L 85119 L M55 @EH &85 T60T 1516V LOTeoT WM& EBHE &L QLITMILILITET 6(H 2]6v6l6l.

d) FLL BLaIGHNSHH6T TN @eveumdll FLL S AWOLBSSHUSMHE QUTMILILITET @@ AH &M,

38. Consider the following statements about the Maratha ruler Shivaji:

1. He was officially crowned in Raigad in 1674 and assumed the title as “Chhatrapathi”.
2. He was a contemporary of Bhakti saint Tukaram.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) both 1 and 2 d) neither 1 nor 2
WLFTLIgW eiTery Fleumed Lmmlw L eiTeu(BLd JaMMIGS M6 & 61601 W] MBS 6iT:

1. 1674 Q1D ),600TIQ60 TMUWISTLLY6V G &TTLILLFeULNMS (NG @EGLLLLLL U "FSTUSH" eTeiTm
ULLSe0S M mI&GHG6 &ITeuoTLITI.

2. SIGSTIMO6ET FI0&TELSSH6UIT.

CLGev AEMH &S LILILBETET sa M miserflev ergi/eremeu &ifluimeor g/ & ifl Wi meoremeu?

a) 1 L (b b) 2 LMD

o) 1 mmI 2 @revor(hLd d) 1 96v6v& 2 @ Ievor(hLD &)6L6tI6V

39. With reference to the Bahmani Kingdom in India, consider the following statements:
1. Muhammad Shah I, a military commander under the Delhi Sultanate, founded the
Bahamani Kingdom in 1347.

2. Ahmad Shah Wali shifted the capital of Bahmani Kingdom from Gulbarga to Bidar.
Which of the statements given above is/are correct?

a) 1 only b) 2 only c) both 1 and 2 d) neither 1 nor 2
@ bHwWmellev Lmdet Frawgems Ll LML L 6Teu(HLD FaM MG em6TS & 61601 Mg 6T:

1.0L6069 HLGMTETHSH 6T B @\ (HHS &\ T TEDI6US & 6TLIG) WITET (NHEVITD (D& G g 1347 @ 6L Lmudleor]
@ UrER WS ans mlomieSlermiy.

2.815108 a4 eumedl LMSlenl TF 6T HeMmeLBHHMT GevLITH TN (BHSI LILMIHEE LommHleormiy.
CLGev AEMH & & LILILHETET da MG erflev ergi/eremeu &iflwimeor g/ &ifl W meoremeu?

a) 1 (LD b) 2 0L_(hILD

o) 1 wmmid 2 @ yevor(hLd d) 1 9j6veugl 2 @evor(hLD @)6Lem6y

40. Examine the statements about Surface tension :

Statement 1: In plants, water molecules rise up due to surface tension.

Statement 2: The amount of force acting per unitlength, on the surface of a liquid .
Statement 3: Surface tension is a characteristic of liquids and gases.

a) 1, 2 correct b) 1, 3 correct c) 2, 3 correct d) 1, 2, 3 correct

uruy @uoeallens LMMW FaMMIHem6T &euenil?
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gammi 1: meurrserflev BT CLOCI(IHEUS TG &ITTEUUTLOMeT 65l6m &

Fah Ml 2: TeUFmISGeTer oUTLULN 6T erev@ BansHm S G55Te QF W@ allensFCw LIFLILE) (W ellens.
Faml 3: LFLILE\ (WD eSlen & 6T60T LIS ) T6eUMIGS6T oM MILD 6UITW| &8 6rledr LieuorL]

a) 1,2 &rfl b) 1, 3 &rfl 02, 3 &0l d) 1,2 3 &M

41. The average temperature in the human body weiflg 2 Ledlév Fymenf] QeuliLiBleneu
a)37°C b) 98.6 F c)35°C da&b

42. SI unit of Specific heat capacity seir Qeuliu gHLs & meofleir SI o6&
a) JK-1 b) JKg-1k-1 c) JKg!

43. Match the following :-

a) Linear expansion 1) Change in volume

b) Superficial expansion 2) Hot body to cold body

c) Cubical expansion 3) 1.38 X 1023 JK-1

d) Heat transformation 4) Change in length

e) Boltzmann constant 5) Change in area

QUITHS &15:-

a) BeTQeuliLiefley 1) LB LO6l6L LDMMHMLD

b)urly Qeuliueffley 2) &L meor QUITH6rfled (BH S (& 6rflT& S W meoT Q\LIT(H 6T
U@L Qeuliueifley 3) 1.38 X 10-23 JK-!

d)QeuLiLI9LMHMEVLIT6U6L 4) Berg S IDMMHMLD

e)GumevLeruinmest Lomrpledl  5) LFLILS6L mMMHMmLD

a)41235 b)12345 c)54321 d45123

44, A device in which the loss of heat due to conduction, convection and radiation is
minimized

a) Solar battery b) Solar pressure cooker

c) Thermometer d) Thermo flask

QaLILGHLSSHE), QeullLgFFeueTdD WMMIL Qeauliug &HFafdFs WHRHwWeaudmme gHU@LL QeuliLl
QLIS GeMME (G FITSETLD

a) G lw L 6dT8 6V 60T b) Gl (WSS FemLOWIMSH6060T

¢) QauliLBlemevLnmeof] d) Qeum ML & @& Hemel

45. Electrical components required to set up a simple circuit is
a) Source of electricity, battery, Resistor b) Source, Wire, Key

c) Source of electricity, battery, Resistor d) Battery, Wire, Key
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@@ ererfll 6 6T&MHenm S eMD&SHS CHemeuLILIGHILD L 6T S MIG6T eTem6u?
a) QL MHM6L eLpeuld WeT&H VLD, Wl6TTHemL b) @LMmev epeuld, Wesrs LY, Fmedl
¢) SbMmev epeuid, LlesTa DL, LWl6tTHemL d) WWesrseuid, Wers L, Fmad

46. Consider the following statements regarding Chipko movement

1. The Chipko movement used non-violent methods to achieve its goals.

2. The movement began in the Chamoli district of Uttar Pradesh (now Uttarakhand)

3. The movement achieved a major victory in 1973 with a 15-year ban on cutting trees in
the Himalayan forests.

4. The name of the movement ‘Chipko’ comes from the word ’embrace’, as the villagers
hugged the trees and encircled them to prevent them from being cut.

Find out the wrong statement/s given above.

a) 1 only b) 2 only c) 3 only d) none of the above
FILCHT Q&SI LMW BLh& & 60iTL. Ja.h MG M6 &6 60T L] MG & 6lT.

1. ALIGHT @UISELD H6UTSI ©)6V8 (S5 M6T 0L T DNEF (LPEMMEEMEITLI LI 6T LIRSS W Sl.

2. QS QWSS 2 55TULNTCEHES B 60T (SHEUMMSW 255 T5H6v0rL) FGL0med) LomeuLl L &8 60

QSMLBIS WS

3. 1973 9Llh 9L600TI6V @) LOWILNEM6VE &THI&6rl6L I HEIGemeT Qeul BleusMES 15 21,600T(H & 6T SemL

N B 55560 epeulh @) HS @WEHSID QLB Qeumnlemnwll QUMM SI.

4.'FILCHT QUESSB) 6T QILIWIT 'S(1D6YS 6V’ 6TaTm eUTTEHemS U6l (BhEl euhs S, 66 ereolleu
SITLaTE ST IDIHEISM6T Gl B oUamss 5HHS Sjeumenms &wwell GLDhS6oT.

CLO M & 6U0TL UM MIET HEUMITET S MM (S ) FaMMIGHENET &ITEOOTS ?

a) 1 LD b) 2 L(BILD ¢) 3 DL GILD d) GLm&seuoTL 6756 Ll6Vem 6V

47. What is called white vitriol?

a) Copper sulfate pentahydrate b) Magnesium sulphate heptahydrate

¢) Calcium sulphate dihydrate d) Zinc sulfate heptahydrate

QeueiTemer 6L flLMey eTedT Sj6Mp&SLILIH UG TSI ?

a) SGMTUUT FeuCLL QuUeTLmemaml Gl b) Q&efA WD FauCLL QamliLmamaml Gl

¢) SMLVHIWILD FeuCLL emLemaml Gl d) 8\l FeuCLL QamliLmenaml Gyl

48. How does hydrogen peroxide dissolve when applied to wounds?

a) Water and oxygen b) Hydrogen and oxygen

c) Hydrogen peroxide d) water and carbon dioxide

STWwhIGaflev maml Q6T QUTEamER HTausHenerT 2erMmILD CLIMSI eTeueu M & eh & 616t L 8 60T M 6oT?
a) B LOMILD 586G 6ot b) emQDL 76T LOMMILD 2,88 Q60T

C) MAML_FR6T QUFTHmE () d) BF LMD STTLET el &0 &F ()
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49. Match the following

List I (acids) List II (pH value)
a) Acid in stomach (stomach) - 1) 4.5
b) Fermented milk - 2)1

c) Human saliva 3) 5.6

d) Coffee 4) 6
LLCIqweb | (9iLfl6usi & 6iT) L9 wev Il (pH LS LIL)
a) suulmnilev (@emTLiemu) 2 6iTem 9jLfleuid - 1) 45
b) Yerflg & LimeL -2 1
¢) wefgefer 2 18D BF - 3) 56
d) &msL9 - 4 6
a) 4 3 21 b) 2 1 4 3 c)3 2 41 d 12 3 4

50. Assertion (A) : In the elections of 1952, the Congress party won .

Reason (R) : The victory of Congress party was because of the decline of Justice Party.
a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) A is true but R is false.

d) A is false but R is true.

gammi (A) :1952-9410 oy evor() CHTH06L SMTHRIG TV HLF QeummiLl QUMHMSI

&myevorid (R) : MRS Fev &L RAuller Qeummlwmerg! B8 & &L Fufleir eflp&F ulleormeL B GG 1.
a) (A) LnmmiLd (R) &ifl, (R) 2b,601SI(A)-60T &ifluimeot eNlemgsasLn.

b) (A) LnmmILD(R) &FIf], (R)L60T5! (A)-60T SFifluiment afleng:s1n 6L6v

o) (A& speurmed (R) Heum!

d) (A) BeuDi2penTTev(R) &Fifl

51. Choose the correct statement regarding Madras Native Association

1. It consisted of many advocates.

2. Its objective was to promote the interest of its members.

3. Their main focus was separate state for Tamil people.

4. Established on February 26,1852

a) 1 and 3 b) 1 and 2 c) 2 and 4

QEFeiTemeT UTFGH6T FRIGWL GMISSF Frlumer gamenms C5THASMH

1. @ 6ueuemlnLILN6L 6uLp & &M EhITECeIT B\ & 6T6voT600T 18 6018 U 6L @) (IHIH S 60T T

2. eorgl 2 MILILS 60T 785 61T 60T 56V 60TSH 6M6IT (LNEITQ6OT(HILILIEN S GIBITEH SIS G\ & TEUTLY.(HH & 60T [T

3. I QLMY CUSH LIS EHE ST H6vll WMEBlevHmS CQLIMIcUeMS CHITEHELOTSES 68 T6UoTLY.(1HH S 60T .

4. 9ageury] 26, 1852 @6 BlMIULILIL L S
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a)l1&3 b)1 & 2 02 & 4 d)3 L (b

52. Which of the following statements are correct regarding Palayakkarar’s system?

1. This system was in practice during the rule of Pratabarudhra of Warangal in the Kakatiya
kingdom.

2.This system was put in place in Tamilnadu by Viswanatha Nayak on 1539

3. Split into 72 palayams

4. Palayam was referred as military camp or big kingdom

a)l12and4 b) 1,2 and 3 c)1and 3 d) All the above
B LD &5 600TL. Fa M MG E@F 6T 6TeM6U LIMM6TWSSTTT (nenm &S S1EF FiflwmeTeneu?

1. UMIRIGMEVE FMTHS LNTSTLIHS 66T 9L F & STV H6L &THEH W TF L @ LILITEMETWESSTFT
wenm HenL (WenmULIGSSLUILILL SI.

2. @\6S Wemm 1539 @ 6L efleVEUBHTS HTWSHSTTV SELPHTLIGL SMWSLULGSSLILILL SI

3. 72 UMeMeMWBIGeTTES @ & Kl&sas UL L gl

4. LUMEMETWILD 6TETLIGI @ TSI (N&TD 3j6Levgl QUIlW SFJ& eredTml GMIULINLLIUGS M

a) 1,2 LnmmILd 4 b) 1, 2 IDMHMILD3 ¢ 1 mmith 3 d) GLOM&600TL. 2|6M60TS SILD

53. Which of the following statements are correct regarding Periyar?

1. Periyar attended the 250t Birth Anniversary of the Buddha at Burma

2. Periyar’s experience of travelling in the Soviet Union and Europe carried him towards
socialist ideals.

3. Periyar started self respect movement in 1925 then 1st meeting held in 1929 at erode

a) 1 and 2 b) 2 and 3 c) 2 only d) All the above
BLD G 60T FaM MIGEBET Temeu QU WM G0 S5 Frlwmereneu?

1. Qulumy uFrelléb FenLQUMM LSS5 6oT 2506ug1 LNMBSHT6T aflpmeileéy &euiH g Q& MeuoTLITI.

2. Gmallwg paqwmeilgid LErFTUUTlan Ul QUMM LIW6T ILIUKISEHT Jjauen] FIOGTLOSH
& (55 518 861160T LIT6L [HITLL LD Q& ITETEIT 60)6 858 60T.

3. 192560 &wWFlWMemg QWESHHMS QASTLBRIGW QUflwmy, 192960 FEFTLIL6L (NHVMTEUTI Fal LGNS
BL &S euriTiy.

a) 1loMmILn2 b) 2L0MMILN3 c) 2 0L (b d)BLOM & 600T L. 3|6M60TSH SILD

54. Choose the incorrect statement
1. Periyar translated Dr. B.R. Ambedkar’s “Annihilation of Caste” into Tamil.
2. Periyar did not supported Ambedkar’s demand for separate electorates for scheduled
castes.
a) 1 only b) 2 only c) 1 and 2 d) None of these
SUMTET FnHeNMS CSTHASH.
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1. LrsLl K.ouT.obweudsilar " oBlliL"(Annihilation of Caste) erédTm mHremev QuUIlwmy SLSlfen

QLMBQOUWTSSITH.

2. 9ILCUGEN6T TIPS SLILLL FTHUNGT(HSHGC 86T &60l18 QMG B & 6T Gouevor(HLD eTedrm G&ITIf & emaseml
oulunmy 9151158 alcvenev

a) 1L G0 b) 2 LOL_(HILD ¢) 1 mHmih 2 d) @eumnilev eTgi6|Ll6vemey

55. Choose the incorrect statement about MaraimalaiAdigal

a) Maraimalai Adigal is considered as the father of Tamil linguistic purism.

b) He was the founder of Thani Tamil Iyakkam

c) He worked in a journal, Swedhasamithiran

d) He wrote commentaries on the Sangam texts, Pattinappalai and Mullaipattu
LOEMMLOEM6V 3198 6T LImMIW SeummeT MiGHensHenwlsd G5 HG S5 M &S e LD

a) LDEMLDEM 6V 3198567 S Qumdlulwey grilenoulet ShHensumss &HSLILGSMTT.
b) sevllS Sl QuiS&ESHeng Bloeilweur

) Sjauf &HCHFLIGH TeoT 6TedTm LIGSH flemasuilev Lieooflwimm mleor iy

d) &g BIeLS&HETTET LIL1Q60TILIMTem 6V LoMMILD (LPeVemeuLl LML (B Q& WeMmMIGHEG el6Ts: &6 60 I8 6M6lT 6T 60T T

56. Which of the followings were found at Keezhadi excavations?

1. Brick Building 2. Drainage 3. Pearl 4. Games Pieces

5. Tamil-Brahmi inscription on pottery

a) 1,2 and 4 b) 1,3 and 5 c)2,3and 4 d) All the above
G LD 8 5 600T L6uM MI6T GLpLq &L mUley & erfledr eLneulh & 6ooTL MW LILIL (HI6TET606U 6Tem6u?

1. Q&I M &L (H LOT6OT IS 6T 2. s8eyB T euLdl s et 3. 55!

4. eflememwImL B QLIIT(H 6185 6T 5. 0 UmeuoTL Mg 6T 158 SAh Nymd s el ()

a) 1,2 oMMl 4 b) 1, 3 LDMHMILDS ) 2, 3 InMmmILD4 d) GLOM & 600T L 60)60TE Gl LD

57. Choose the correct statement/s:

1. In fifteen years, Periyar went to jail for 13 times.

2. Periyar was called by the nickname “Jailbird” (Siraiparavai).

3. He was called as Rousseau of Tamilnadu by Anna

a) 1 only b) 2 only c) 1 and 2 d) 2 and 3
giflumer g M&ansamws C5THASH &S50

1. UG emeTH Gl evoTB & 6rfleL QUlWTT 13 (M Femm QF&TMITH.

2. QuAlWmy "FlemmLUILIMemeu” 6T6iTM L{6Mm6uT LIQLIWITIT6V O 6mLp& & LILILLITH.

3. S| 6UOT6UUTITEUITEV SHLALDIBITL.LG.60T CIHCFIT 6T6OTMI 6NN LILILLITT

a) 1 L (LD b) 2 0L_(hILD c) 1 wmmib 2 d) 2 lnpmiLh 3
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58. Choose the incorrect pairs

1. Adichanallur Thoothukudi district
Porunthal Erode district
Keezhadi Sivagangai district
Paiyampalli Dindigul district
Kodumanal krishnagiri district

a) 1 and 3 b) 3,4 and 5 c) 2,4 and 5 d) 1,2 and 5

S6UMITEUT ©)60600TS M6Ns CHTHAS[H

1. LB EFHLTT - 6515 G1q0MaIL L LD

2. QUIMT(BIH S 6L - FCFMHLOMeUL LD

3. 81p1q - FlousmlIensI0malL L LD

4. emIwibLieiterfl B\ 6v0T(H) & &6V MEUL L LD

5. Q& IT(H) LD EUUT6V &\ (B 6g.eoor S ifl LmeuL L LD

a) 1 Mo 3 b) 3, 4 LDMHMILD5 €) 2,4 10MmmID 5 d) 1, 2 LnMHMILD5

59. Arrange the following in chronological order

1. Maravarman Kulasekharan ascending the throne

2. Marco Polo’s visit to Kayal

3. Invasion of Malik Kafur

4.Rule of Sadaiyavarman Sundarapandyan

etrau(peustreumenma: smeveuflensliLI(H &S5

1. LDMMEUTLOET GVCHFS 6T il LLI6m600T 6 MIG 6V 2. DMIGEGHMTEUTG TNl 6T SHITWEV 6U(IHeN S

3. DMEOIGE&TLT LenLQu@®LIL 4. Fe0)LLIGUITLO 60T & [h G5 [T LIITevoT Lg LI 6ot 60T 2L &
a) 1-2-3-4 b) 3-1-4-2 c) 1-3-2-4 d) 4-1-2-3

60. Guess the personality:

I. He was one of the members of the radical organization Bharatamata Association

II. He undertook training under VV Subramaniar in Pondicherry

III. He shot the collector of Tirunelveli.

a) Subramaniya siva b) Bharathiyar c) Vanchinathan d) Chidabaram pillai
GO B 6T 24, EBemLDemW & & 600TL M)W eyLh:

L. UMOS WOMSIT FHIGSLD 16T LTLA ST CHA WS QWSS 6r 2 miLiLfNeariserflel upeurns @ ubhseul.
Il.umevorg. &G Fludlev au.Gou.&Lirneooflwiflb LuME QumHmMTT.

lll. HBABHLCI LmaUL L L Flweny &L B Q&TETMITI.

a) UL gwesolw Seurr b) uTyFSWTy C) QUITEH T [T 60T d) AguFd eTemer

61. A king is he who treasure gains, stores up, defends,

Page 22 of 73

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

And duly for his ’s weal expends.

Which word can be filled in the underlined place in this Kural?

a) Nobility b) Kingdom c) Nation d) Wealth
@WMMILD FLL I SMTHSNID &MTHS

UGSHSILD UVEVSI @sGmefler QmEE Ennss BmeaudTeseuly @LL €1y ars?

a) GlQemLD b) Q& o) B d) QUITHe6T

62. Consider the following statement

1. Many of the revolutionaries in Tamil Nadu were introduced and trained in revolutionary
activities at India house in London.

2. Pondicherry is a heaven for revolutionary extremists

3. Revolutionary extremists were V.V.S.Iyer , Nilakanda Brahmachari, V.0.C , Vanchinathan
4. Vijaya and Suryodayam are radical papers.

a)l & 2 correct 3 & 4 wrong b) 2,3,4 correct 4 wrong

c) 1,2,4 correct 3 wrong d) All are correct

BLD G 6U0TL. Fa. N MG 6EM6MTE &([HS B 6L Q& IT6iTS:

1. UrLe sy CHAWTH ST Lu(BEGL LUILAST BLaGMESET GME5S AMWsWWn Luim&ujb
6vevoT L6ufleSl (I & @) IH B WIT M6y 6rv eTedTm @)L &H 6L aUpRISLIQALMM .

2. UL sr GallgeumG serfletr L&60L1D Limevoriq.&Ca il

4. UTLA s SallgeumS &6 eu. Gou &. Wiy, Bevseor. LNTDWEFEmy], eu.2 .9, 6urmEh S\ b TS 6or.

4. Agwm, GFCWMSWID YTLAuMsEF QF UGS SHTETS 6T @G,

a)1&2&ifl38&4 560 b) 2,34 &5ifl 4 Zaum 0 1,24 &1fl 3 saum d) oemers i Fifl

63. Consider the following statement correct regarding Tanjore Brihadeeswarar Temple:

1. It was the crown triumph for chola architecture

2. It is called the Himalayas of the South.

3. Initially known as Rajarajeswaram and then Tanjore Peruvudayar Temple.

4. The 1000th anniversary of the temple was celebrated on 25th September 2010 by Tamil
Nadu Govt was celebrated.

a) 1,3,4 are correct b) 2,3,4 are correct c) 1,2,3 are correct d) All are correct
SepenF KTsGauvaurT CaHmelilel QG TLITLITET SLh& 8 600TL. oM MG erflév Fifllmereney erémeu?

1. GEMPI&Te SLIGL S SHeneuUiledr Lo6ooll LDGLIOMSS &R MSI.

2. @) 5! Q15 60T6UTS: & B 60T @)LOWILDEM6V 6TEITM S eMP&SELUILGISRMSI.

3. QBMLESSHO @UrErmCRevellh 6earmild, SHEHenF quUIBeyemLWTT G&smelléy  eredrmild
S|P G&SLILLLSI.

4.Ge:melledeir 1000-6ugl Syevor( eflpm 2010 QFUULIOUF 25 germ SOps HYIFTL FpUuns

Q& MeuoTL ML LILIL L SI.
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a) 1,34 &1fl b) 2,34 &ifl 0 1,23 &1l d) gjemers &N Fifl

64. Consider the following statements

1. V.0.C, Sarkaraiyaar, Subramaniya Bharati, Surendranath Arya are the best leaders from
Tamil Nadu.

2. The Swadeshi movement in Tamil Nadu especially in Tirunelveli district got a lot of
attention and support.

3. Subramania Siva was called as Tilak of South India

a) Statement 1, 2 are true and 3 is wrong b) Statement 1, 2 wrong 3 True

c) All the statements are correct d) All are wrong

L etreu(pLh ammigertfley Elwmers ergu?

1, ou,2., 9, FFssaTWTy, &UlbFwenlw LUTTS), &CrHHTHIS uFlwm BCWTT SWOLBHTL L CFIHS
FIMHS H6M6VEUITHET SyEUTTS6IT.

2. 5IADBTLIGH HBID GSOILLTE HBHEBoGCMES WML LSS0 HLOUDHD &HEHF GWEHSsEID QUL

56U60TEH MG LD 315 Tem6UlLd QLIMHMSI.
3. QG 6OTETITL(H) BH6VSIT 6T60T S 6MPSHSBLILIL LU &LILTLIn6vorlw Feur.

a) Famo 1,2 &1l 3 Heum b) g hmi 1,2 Heum 3 &ifl 0 S SAMTHSID Ffl  d) HEOTSSID Heuml

65. Which of the following statements is/are correct?

1) In 1876, T. Muthuswamy Iyer was appointed as the first Indian Judge of Madras High
Court.

2) The periodical Swedesamithran became a daily in 1899.

3) Rajaji is called as the Father of Tamilnadu moderates.

a) Only 1 is correct b) Only 2 is correct

¢) 1 and 2 are correct d) 1, 2 and 3 are correct

etreu(pld gammigefley FrlwmeTs erg?

1. 1876-6L Q&FciTemenT 2 W T HHDTMSB) 60T (NH6L @HH W HH U WS T.WSSIFTIO Bl &S IULLTT

2. &G FIOG B T60T 6TedTm LIHeu @ SLb 1899-6V Georaifl mmerflgLoms Wommlw s,

3. SOLDBITLL9.60T OG5 6UTSHS B 60T &iheM& 6Teor TTRMel eMnP&ESLILGSRMTT.

a) 1 (b &ifl b) 2 DL (\D &l o) 1 wmmih 2 &ifl d) 1,2 nHoild 3 &1yl

66. The settled rule of every code requires, as highest good,

Their greatness who, renouncing all, true to their rule have stood

In the Thirukural,Thiruvalluvar said how can you learn about the pride of Ascetics?
a) By Receiving the Lord's Scripts b) By renouncing World bonds

c) By Texts d) By Walking in Charity

PWE&555 BH5MT QUG allWULSS!
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GouevoT(h)LD LISDI6U6V levotley
eteorm Glerflev B85 8 Mifledr GLI(H6emL06mL 6TS 60T eLN6uULD SMIWEUITLD 6T60T B (HEUETEBUT Fo MG MITH
a) @M MEUET FH(HEULLFHEMET 6ML_6UG60T eLHEVLD b) 2 68 LIS HIGE6T SIMLILIGE0T eLN6VLD

c) BTeLSerfledT eLpeuld d) @I1m euslu9ev BHLLILIGET eLpeuld

67. Who is related to the following statements?

1. He founded the Adi DravidaMahajana Sabha in 1893

2. He served as President of the Scheduled Castes Federation and the Madras Provincial
Depressed Classes Federation.

3. He was a signatory to the Poona Pact of 1932.

4. Nick name - Thathaa

a) M.C. Rajah b) Rettaimalai Srinivasan

c) M. Singaravelar d) B.R. Ambedkar

GG EUTL & FaHMIGHEHHES QS TLFL6mL 6T WITF?

1.1893@)\6L SLHFHTMeilL LDHTRETFML TWILD S|eMLOLImLI 2_(1H6UTE T WUy

2. @@&SULLL W&&flear sl Lemolil] MM Q&FTeneT LOMSGTeooT @M&&HLILILL
Fal_LemDLIL] 94L& W 36ml0LIL|S6r60T Hemeveuly e L Lieuoflw mmnileormiy.

3. Sj6uly 19329410 9,600T(H LLEUTIT RLILHS S B 6L &AW S B LT

4. ULLUQUWIET - STSHST

a) M.C.ymegm b) @UL.enL Lnemev & eotleume eor

) MABISTTCaIeT d) BR.OIDBUSSHT

68. Say not, 'Tis hard', in weak, desponding hour,

For strenuous effort gives prevailing power.

What is the meaning of “strenuous effort” in this kural?

a) Aversion for everything b) Having will power
c) Not trying d) None of these
S|(HEMLD 2 6D GRS 6TM S| FMeumenlo Geuevor(hLD

QU(HEMLD (WWMF SHLD. - @ &GS merleiT “ S FTeUTeMLN" 6T60TLIG 60T G\LIT(H 6T 6T60T60r?
a) efl(BLOLIMEmILD b) LDEOTIH S 6T T TemLO

) (LPUWEVITEML d) @eumnilev ersia]levemey

69. Which of the following newspaper and journals were started by Periyar?

1. Kudiyarasu 2. Dravidanadu 3. Puratchi 4. Nam Nadu

5. Viduthalai

a) 1,4 and 5 b) 2, 3 and 4 c)1,3and 5 d) All the above
BLh&&TL QFWIS S S METSH6T IMmMID @SLh&6rflev eTemey QUITWTTME QSTLBISLILLLSI?

Page 25 of 73

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

1. QWIS 2. S\pmellLBm® 3. L& 4. BOBTEH 5. el Hemev
a) 1,4 MMILD 5 b) 2, 3 InMHmILD 4 c) 1,3 mmild 5 d) GLOM &600TL 2|60)60TSH I LD

70. Choose the incorrect statement about Poompuhar

a) It served as the port of the early chola kingdom

b) Pattinappaalai and Tamil epics, Silappathikaram and Manimegalai have references to thesea-
borne trade that took place in Poompuhar

c) A mint of Roman coins was present at Poompuhar

d) In Poomphuar houses were well-designed

FRIGSETVSH 6 LIDLSTT LUHMW Saummer samenms C5THA S50

a) @& GFMY TF 6T JIMMUNS BH&HTMS elleThRIS WS

b) wbLsTHley sLaud el FeLQUMMSTS LILIGeTLILITan6ey mmih @rLenld Sl Brevsermeor
Feu LG SHTTLD, 6o CLG ey L& Wemal &l H & edrmeor.

) GymLomenfll [HIT6ooT LIRS 6T SWMflHGID QSTHHEFTm6 LLIDLISTH60 @) (Hh S 6TaTs

d) LWL ef(R&6T epmIGTeT (LNeMUIE eIl alemLn& S LIL LG IHIHS 60T

71. Choose the incorrect pair

a) Pallichchandam - Land granted to educational institutions

b) Brahmadeya - Land granted to Brahmins

c) Devadana - Tax-free lands granted to temples

d) Chatur-vedi-mangalam - Land granted to Brahmins

SeUMITET @ enamaws C5IHaS®0

a) LeTeflFaFbsin - seval [BlmIeeThisEh8E Gl MenL WIS aILPHISLILILL Bleulh
b) TGS WD - LT ITLO60T F&HEHE & Q&ML ITS aILPMHISGLILIL L Blevld

c) Causmearid - CHMallevsEEhsHEG el allevs G LT SjefsaslILL L Blevld

d) F&ITCaH MG - LFTDemrjisHEnhsHE&s Q& MenL LTS eUmISLILLL Bleuh

72. What was the objective of the Coral Mill Strike?

a) Against Poor working conditions of workers b) Education rights for worker’s children
c) Against number of extra working hours only d) None of the above

Camel LEl6L CeuemeVIBlMISHE & H 60T GIBITH & LD 6TEOTEUT?

a) Qs midlevmenJ&erfledr GLOMFLDMET GalU6m6V H60)6V6m LG 6T

b) QaMAleumeT &6 6T & LHen S8 Eh&ETeT SGeval 2 [fleminger

c) Fa(hH6v Couemev CHIRISGEHEHE 6TH TME L (HLD

d) GLOMSHE0ITL TSI LD §)6Lem6V

73. Consider the following statements regarding MC Rajah.
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I. He was the first member of the scheduled caste community to be elected to the Madras

Legislative Council.

II. In 1922, he passed a resolution demanding that the terms of caste surnames be dropped
from official usage and instead be substituted with Adi-Dravida and Adi-Andhra.

Which of the statements given above is/are correct?

a) I only b) II only c) Both I and II d) Neither I nor II
6TD. . PR QSMLTUTeT LN6TeU (LD S MISHN6T &([HS B 6V Q& T6Ts.

1. DS TTENV FLLLOGTM ClOevemeus S CHTIHASHSSLILILL (1pS6V LILIGUW6 FTS) &Feln s g 5 6or
2_mitSerymeumy

1. 1922 y1b 31,600TIq60, BMTH QLTS 6T LWeTUR S S QiU S SHILD FI160600T GILIWITE 66T

B STTULTO LWETUTLIGO @BHES HES), 91506 USewns 98)-SirmeilL LwhHmib 98- sLbESTT
6TeuT LOMMHMLILIL. Geuevor(®ILD eTeorm C& Tl ep(h G LDMETS6emS HlemmGeumnileormiy.

G M Fanl W 6um mI6T TS/ eTemeu & lwl meoTSI?

a) | ln_(h\LD b) Il (LD ) @ evor(h\LD d) @ revor(hLD @)6V6m6y

74. Assertion (A): Puli Thevar tried to get the support of Hyder Ali and the French.
Reason (R): Hyder Ali could not help Puli Thevar as he was already in a serious conflict with
the Marathas

a) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

b) Both (A) and (R) are wrong

c) Both (A) and (R) are correct and (R) is the correct explanation of (A)

d) (A) is wrong and (R) is correct

Famml (A): Le9G5CHT mans T 3169 LMHMID LNATESHEHETTTSH66T S8 TemeuL] QLM (LNWETMmITI.
STIeuortd (R): LOITITL LY UIIT 8 615 L60T 6] M& 60T Geu & ({H16mL0 WITer GLOTE 6016V @) (5SS M6V, LL,6915 G5 6u (55 E
mams T 9169 2 56 (igweilcuemev.

a) (A) LoMHMILD (R) @ Teoor(HLD FHlWIMeTem6), 24,6076V (R) 6TedTLIZI (A) @ 60T &Fiflwimest elemd D 31606V

b) (A) LOYLD (R) @TevorBILD Heu

0) (A) LHoILD (R) @Tevor(HLd Fiflwimesremey LOMMILD (R) eTedTLIS! (A) @ 60T &iflwiment elendasLd

d) (A) Seumy oD (R) Fiflwimers!

75. Arrange the following events chronologically.
I. Tiruchirappalli Proclamation II. Kalaiyar Kovil battle
III. South Indian Rebellion IV. Kattabomman death
V. Dheeran Chinnamalai death
etreu(pLb Ml&LDeySBemen &meveuflenglilg euflensliL(HSSHa]Lh.
. BFR FmLUeTer L& Leorih Il. smemerwimy Gsmuilév Uy
lll. Q& etTevl1h G W SemT&F & IV. &L LQLITLDLO DT LOIY6voTLD
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V. §760T &) 60T6UTLO6M6V LD [T6UOTLD
a) IV-II-1II-I-V b) HI-I-IV-II-V c) [I-IV-II-1-V d) IV-II-I-1II-V

76. Which of the following statements regarding the 1st Self-respect conference is correct?
a) It emphasised the importance of adopting pure Tamil and rational names for the people.
b) It passed a resolution for dropping the caste titles from the names for the people

c) It announced the merger of self-respect movement into Justice Party.

d) It demanded the communal representation in both public as well as private sector jobs
wsevmeaugl sGwwiflwmeng WrBTH QS TLFUmeT LNeTeu(bl Fammiserfley gl Fiflwmers?

a) l0&HEHEHEG STW AL LMHMID LGSSMI6] QUWITH6T 6H M6 &MeTalS 6T ((NHRUSSISmMS @S
el msHwg.

b) @H 6V L& EH&HSTeT QLW TS @b FTHIL QUUWTSeT B&HEGaSMEMer §ILnmerLd
BlenmCeummLiLIL L gl

¢) @bBS MBI HFWDlUmens QUESHSMSE BHHHELFU|L6T @66l ILSTe mlelssLILL LS.

d) @& QUTE LnMMID Seoflwmy Slemm Calemeuserfle aui@GLliLiauns LTS pIHssiasamns Camiflug

77. The wrath this hard even for an instent to endure of those who virtues hill have scaled,
and stand secure - in the above cuplet thiruvalluvar mentioned that

a) The Secret word of Ascetics never vain

b) Ascetics will be angry for a moment

c) Ascetics anger only Short-lived, it is difficult to keep someone from it

d) All the above

(S 6UUTQLDGTILD (& 60TCMM Bl Qeu@er]

SeuoTGLOW|LD HTH S0 &I - eTedrm GMmerflev eueTEbeUT FoMicUSI

a) QUAlICWTT SwemeooTUIL(HF QFTV&R 6T QLT QUITUIWITES TS

b) QUIfIGWTT &2 &H6voT QLIMTRGSH F6uTlD Q& MeTaUTT

o) QuIflewry Flerid @ PNl &HTev 6eTCal 6T6vflenIlD 3FeOl(HIES! RIHEUNT &MTEHH6) (DI UIMSE 660N
d) GLOM & 6E00TL. 3|6M60THSILD

78. Consider the following statements?

1.The Swadeshi Steam Navigation Company was one of the first indigenous Indian shipping
companies established during the Indian independence movement.

2.It was started in 1906 by V.O. Chidambaram Pillai to compete against the monopoly of
the British India Steam Navigation company

3.It operated ships between Tuticorin and Colombo until it was liquidated in 1911.

a) statement 1 and 2 are correct b) statement 1 and 3 are correct

c) statement 2 and 3 are correct d) All statements are correct
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L9 6dTeU(BLD Fa M MG EMEIT &616011?

1. &C5H &L BlmieueTd @HHW &SHHTL CUTTTLLSS 6T CUME BlmiaulLLL (N&6V 2 6ThHITL®
@ HH W &LILI6 Blmieueormnhigerflev eTMMEGLD.

2. @semerr 1906 @6V au.2.. A U Wetemer, LNFILIg60q @HBHWT cuicld CHallCHaq6dT &LhG L eorludeir
JEMBUSHWSHMEGS THFITH FHleum G 6Ty,

3. @& 1911 @6V SHMeuEESLULGLID T JIH5S6GNEGSL QASTUWLLESGID @emLCW &LILICLSm6T
QWSRWSI.

a) SaMmml 1, 2 DGO &Fifl b) Fammi 1, 3 LD &Fifl

Q) Fammi 2, 3 LD &ifl d) NSS! FnHMSEBHLD Fif]

79. Consider the following statements?

1. Abraham Pandithar systematically studied the history of Tamil music and attempted to
reconstruct the ancient Tamil musical system.

2. He founded the Tanjore Sangitha Vidya Mahajana Sangam in 1912

3. The first Tamil Isai Conference was held in 1943, to discuss the status of Tamil music.
4.1In 1917, he wrote the book Karunamirtha Sagaram

a) statement 1 and 2 are correct b) statement 1 and 3 are correct

c) statement 2 and 4 are correct d) All statements are correct

LS 6dTeU(BLD FaM MG EMET 561601172

1. 9psmbd UarysT SUKamsulleaT auFuTHenm WMMWITS SLUle] QFWS LWPRISTN S Gans
SemoLIenL I0MIGLLEMNGS (NW6EITMITI.

2. 9jeuly 1912 6L HEhenF FRITBSH G WIT LOGTRET FHIGS MG Hlmieflermiy,

3. suUlliflemsFuileir Blemev GMIHSH NUMBHLILSMHSHETH 1943 SLlb LevoT(H WHV SAD @en& LMHBIH
HOLQALUMHMSI.

4.191760 & (BT MATS FMS&ITLD 6T60TM BTGV 6T(LOG) 6OTITIT

a) Famm 1,2 LR Fif b) i 1, 3 LB\ &ifl

¢) Gamoi 2, 3 LB &ifl d) SIS G FaMHMIGHEHLD &ifl

80. The enquiry commission which enquired the kattbomman and Jackson confrontation
consists of

I.William Brown II. William Oram III. William James IV. Casamajor
V. Edward clive

a) I, II, IIl and IV b) I, IV and V only ¢) II, Il and V only d) LII and IV only
SLLQUITDLOGT WHMIh LnE&Fear CLnse GMisSs alemflss aellFmyeanemr @Guweailley 2 mILISleTIHeTTS
BGHS6UTE6T WITH?

1. afleLeSlwid LNQ FerredT Il. efl6Ledlwib e2rLb lI. eSl6vedSl Wb Geglherv IV. &smerumGLogly

V. eTLeufL Slemerreu
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a)l, I, Nl bHoin IV b) I IV lommild V oL (RlLD o lI, I bmmid V oL (D d) I, Il o IV 1oL (D

81. Consider the following correct statements regarding Ambujathammal?

1. Inspired by Kasturbai Gandhi

2. Participated in Civil Disobedience movement

3. She created National awarness by Bharathiyar song.

4. In 1948 she started Srinivasa Gandhi Nilayam

a) 1,4 right 2,3 are wrong b) 1, 2 are right, 3 ,4 are wrong
c) 1, 4 is wrong, 2, 3 are right d) 1, 2,3, are right 4 wrong
etreu(peusoreumnleV |08 &5 WWMeT UMW FHWTeT dammiseneT C5TAS5MH?

1. erugnluml &STHH WML FF&SSLILLLeUT

2. 5L 1Ml @WEHESSH 6L LIBICHMHMTT

3. QU LUTTSWTT LITL6V epeulh , G5 W el LIL| 60T Temeu 2_(H6uU e S 6T Ty

4.1946 - wWfefleums &MTHS) BleMeVLLLD 6T6ITM | EMLOLIEOLI Q& ITL IS 60T TIT

a) 1,481, 2 3 seum b) 1,2 &1fl, 3,4 Heum 0 1.4 seum, 2, 3 &ifl d) 1,23 &1fl 4 Zeum

82. Find the odd one out of the Titles of Cholas.
a) Valuthi b) Killi c) Valavan d) Senni
Comprseflerr LILLBgeflev Haummearens &e6uorL s

a) el G b) S eiterfl C) GUGTE6DT d) Q& eoTent]

83. Select one of the following statements regarding non-cooperation movement is incorrect
a) Non Cooperation Movement Resolution Passed in 1920 at Nagpur Session

b) In Tamilnadu Non Cooperation Movement Organised By Rajaji , Periyar , Yakub Haasan

c) Muslim League Started In Chennai By Yaakub Haasan Along With The Help Of Periyar &
Rajaji

d) Anti Liquor Campaign Started During This Movement In Tamilnadu

@5 SIPWITenLD @WEHESID QGTLITUTET L6Teu(hLd & em&E 6T &eUMITeT Q6Tenm CHTa 6 k! & 6T

a) RSSIMLPWITENLD @)W STLOmerd 1920 BrsHLLT nFeile BlenmGeummUiLIL L &

b) SOLBTLIQ6) R&HSHIMPWITaND @uSHEHIND premedl , QUM , WTdall amTaFer &S GWMTITev gFmLm(h
QFWWLILL L gl

o aurlwury & gregmedluller 2 5alCWIM@®) W T8sLl ammeneor el QFeTemeoruiley (nevedlid 656 QFTLBISLILL L S

d) @bs @UEHSH 6T GLIMS SLALPBITL 1960 InglIeNevsE LITFFTIINn QSTLBISGUILLL

84. Consider the following correct statements regarding Neelakanda Brahmachari
1. Neelakanda Brahmachari Born In Seerkaali
2. He Established Bharatha Matha Association On 1904
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3. He Started Newspaper Suryodayam At Tamilnadu

4. He Setup Ashram At Nandi Hills

Which of the statements given above is/are correct?

a) 1 and 2 are correct b) 3 only correct

¢) 1 and 3 are correct d) 1, 2 and 4 are correct
BevsevorL LFbwEFTflenwl Lmnlw KeTeuhld FRlWimer i ens: & enerd & 6w eutl] Mm% 6T
1. @gsmoluilev BevseoorL LAgbw&sEmifl WmbBSTF

2.1904 @6V LIMTDS LOMSIT FHISGSMS Bl miedeormy

3. 5B IG60 @& FlCWMEWLD eTedrm LSS Flengenwlg Q&L kIS 6oy

4. 5HS) Lemevuilel LT TIOLD RETNEMET MG SITT

GG QEHMHG&LILILL Gammigerflev erg Frlwmersi?

a) 1 lnMmmILd 2 FflwmeTemel b) 3 WL GGW FflwWmersl

¢) 1 Wmmib 3 Fiflumerenal d) 1, 2 InmoiLb 4 Fiflwimeoreneu

85. Which one of the following statements are correct regarding Chenbagaraman Pillai?
1. He belonged to Kanyakumari district of Travancore state.

2. He started Bharatha Matha Valibar Sangam.

3. He married Laxmibai of the Indian National Army in 1931.

4. He joined the German Army and fight against the English in Ist world war.

a) 1, 2, 3, are correct and 4 is incorrect b) 1, 2 are correct and 3, 4 is incorrect
c) 1, 2, 4, are correct and 3 is incorrect d) 1, 2, 3, 4 are correct

QFeoTLIS TG0 L6TemememwiLl LiMHN) LSletTeupld Fammigerfley eTemeu &Fiflimeorgi?

1. @eul H(BSTHIGT IDMTHleVE G 6T HeteolWmGLONf] LMaUL LSensHE CFFHSHeuUlT.

2. UMS LTSI UTSILIT FRIGHMSS G FTL MBI 6UTTT.

3. 9jeulf 1931 @ 6L @HH W CHFW FTEDIUGHMSEF CFTHS VL& LOILITEmW L060THS T

4. 96U QRTLN6T TIeEvIeusH 6L CFIH S 2-6vasL CUMleL QYLMBITBCWIHEES TS T TSI CUITITLY6OTITH.
a) 1,2, 3, gflwimeremel 4 HeUMTeoTS! b) 1, 2 &flwimenal 3, 4 HAIMTETS

0 1,2, 4, sfllumeremel 3 HeUMTETS d) 1, 2, 3, 4 flwmestemeu

86. World can’t survive without water.......... ?

a) Rain is known to be the neetar of immortality

b) And mortality cant exist without rain

¢) Though surrounded by sea, will yet suffer of hunger

d) The ploughers plough with oxen's sturdy teem no more

BT @ 6T S eMOWITS 2_6U(S 6T60r 60T WTTWITTESHGSLD

a) HMETLIILDGLD 6T6oTMI600T D LITH 0 b) eUMTEITE)60TM! EMLOWIMS! (D& S

c) 2 6TBledTm 2 L mmild LG d) eurrif] euemmi@Geornils Smev
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87. What is the importance of thirukkural as secular literature?

a) Being secular, its values are not just confined to any particular religion and it is applicable to
the entire humanity.

b) It focus on human welfare

c) Reading thirukkural strengthened the secular vision

d) All the above

DG FMTFUMHM @6evEHES LD 6TeoTmI U6 & Ullel B ([H&S G merfletT WN&HH WS FHieuLD WTE?

a) 6T @ GO L SEHMHETEr @SR WINMTES @6V DML D (NN GLD QUITIHHSILD
SeoflgSlallD QMBS @6eVsHE LD LG LD.

b) LOMEDIL [HEVEMETT (LNEITIBIMIGSILD @ 6VEH WIS H(HEHGSGM6T ell6ThI GRS

0) HHEGMET UTFILIL IDSEFTTLMM SHeTemlnemil aUedenliL(R) & H LS

d) GLOM&600TL. M6 S SILD

88. dare to do a thing

it is shameful to say

As per the above thirukkural, how should we enter an action?

a) After accumulating enormous wealth b) After charity

c) After a mature thought d) At an appropriate time

eTeuoT6unT1 160018 &(HLOLD levol b LS 60T

TETUTERICUS! 6TTL B(P&HS - eTeueumyl @ QFWedlev FHILIL Coustor(hlh eTeor B (HeueTemauy GLOM&mnjlw
&mertle sifleymis SIS MTy?

a) HmeTlh QFWS LIDGS b) BlemmWLI QUT®6T CFiHS LIMGS

o) BeTOTE FIbH S8 SASDHES NDES d) 568 &MeunDHS

89. Which of the following formed by the State reorganization act 1956?

a) 14 states and 8 union territories

b) 16 states and 7 Union territories

c) 14 states and 6 Union territories

d)24 states and 9 Union territories

WMElev LMIFTemIOLIL] FLL LD 1956 60TT6V 2 (HeUM& &S LILIL L emeu LSl 60T6u (6L 60T6U D MI6V 6TSHI?
a) 14 LOMBleVMIG6T MM 8 wesflulet LG migGer

b) 16 LDMBl6LMBIGET LOMMILD 7 WhLeofliedT LTG5 & MHigs6iT

) 14 IDMBleVMAIGET LoMMILD 6 Wesfluler L7 G I& 6T

d)24 I0MBleVMBIGET InMHMILD 9 Wheoflwier LN E& & migeT

90. Consider the following statements:

1.As of now there are 7 UTs in India.
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2.Kerala and the Union Territory of Lakshadweep have a common high court.
3.National capital territory of Delhi has a High Court of its own.

Which of the statement given above is / are correct.

a) 2 and 3 b) 1 and 2 c)1,2and 3

LSl etTeU(BLD FaM MIGEMET & 6u6nr:

1. 5HCUNTE @SB wmellév 7 u,eoflwest LNFCGHFMhIG 6T 2 6iT6meuT.

2. Ga e MM Wweollwedr LNFCHFIOMET VL F5E 65 @58 QUMgieumer 2 wWiFBSLneTmLD 2 6Tens.
3. QLevedlWlelr C5P W HemeuBET KNTCHFSHMEGS QFTHSLOMS (H 2-WIJ BHLD6TMID 2 6Temgl.
CLGev AEMH &S LILIL B ETeT sammiserflev erg Erflwmers.

a) 2 InMmmiLd 3 b) 1 LoMHmILD 2 ¢ 1,2 mmid 3 d) 3 L (b

91. Consider the following statements regarding the division of powers:

1. In a federal system, powers are divided between the national and regional governments.
2. In a unitary system, all powers are concentrated in the national government.

3. The division of powers is always explicitly stated in a written constitution.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and 3
BlFeuns JG&ETTL LG Ty QSTLTUMS LI 6iTeu(HLD FaD M8 6eM6IT 86U 6011 MHIg6T:

1. Fa Ll LTl (pemmuilev, GHFW & &G0 LOMBl6V S| J&HSHEHS G0 @) enL Gl |G & ITIT B & 6T

LN 118 & L1 L1 (5) S\ 60T m 60T.

2. @MHenpWTLE enmuiley, Sjemersd Sl SIS &TIHRGEHL CHF W STFLLD & el gL 6 S 6T meor.

3. 9IH&EMTIL LG FTey eTICLMTSID 6(H TS LILLL STFwevennlilfNév QeueflliLenLwms: &

UL (HEGLD.

CLGev AEMH & & LILILBHETET gaMmiGerlev ergl/eTemeu &iflwimeorgi?

a) 1 lnmmiLd 2 Ll (HLD b) 2 LoMmmith 3 ol ()LD o) 1 wmmib 3 10l GlLb d) 1,2 lommib 3

92. Consider the following matches of situations and the fundamental rights that they
violate:

1. A 9-year-old girl child is working in a firecracker factory — Right to equality.

2. If a politician in one state decides to not allow laborers from other states to work in his
state-Right to freedom of movement.

3. If the government censors a newspaper unreasonably — Right to equality before law.
Select the correct matches from the above.

a) 1 only b) 2, 3 only c) 2 only d) None of the above
eteu@dld GLDBlemeusefledr QUMBSSHIGEHT WMHMID Sjemeu WML glidenL 2 1flenngenens
55611601 WL 161 & 61T:

1.9 QW I QUEHIT (SLPHeMS LIL LTS emeuuiléh Geuemev QFWISMSI - &0 2 1flenin.

Page 33 of 73

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

2. @@ LIBlVEH 2 6TaT YFFWeeuTS), MM WMHlRGmeTs CFIHS QAFHTUIGUTETTHMET &6uTSl

MBS H 6L Ceuemnev QFWIW SMINFH &S Fal T 6Te0TMI (N6 QFUISH6L - BLIOMHLD &&1HH 78 H M meor
2 rflenio.

3. SIUFMEIGL @@ UG fleanseanw BlWTWLmm Wenmuiley HenllHans QFUISTHL - FLLESH6T (LD6dr
Fu5sIausGHMmEmer 2 flenlo.

GLGev 2 aiTemeumMeS (Bb & FHlWTeT QLIMT(HS S M &ameTs G T HE S H & &6y LD.

a) 1 (LD b) 2, 3 DL (LD ¢) 2 L @ILD d) G & 600 L 61516 Ll6V6mI6V

93. Articles 19 -22 cover which of the following rights?

1. Protection against arrest and detention in certain cases

2. Right to Freedom of speech, movement and expression

3. Right to Freedom against bonded labour

4. Prohibition of trafficking of human beings

Select the correct answer using the codes below

a) 1, 2 only b) 1, 2, 4 only c) 2, 3, 4 only d1,2,3,4
B &6t 19 -22 LNetTaU(BLD 6THS 2-[flemLn & emerT 2_6TemL. &8 W &1?

1. Flev UGG S 66V &SI LMHMID &HLIL &S TeU66L @) (HHS LIMSISTLIL]

2. GUESH, QUWSHSLID IMHMID &(HSSIF &SHBTHBMEmer 2_1flenin

3. Q&BMSSH96M0 QG TLSVITEN TS @58 (S TH TITeT &&HHTs5H M mer 2 flemin

4. Dol SHLGHM6V HOL QF LR MII

FECLp 2 6item GMIUTHIHemerLl LIwWeTL® S S Frflwumer LS emevs CHTHOSH &6l

a) 1,2 L (B b) 1,2, 4 LOL_(HILD )2 3 4 WLEIW d) 1,2 3 4 LL@ELW

94. What do you understand by the statement, ‘The Directive Principles of State Policy
(DPSP) in the constitution are non- justiciable in nature’?

a) The courts cannot recognize the DPSP in their judgments.

b) DPSP cannot be enforced by law.

c) They are not enforceable by the courts for their violation.

d) All of the Above

SrAwevennlilNésv 2 6ter  WMBlVE Q&maTensulledr auPBlaTLGSL Camium@ser (1gLereruLl)
@umensuflel MW TWMMeneY' 6TedTm & ensullesr eLneulhb B 6T ereoreor LN ih 516 & MeT8) njiy s 6ir?

a) BHLDGTMMHISHET HHIG6T STLILG6rflev DPSP 83 oBISB& &8 (NI WIMS).

b) DPSP &L L &&M6V QFWVLIHSSLILIL (LDIQUITSI.

c) SieumMleT LIMeSSTS BHDETMMHISETTE Q&FWeVLIHSSLILIL TSI

d) GLOMSHE00TL. |60)60TSH GHILD

95. How the election of President held in India?
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1. Indirect 2. Proportional representation 3. Open ballot
4.Single transferable vote

a) 2, 4 only b) 1, 2, 4 only c) 2, 3, 4 only d) All of the above
QBB WM GLQWTHS Semeval] G5 ITSH6V eTLILILG HOLQLMHMSI?

1. LDEMM(N S (PO 2. S grEry VTS mISHSsieuln 3. \MHS uUTsGEF EL®
4.6MH6MM IDMMMEHES UITE S

a) 2,4 I0L_(pILDd b) 1,2, 4 10 (LD 023,40 (LD d) GLnGeV 2_6IT6IT (60)60TS I LD

96. In which of the following institutions Prime minister is chairperson?

1. Niti Aayog 2. National development council 3. Zonal councils
4. Interstate councils

a) 1, 2 only b) 1, 2, 4 only c) 1,2, 3 only d1,2,3,4
L etTeu(BLD 6THS Bl mIaUeTs H6L LNTSI00 H6M6eV6UITITE 2 6TETIT?

1. BIS) SL,CWITs 2. CHH\W euenT&FF &6 60T F 6L

3. LOGDOTL.6V &F60ILIG 6T 4. LOMBl6VEIS EH & (S @)60)LGLLWITET & 6 60T T 6L 6T
a) 1,2 L@ b) 1,2, 4 DL (BILD 01,2 3wLL@EW d)1,23,4

97. Which of the following are true regarding Governor of the state?

1. He/she is the constitutional Head of the State executive and all executive actions of the
state has to be taken in the name of the Governor

2. The eligibility of appointment of the Governor is that he/she must be the citizen of India
and should have completed fifty years of age.

3. The Governor can be appointed for more than one state for maximum of six months.

a) 1, 2 only b) 1 only c) 1, 3 only d) All the above
LOMTBl6V SLEBHENTL QUITMIS S 6uen LI 6tTeu(heusoreumnilev ergl &il?

1. jeul WLMHIL BIFUMTSHSSH T TFWMOLILS SemeveulT LMMILD WOMHIVSH 6T eSS HBlTeUTsS
HLEU GBS EHLD 46BH 6T QUWIflev TR & &LILL GeueuoT(hLD.

2. 91EB BT BlWNTHHMHETT HG&S euT @HHW G INGaTTES @ (HhHS Gauaur(Gb LoMMIL PO
WS LTSS WenLIhH (558 Geuevor(hLD.

3. R60TMISE CLMUILL LOMBIVHEISEHES S B SLULFIONS S M LDMTSHEISEHS S ObLE6HenT Hlwl&aseamin.

a) 1,2 0L (LD b) 1 nL_(h\LD o 1,3 L (L d) GLDB6V 2_6TET 6MEITSHSILN

98. What should be the minimum number out of the Total members to constitute a sitting
of the Lok Sabha / Rajya sabha house?

a)2/3 b) 1/10 c)1/12 d) none of These
CoumE&FUT / TIQWEFUT Smaulller FallLHmng SnEsS QLMSs 2 millklarisefle GeanmbsULF

6TGUUT6UUT 85 600 &5 6TEOTEUTEU TS B) (58 G6u6uoT(HLD?
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a) 2/3 b) 1/10 ) 1/12 d) eTs1eyLl6vem ey

99. Who nominates a person to head tribunal constituted to resolve interstate water
dispute?

a) President b) Prime minister

c) Chief justice of India d) Parliament

LOMElVRISEHESE @) 6nLGWWTaT SHeorenty LIAFFFeameranw STLULSMHSETES MOSGHLILILL H6M6VenLn
BrUUTWSHNHEGS @G BuT LUFHSI@TLUILIS WTy?

a) geTmHLG b) NysLof

Q) @BHW FHemevemlo HHLIGK) d) UM MEBLO6TMLD

100. Which of the following are constituted to study centre-state relations?

1. Sarkaria commission 2. Punchhi commission

3.Venkatachaliah commission 4. Rajmannar committee

5.Verma committee

a) 1, 2, 3 only b) 2, 3, 4 only c) 1, 2,4 only d) 1, 2, S only
L9l 6dT6u (B 6ueoTEUM M 6V 6TSI OGS W-LDMBl6V 2. MeY&6meTLl LHLILIMe QFWIW S6mnd s LILLLS1?

1. ggsasmlum &Ldleagesr 2. L& s18169.60T

3.Q6UMBIGLITEFem6VWIT &L 619.60T 4. FTRLOETETTT & (WD

5.6UJ0IT G
a) 1,2 3 WL @ELW b) 2, 3, 4 0L (HILD 01,2 4wLEIMD d) 1,2 5 L@

101. Select the correct statement from the following. (Lokpal)

a) The Lokpal consists of a Chairman and 8 members.

b) Their tenure is 6 years or upto 65 years.

c) Their salary and grades will be at par with that of the Chief Election Commissioner of India.

d) These members should have 15 years of experience in anti-corruption policy, anti-bribery,
public administration justice etc.

L9 edreupeusoreummMedl (558 FlwmeT MG an&anws G5 HO S M &&a]LD. (C6VITELIMEV)

a) GeLITELIMEL (B Hemevaly LnMMID 8 2 MILILN6TI&6n6TE 68 MeuoT(h 6iTeTS.

b) oauFserfleT LIGeN&8meuld 6 ,600T(H 6T EVEVSI 65 3L,600T(HGET QUEMT .

o) 9aurGerfleT FlLerid MHmiD HKECTH @BHFW Fen6venin CHTH6V J,6M 60T LIHE G ©)6M60T LTS @) (HEESLD.

d) @b% 2 MIILNeTIE6T 2ETNeVIEE 6TH T QGMeTens, Ve WL, QUTE BlFauns B GumeTmalmniley 15
21,600T(H & 6T I eILialD QUMM [H&HSH Galevor(LD.

102. Select the incorrect pairs from the following.

1. National Consumer Day - December 25
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2. National Girl Child Day - March 24

3. United Nations Day - October 24

4. International Education Day - January 24

a)1,2only b) 2, 3 only c) 2, 4 only d) 1, 4 only
L9 65160 (15 61 60T6U D M) 66) (15 [ S5 FH6UMITETT B) 6N 6GTITS: 6M6NTS C5 1T H RS (H) & & 6LD.

1. G5F W Hm&TCUMT Heurld - I FLDLIF 25

2. G5 T W QLT GLPIHeM S & 6T H6urld - LOMTEF 24

3. 2ERW BTHISH6T Heorld - SHCLTUT 24

4. FTeUCH & H6vedl Heurld - georeurf] 24

a) 1,2 LG b) 2, 3 LOL(AILD

103. Match the following
List I (Article) List II (Subject Matter)

a) Article 245 1. Power of Parliament to legislate for two or more states by

consent

b) Article 248 2. Extent of laws made by Parliament and state legislatures

c) Article 252 3. Residuary powers of legislation

d) Article 254 4. Inconsistency between Central and State laws

L9l 6dT6U (H 6U 6TTEUM MM LI QLIMTIHE 5185:

UL QW6 | (BT SI) UL WeL Il (QUIT(H6IT)

a) &5 8l 245 1. @TevoT(h) S{LEVS SIFMEGS CLMLILL LOMBlIEVEISEHSHE @LIL| S eIL 60T FLLID
QWD BILTEGLSTDSH NS AHSSHTTLD

b) F05 8 248 2. FITLMT@5L060TMLD DM MILD WOMHBI6V FLLOESTMMBISETT6V G mmLiLIlL

&L Liserfledr eTeLemev

<) FU5 8 252 3. 6TE T W FL LW M MID oS &TIhIS 6T

d) Fg5 8l 254 4. DSH W LMHMID LOMFHleV FLLEISEHSE @) 6L ulleumer (L yevorLIm@®
a) A-2, B-3, C-1, D-4 b) A-3, B-2, C-4, D-1
c) A-1, B-4, C-3, D-2 d) A-4, B-1, C-2, D-3

104. The Finance Commission's recommendations cover all of the following EXCEPT:
a) Sharing tax income between the Union and the States.

b) Principles for Central grants-in-aid to States from the Consolidated Fund of India.

c) Allocation of funds to States from the Public Account of India.

d) Financial matters referred to it by the President for sound finance.

BI6) 3),6mevoT WS B 6T LI HSlIemgasetley FTINsS S eTs1?
a) DST SIT&HGLD DTHlVBISEHHEGD @G aulfl aueaumTenwLll LS THSIQ S TeToUSl.
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b) @S W RBREISen6THS BIH U BHES MHlUBISERSES ST W AHTE aIPEIGL 2 el
LOT6DT ] UI MBI 85 @15 &5 8 IT60T G &5 IT6IT60) & &61T.
¢) @BH W QLTSS &HeooTd:SRe(BH S LDMHleVHISGHEHSHE BIS RSIGH0.
d) I56V6V BIG) HEVENEETE RQ60TTH LIS WIT6L ShemeooTWSHH M & LlBSenTsiasLiL®LWD B1S e9aq s & er

105. Statement: The Kesavananda Bharati case (1973) is known as the Fundamental Rights
case.

Reason: Parliament can amend fundamental rights without changing the basic structure of
Indian Constitution.

a) Statement and reason are correct; Reason is the correct explanation for statement.

b) Statement and reason are correct; Reason is not correct explanation for statement.

c) Only the statement is correct, the reason is incorrect

d) The statement is incorrect, only the reason is correct

MG &: CHFUTETHS LITTH 6ULns S (1973) Qg LILIenL 2 [flenln &G 6T ULN& S 6TeiTMI S enp&ELILGS MSI.
&Myewrd: @hHW STFFRwevenwllber SqliLenL SLLenwnllenl WLIMMTEUGEW LITFITEHLO60T ML
g LitenL 2 flenwnsemer H([HS5S (DLW LD.

a) SINMGe & WMHMID &TIeord &iflUMeTsl; FoMmI&8Ter &ilumeT eNlemg &L &ITFesori.

b) 2fl&emn s LMD &MFeord FflWmens!; S Mm@ smyeord Fifluwmer eflemTs: a0 3{606v.

0) SINGens L HCL FWTETSI, &ITT6sTLD &6UMmmers

d) 9|nflGemn & HaummeTs! , &TFesorid L GG Fiflulmers

106. According to which amendment the Union Territory of Delhi was brought with
Legislative Assembly and Legislative Council and declared as Union Territory with National
Capital?

a) 52nd Amendment b) 61st Amendment

c) 69th Amendment d) 76th Amendment

Hhs ATFWevenLIL] HHSS FLLESH T IqLliLienLuiey wenflwer LNFCHFILOMeT QL6U6S FL L L06TMLD
LMHMID FLL Cloevemel Q&ML CHFIW HemeubsT LGS WTs sjmlelssliulLg?

a) 526u8l HGHSSLD b) 616U H(HSSLD ¢) 696U HHSHLD d) 766u8 HBHSHSLD

107. Choose the incorrect one from the following.
a) The Central Vigilance Commission was set up in 1964 on the recommendations of the
Santhanam Committee.
b) Constituted by Cabinet Resolution and given statutory status in September 2003.
c) The body consists of a chairman and four members.
d) Their tenure is 4 years or 65 years.
L9 66160 (15 6 60T6U M M) 66) (15 [5 I H6EUMITEUT RETENM S CH T 6 & (H & &6 LD.
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a) ghsmerd &sLiquier uflbaiemyuler Gufly 1964 owid opevor( WHSHUW  ellgdlQeveireiv  GLdlaq 6o

MDGHSHLILLL S .

b) SemEFFTa BITETSSTH 2 (HaUMHSLILULLG WMHMID QFULDUT 2003 @60 FLLLILLT bHeVg!
QULDMHBISLILILL S,

) SMLOLIL] R(H Hemeval nMMILD BTG 2 miLILNeT 5 6m6ms: Q& mesor (b 6Tengl.

d) 9leurGerfler LgeN&ameuld 4 2b,600T(H & 6T D6V6V& 65 2,600T(H &6

108. Which of the following statements is incorrect regarding the Indian Councils Act, 1861:
a) It made the beginning of representation by associating Indians with the law-making process.
b) Decentralization was gradually introduced from this Act.

c) The system of budget was introduced as per the provisions of this Act.

d) Act gives recognition to the portfolio system.

A HH W &e6yaTFLSEHET FLL LD, 1861 QASTLITLTS LN6TeU(BHLD SaM MG 6rfl6L 6181 & UM TS

a) FLL LD @M QF WL MWL 6T @)HH UITEED6T &) 6Memrs S5 60r eneuld LI T H BI5) & &l 61 s S 6o
QSMLESHSHNS IS 2 ([HeUTEHRISI.

b) @FFLLEROIBHES B HTTL LITaIeM&HSID LI LILIGUINTS SIMWasLILUGSSLUILL LS.

0 @FFLLEH 6T ghUTh&eflaTU a6 QFeeas HLL (Budget) (pemm A& LILRSSLILIL LS.

d) @&FLLLD @6VT&IT (NMMEE ABIGHTTD eS8

109. Consider the events given below:

1. Introduction of direct election. 2. Abolition of Board of Control

3. Separate electorates for the women 4. Final set up of the Federal Court

5. Vernacular Press Act 6. Submission of report by Simon Commission
Arrange the event above in the correct chronological sequence:

BC A&MTH&S&LILL B ETET B&LD6 & 606Ts & 61 60l U] 161 & 6iT:

1. CHIYS CHTHmev M NELILIG S SIH6L. 2. 5LGUUTL® surfluib semeuliL]

3. QLI6TUTS: @5 & (5 & 601150 5 ITE B &6iT 4. G LTLS BH06TmE S 6or @) MG Sj6minLiL]

5.ul LIy Qomy QFWSH &S meTr FLLLD 6. emFL06tT H1l6aq6T MG s FLFLILNG 560

CLOG6v 2 6iTelm Ml&Lhemeu EFiflwmenr &meveuflen&LILILg 6 (LIS 6008 &6 LD:

a) 1-2-3-4-5-6 b) 2-5-4-3-1-6 c) 2-5-1-6-3-4 d) 1-5-6-3-1-4

110. Which of the following provision require special majority of the Parliament along with
the ratification of states for their amendment:

1. Citizenship 2. Enlarging the Jurisdiction of the Supreme Court.
3. Article 368 4. Official Language

5. Any of the list in Seventh Schedule 6. Goods and Services Tax Council

Select the Correct answer from the codes given below:
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a) 1, 2 and 4 only b) 3, 5 and 6 only

c) 1, 3, 5 and 6 only d) 2, 3, 5 and 6 only

B L& & 600TLeuMN6L 6THMEG HITLMTEEL6TMS H6or FA\MLIL] QLIIBLOLITETEmLO W LD, DM BleVkG6rfleiT eLIL|S5evih
G5 emeu:

1. W flemin 2. 2 FFBHINTMSS 6T FH&ETT eurben eNifleyL® &S5 6v.

3. 5055l 368 4. 94 Quomd

5. JLOITLD @) 6m60oTLILL LIL1gWI6V 6. &5 G WMHMID CFemeu eulfl &6 6iTEFl6L

BC Qs ssLuLBerer GMui@ sefedlBpha Frlwmer LUGlamas G HOS®H &8 6] LD:

a) 1,2 Lommith 4 DGl b) 3, 5 LnMMILD 6 OL_(HILD

© 1,35 W0mmin 6 L (HLD d) 2, 3,5 W0mmid 6 LG

111. With reference to the Objectives resolution introduced in the first session of the
Constitution Assembly, consider the following statements:

1. It declared India as a Sovereign Republic.

2.The territories included in India will retain the status of autonomous units along with
residuary powers.

3. It guaranteed to all people of India equality of status of opportunity.

Which of the statements given above is/are correct?

a)l only b)1 and 2 only c)3 only d)1, 2 and 3
SITFWevemLIL|&F FenLIul 6 (NFHvMaUSl sal LSQSTLIIL SIMWsILGSSLILLL &8s meTs it
umMw SIomerid g LiLemLullev LNeTeu(bLD Fo.M MG 606ITS &6U6iTSH B 6V Q& MeTGeUITLD:

1. @ HS) W Teme6u ©)60M UIITEUoT6mLD Q& TeTTL. (G WTETS S Medls s S.

2.8 wmellév CFFseeLILLBG6TeT LNyGCsH & Mg 6T 6TEh T W S8 & ITIJ Mg EHL 60T & 60TeuT T &) 9)6u(& & 6rfl6or
SHSHVMG LD 558 MeUS S5 QI SITETEHLD.

3.@18 @hHS W el 9|6mers Sl D& & EHE G FLo aumilienL 2 M%) QFWS .

CLGev ABMH&SLILIL B ETET ammiSerfley ergi/eremeu Frlwimeoral/&iflwimeoremneu?

a) 1 L (HLD b) 1 LDMHMILD 2 G @ evor(HLD ¢) 3 LGl d) 1,2 inmmilb 3

112. Which of the following fundamental rights are available to both citizens as well as
foreigners?

a) Prohibition of discrimination on grounds of sex. b) Freedom of speech and expression.
c) Freedom to manage religious affairs. d) Protection of interests of minorities.
Netrau(plb g L1LenL 2 FlemlnserfleL eTemeu L9108 8 158G QeueIBITL L 6eUTs: Eh & (&L T enL & 6 6T meor?

a) Umedleor &g L1LemnL_ul6L LITGUTH &TL(heuens s Seml QFUIS6.

b) GUF & LDHMID HHSSH &SHH L.

0) I0S NEUSTIBIGM6T BlITUR &G &HHEHTLD.

d) A miLimesTem Lo U 60T 60T [H6VEITSH G LI LIMSI8 T S 6V.
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113. Which of the following statements are incorrect regarding the Unlawful Activities
Prevention Act, 1967?

1. The Act provides for preventive detention of suspected individuals.

2. The Act empowers the government to designate an individual as a terrorist without trial.
3. Only Indian citizen can be tried or charged under the act.

4. The Act doesn’t have the provision to seize property as part of investigations into terror
cases.

Select the correct answer using the code below:

a)l, 2 and 4 only b) 2 and 3 only c)1, 3 and 4 only d) 2, 3 and 4 only
FLLNGrTS BLGMESET SHLILF &FLLID, 1967 QamLiuUms WKearau@mld nsanssefley 6rsi
SUMITETSI?

1.86C555H MG I W BLTHmET SHILILE &Tauedld) emeus s @&FFLLID alflalans QEFWRMSI.
2.flemyemeorulledTn)l @ SeoflbUeMT LWRSFUTHWTS SMeleEs @hs FLLID FFTRSESHMNGS
B &ML eaflERmsl.

3.@hBW G nGemerT UL HICL @HS FL LGS 6T GLp alemflesCalT 9j6V6us GMMLD FMLL G (NLgWLD.
ALWBISTOTS UPSGEGSHET QSTLIUTer eNlFmFaneuTuileT @@ UGHWTS Q&FEmsgsEamer LN (g6
QF s MmsTear NS (enm @\HS FLL&H 6L @ 6veme6v.

ECLp 2 6T GMIUTLemL L1 LweTUR S S siflwimenT LIGemevs CHITHGA S H & &6 LD:

a) 1,2 LOMMID 4 DL (LD b) 2 LMMID 3 L (LD ¢ 1,3 LMmID 4 WL (HILD d) 2, 3 nHmILd 4 WL (HID

114. In which of the following cases did the Supreme Court of India held that ‘the Indian
Constitution is founded on the bedrock of the balance between the Fundamental Rights and
the Directive Principles’?

a) Champakam Dorairajan case b) Golaknath case

c) Kesavananda Bharati case d) Minerva Mills case

LetTeu(BLh 6ThS 6uLp & & &6lev QT W 2 F&F HH6aTMLD '9g LiLemL 2 flemngeT M mib QBN wenme
CaEMTLUMO&EHEEG @emLulleumer Fumlemneuuiler 9 LliLienLullév @HH W STFFweveminLiL]
BloieuliLC G eiTengl’ eTeoroy SiyLiLeflg g S1?

a) FLOLIGLD ST TITR6T NS b) GHTELGHBITSH QILDSH G

c) CHEFOTHS LITTS aUNGHS d) e eur Weven aULp& G

115. With regard to Directive Principles of state policies (DPSPs), which of the following
statements is/are correct?

1.Social democracy is ensured by DPSPs whereas economic democracy is ensured by
Fundamental duties.

2.No matter related to implementation of DPSPs can be appealed for enforcement in

court as DPSPs are not justiciable in court.
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Select the correct answer using the code given below:

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
LMElev Q& meTem s & erfletr auSI&ETLH CHTLLIT®H&6T (DPSPs) Q& TLFLITS, Li6iTeu(hLd i) & 6t & & 6rflev
Tl Frflwimerg?

1. FEPNS QETIHITW LD DPSP&6ETTEL 2. MG QFWWLILGSRMSE, SCH CHISHFH 6L QLITIHETTSITT
Q6UTHITWSHLD G LILIEOL &L6MNG&ETT6V 2 MIF QFWWLILG S M.

2. DPSP&: & 606l S|DLVLIDH S SI6US QS TLITLITET 6ThHR6UT(H 6SlaqldSens b 55 L0e6iTm g 6L
SeU®SS Cuewenmui®h QFUIW (PLQWITEI, Gl eureofléb DPSP& & 6T [H ) L060TM & &) 6L
Blumuliu®ss (WDIGWITSI.

GG AamH&&LIULBG 6T GMIuTiemL L LweaTL®RSS) Frlwmer UG eaevsd C5THAHH &S50 LD:

a) 1 L (LD b) 2 L (HD

©) 1 mmih 2 @ revor(hLD d) 1 9j6veL gl 2 @ IevoT(HLD G)6LEM6V

116. In the context of India, which one of the following is the correct relationship
between Rights and Duties?

a) Rights are correlative with Duties.

b) Rights are personal and hence independent of society and duties.

c) Rights, not Duties, are important for the advancement of the personality of the citizen.
d) Duties, not Rights, are important for the stability of the State

@hHHWmemeull QUITMISFHeuenTy, Lil6dreu (heueoreumnleL 6T 2 flemln&6iT M MID &L 6008655 (S

@ 6oL ulleurreor &flwimeor 2. mey?

a) 2_flemln &G 6T HL MmN EHL 60T QS ML JLIMLUIEDE.

b) 2_flemnseT SeoflliLL Lemel, 6TerGol 606l FensLD IMMID &L 60L& erled (b & & WITS 60TLO MT6oTem 6.
o) 2 flemn G 6T 6(H & 19.L05H60f160T QL EHeMLD (LNETCTMHMSH MG (LEHHRUWILNTETEN6 @) S &L 60N 668G

QUITBHS TSI
d) TR VHTHH6TNGHGS 2_[flemn&6T (LNEHH ULV, SLMLNGET (LN& S WD

117. Which one of the following statements is correct with reference to the election of
President of India?

a) All the members of the parliament are part of electoral college in the election.

b) Value of vote of each Member of Parliament from both the Houses are same.

c) Total value of votes for each state is same.

d) All doubts and disputes with respect to the election are inquired into by the High Court.

QHH WS GQWTEHS Hemevalu] CHTH6L QS TLITLIMeT LNeiTau(bLd Fammiserley ergl Fiflwmers?

a) FTLITEBLOETMS H 60T emenTsH Gl 2 MILINeTI&HEBLD GH 56060 aUMTHHTETT 6T 6 (H LIGHILITS 2 _6TeeT().

b) @ emeuseTled BB eI ITIH HTLTEHLN6TM 2 MILILN6rfler alms@ WS LI FLOWMELD.

) REUQAIMH LDMBlEVSHISEGLOMET QLTSS 6UTe G S6rfler LG UL Fiold.
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d) BHTHL QS MTLILITET DS FHCHHMGET LDMMID HHTTMISHET G BHLD6TM &S M6V
ANemil&sLILH & eTmenT.

118. In the context of India, which of the following principles is/are implied
institutionally in the Parliamentary government?

1. Members of the Cabinet are Members of the Parliament.

2. Ministers hold the office till they enjoy confidence in the Parliament.

3. Cabinet is headed by the Head of the State.

Select the correct answer using the codes given below:

a) 1 and 2 only b) 3 only c) 2 and 3 only d) 1,2 and 3
@hHHWmemelll QUITMISFHeuenIT, Lil6iTeu(HLD Q& T6ITen & 8616V 618 [HITLITEBLOEOTM 3| J&FTHIS S 56V
Bl mieueor (PG WIS 2_6iTeITL IS W6iTerrg?

1.9 EFFTem6U 2 MILILN 60T T8 6T [HITLITEBLO6TM 2 MILILN 6T TS 6ITmTeuIy.

2.[BITLTEHLO6TMES B 60T L85! [HLOLNGem & @) (H& (LD U T D MFFTSH6T LGN euS LILITTS6T.
3.9|60 D EFTem6U | TF 6T FHemevelulJ &emeuemlouiley 2 _aTeTgl.

GG Aam@ssLIULB6reT GMuiGsener LWaTUB S S Frlwmer LUGenevs CHTHA S H & & ey LD:

a) 1 MM 2 S W @ revor(HLd b) 3 DL @D

¢) 2 LoMmmID 3 0L GHILD d) 1,2 lommib 3

119. The Indian parliamentary system differs from the British parliamentary system
because:

1. Indian system is based on the doctrine of the sovereignty of Parliament.

2. Indian system has legal responsibility of the ministers.

3. Indian prime minister may be a member of any of the two Houses of Parliament.
Which of the statement given above is/are not the correct reason?

a) 1 and 3 only b) 1 and 2 only c) 3 only d) 1,2 and 3
@HH W BTLTEBLerm Wenm LNFL196q BTLTEBL6TM WenmulleSl(Bhs CeumiLGH M, G erevileu:
1. @S W 9L F (pemm [HITL TEHLO6TM & G 60T )60 ML TEUITEMLD 6T6OTM CSHBITLLIML 0L g LILIOL TS S
Q& TeoTLSl.

2. @HB W eMDLILGGS SemEFTEefler FLLLILLT6U QUTMILIL] 2 6TeTgl.

3. @HH WL NS00 HITLITEBLO6TM &S 60T @) (H | emeauserfley CHmILD eiTiléL 2 MmILINerymss

@\ (H&&H6VITLD.

CLGev AEHMH & & LILILBHETET Sa MG 6rfleL 6Tg1/6Temeu &flLITET &ITIFEUOTLD 3| 6V6V?

a) 1 lnMHmMILD 3 Y& @ Fevor(hILD b) 1 LnHMILD 2 oS @ evor(hLD

¢ 3 L (LD d) 1,2 lommib 3

120. Which of the following pertains to the centralizing tendency of Indian Constitution?
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1. The Union List contains more subjects than the State List.

2. The Centre has overriding authority over the Concurrent List.

3. Residuary powers are vested in the Centre.

Select the correct answer using the code given below:

a) 1 only b) 1 and 3 only c) 2 and 3 only d) 1,2 and 3
LSl etreu(peusoreumnileL 6T @\HHW TR Wevemo LN 6T W LILIGISSID CLITEHEL 6T QGTLTLenLW S ?
1. @eormlwis LI 19 Wwedl6L ommleul LIL1guiemev el B &L0MesT QILIT(HL & 6T 2_6iTemsoT.

2. QUTSIL LL19W6L S5 0SB W I T88E CLOGVITET B SGTTLD 2_6iTensl.

3. TEHFW SBGMTIHEISGET LSS W TS LD 2_6Temeor.

BC QsmHHsUULBG6Ter GMuiienL 1 LweaTu®MSS Fiflwmer LS emevsd CHTHOSH &S LD:

a) 1 L (LD b) 1 LDMHMILD 3 QL& G Tevor(HILD

€) 2 oMM 3 L (HILD d) 1,2 lnmmilh 3

121. In India, under which of the following circumstances can Parliament make Legislations
on State subjects?

1. When Rajya Sabha passes a resolution supported by 2/3rd of the members present.
2. When a proclamation of National Emergency is in operation.

3. When a State passes a resolution to that effect.

4. To give effect to international agreements, treaties and conventions.

Select the correct answer using the code given below:

a) 1, 2 and 3 only b) 1, 2 and 4 only ¢) 2, 3 and 4 only d1,2,3and 4
@ HH wWwmellev, LetTeu(pLD 6TIHS (& LDHlemeuuSl6L [HITLMEBLOETMLD WOMFBleVL] LIL LG W6 Siemma6T Gl SI
FLLMBISM6T @M (LgujLb?

1. LDMElevmIS eTem eu U6 eLneTNI6L @\ Tetor(h LIMIE 2 MILILN6OT T & 6T 31,876 L60T SITLOT6oTLD
BlenmCaumMmLUILIGLEUTSI

2. G5\ W sjeusFmlemevLl L8 L6oTLD HemL(PemmMUui6L @) (H& GG CUITSI

3. BHMSMET ST IDMOTHMS (I T8 HlemmCeummild CUITSI

4. FTUCHTF 2 L 6OTLIL &M & E6IT, 2 L 60TLILG.85 608 & 6T LOMHMILD &FLO6U T I8 60 61T
BHeOL(WemMLUILIH S SIS 6V

SC AaMH&&LIULBG 6T MUl LweaTL®RSS) Fiflwmer LS eamevsd C5THASHH &S50 LD:

a) 1,2 ommith 3 (LD b) 1, 2 lnmHmILD 4 0L_(HILD

€) 2,3 mmib 4 I0L_(HILD d) 1,2 3 mHmid 4

122. Consider the following statements:

1.Unlike High Courts, the Supreme Court can issue writs not only for the enforcement of

Fundamental Rights but also for any other purpose.
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2.Unlike High Courts, the Supreme Court is authorized to grant in its discretion special

leave to appeal from a judgement passed by a court.

3.Any dispute between two or more States in India can be decided only by the Supreme
court.

Which of the statements given above is/are correct?

a)l only b)2 and 3 only c) 3 only d)1, 2 and 3
L 6dTeU(BLD FanM MIG6METE &6 60T UMb 6iT:

1. 2 wiBHeaTmrIGeameTLl GUmeueTn), 2 && B n6Tmd 91 LiLenL 2_fl6nLn & emerr
SLLBSSIUSHEHETS LK LWITH), Coumi 6Ths CHMTHSHSH MeEMEHEa W HHLICUTTeneT LNmLILNEs
LU,

2. 2 wWTHB6aTMHEIGemETL GUTeueirm), 2 88 BHneTmid Seorgl e pLILILILL 6@ BE)L0e6Tm s S men
QUPRIGLUULL STULEE aHrms Cuaweannui® QFww FpliL S auphks S &TFD

QUM MIETETSI.

3. @H B WImailev @) TevoT(H VLS SMES CLMLILL LOMBlIEVMEISGEHSHE @) 60LUN6UITEIT 6THS G 6UIT(H
FFemFenWLb 2 F& HHeaTmD LLHGCL (NG QFWIW (oLguLb.

GGV QHBMBH &S LILIL 6T Fahmiserflev ergi/eTemeu &FiflWmeorsl/&flWITeoTemeu?

a) 1 (b b) 2 LnMmmith 3 ()LD ¢) 3 L (LD d) 1,2 lommib 3

123. Which one of the following powers of the Supreme Court is also conferred on a High
Court?

a) Advisory power

b) Power of doing complete justice in any cause or matter pending before the court

c) Power of court of record

d) Power to allow/refuse Special Leave Petitions

2 &5 FHarms S er LNeTau(bl SBHTIHESN6L T8 2 WFHHWaTMmSS MG euLpmksGLILL B 6TengI?

a) QL,CELITFEEIT AILPMBIGLD SIS STTLD

b) BHITMSEH 6L Blaveneuuiley 2 6Tem THSEAUMH HTFOTSHMID Hevevg allaquiSHID (PR mer HS
QIPBIGLD H &I

) UBIGaU® BHETDSHF T HF S TTLD

d) aflCFaq eI LDED)IEGEm6T AIDH &S/ BITTsflEGL0 AF&TTLD

124. With regard to Lok Adalat and Permanent Lok Adalat, Consider the following
statements
1. The permanent Lok Adalat hears disputes regarding public utility service, while the Lok
Adalat can hear all civil and compoundable criminal cases.
2. The final decision of permanent Lok Adalat can be challenged in court while the final
decision of Lok Adalat is binding on parties.
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3. The pecuniary jurisdiction of permanent Lok Adalat is less than 1 crore rupees, while

there is no such limit on pecuniary jurisdiction of the Lok Adalat.

4. Both the Permanent Lok Adalat and Lok Adalat have jurisdiction over pending and pre-
litigation matters.

Which of the above statements are correct?

a) 1 and 4 Only b) 2 and 4 Only c) 1 and 3 Only d) 2 and 3 Only
L&&6T BHILaATMHD(CVTES SMVS) WMHMID BIFHST WESET BHWaTML QASTLIUMS, LeTeau(pLd
M e &S emer LI1E 6988 e b

1. BIPhST W&EHET BHW6rmD QUL LWeTUTL® CGFemel QSTLIUMET alpd G Heamer elFmils @i,
3IC5 CHISH GHSHET BHINTHD Jemears S 2 Flemwullwey LMHMILL FLFFLLULGSIGW GMHmedlwev
& GSHemerulb eflFmiflé L.

2. BIoHST WESET BHITMSS 6T @MS (el BHINaTMEHH L Faumev QFWW6TD, 9C5 CHIS H 6L
0&&6T HE 6TMS BT QMIS LG8y LEISTTTEmET SLELULGSSID.

3. BITHST 0&&H6T BHETMS S 6T LT HH&TT aurbL] 1 C&HIMY eBUMUIGESLID GemmeuTsGeu 2 6Tems,
3IC5 CHITSH 6L 108 56T I L06TM S FH6oT LIcoT G SHTT 6UTDLIN6L 958568 W aUIFLDL] §)6V6em6v.

4. BIDHST 0&&6T BHIaTMID LMMILD W&E&ET HFHWaTMD L& W @ reaoT(H G Blavieneuullev 2 6T oM mILh
W6IT QUGG NEMfles B &TTID QLMMen6.

GLOG6V 2_6iT6IT SaMmig6rflev erg &iflwlmeors?

a) 1 MHmILD 4 LB W @ Tesor(hLD b) 2 LnHmILD 4 L_(BID

c) 1Mo 3 LH W @ Fevor(H)LD d) 2 lnmmild 3 DL (HILD

125. Consider the following statements with respect to the Tribunals Reforms Act,
2021:

1. It empowers central government to determine the terms and conditions of services
of the members of the tribunals.

2. The Chairperson of the tribunals will be appointed by the central government on
the recommendation of Chief Justice of India.

3. Any member of the tribunal can be removed by the central government on the
recommendation of Search-cum-Selection Committee.

Which of the statements given above is/are correct?

a) 1 and 3 only b) 2 only c) 2 and 3 only d) 1,2 and 3
STIUUTWREIGSET ETFHBHSSF FLLID, 2021 QSTLITUTS LN6Teu(HLD N5 60) 5860 6Td 8561 6071 WM& 6iT:
1.gFuurmwngefler 2 milierisefler CFemeuseafler G (WNeMMSEEHT WOMHMILD Bl S 606018 6061
Grwmell&Es @8 ST JTHSES B &ML IeaflEHRMSI.

2.2 55 BT Hemevenn BH LG U6 Lflhsiengullesr GUIflév GFLILIMWMIGET6T &6h6v6euITs:emerT
LSHH W & Blwll&GLDh.
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3.65L60 LOMMILD CHTYS Gwelletr LB siengulleor GUflév SFLILTWSH 6T 6THS 2 mMILILeTem LD

LS W & BEHEUITLD.

GGV QBMBH &S LILIL [BH6TeT Fahmiserflev ergi/eTemeu &FiflWmeorsl/&iflWITeoTemeu?
a) 1 lMHmILD 3 Y& W @ Fevor(hLD b) 2 L_(GBID

¢) 2 LoMmMmID 3 D@D d) 1,2 lommib 3

126. With reference to the judicial review, consider the following statements:

1.It is the power of the Supreme Court to examine the constitutionality of legislative
enactments and not executive orders of the governments.

2.The imposition of President’s Rule in a State is subject to judicial review.

Which of the statements given above is/are correct?

a) 1 only i b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
BHSsIemm DM QASTLTLTS, LN6Teu(HLD i) 560 & 8 em6rTd & 61 6ol i & 6iT:

1.FLLL06TMm @WmMmEIsefledr 9|TFlwevenioliL] SeiTemnenl SLTMW 2 FFBHeaTmS S M S
SIBSGTTLD 2 6TeNS, S| JFITMHIG MGG 6 60T [BlIT6UITEH S1,60)600T8 6T {6V6V.

2.9@ LTHEVSHL GUWTEHS Soval] L Flenw SjoL@ESSas BHSHSIMD DDISLLIESES

2 LulLgl.

GGV QBMH &S LILIL(BH6TET Fammiserflev ergi/eremeu &iflwimeorsl/&flwmeoTemeu?

a) 1 (b b) 2 I0L_(hILD

o) 1 mmid 2 @revor(hLD d) 1 3jevev sl 2 @ Ievor(hLD @) 6L6mI6V

127. The case resulted in the recognition of transgender persons as a third gender. The
Supreme Court instructed the government to treat them as socially and economically
backward. The Court also asked the government to expand reservations in education and
jobs for transgenders. The landmark case is:

a) National Legal Services Authority v. Union of India, 2014

b) Navtej Singh Johar v. Union of India, 2018

c) Vishakha and others v. State of Rajasthan, 1997

d) Lily Thomas v. Union of India, 2013

O\hS uLNEHR 6T ellememeuns G (HHMEIMESET CLNTMTD LIMeSerons RIS S8 & LULLL6TT. O|6UTEemeT
Feps FHWMSWL, QUTGBETTSTY FHWMSEWL LNOTHRISWeTHaTTES H(IhE Galcior(HLD 6Term 2 &&F
BH WM IIHFHES APNMSHWS. GHHEMESEHHESG &evell WLMHMIL GCealemeveumlLitiey
OL5I5E el alfleyuM S5 Ceuetor®ILD eTeormID BHIDGTMLID S T&HEES 55T L L GI. @) &l 6THS 60LD6VEH 6
LG G:

a) CHFW FL_LLILI6o0 1 &H6T 26060078 G (LD vs. @HH W epedTml LD, 2014

b) BeUGH R FIkI Cmamy vs. GBS W eetTmilulLD, 2018

¢) EFMST IMHMILD LIEVT vs. [JITE6NG 0T LOMBlevLDd, 1997
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d) 68levedl HTLnen vs. @G eedT WL, 2013

128. Assertion (A): The Tamil Nadu government unanimously passed a bill for horizontal
quota in state medical colleges in the state assembly on September 15, 2020.
Reason (R): The bill was passed based on the recommendations submitted by the
commission headed by retired judge P. Kalaiyarasan.

a) Both A and R are true, and R is the correct explanation of (A)

b) Both A and R are true, but R is not the correct explanation of (A)

c) A is true, but R is false

d) A is false, but R is true

Faml (A): SONDLHTO AHTHF QFLILLOLIFT 15, 2020 S|6TMI LOMTBl6V FLLIOETMS H 6V LOMBI6V OB Sl6uUd
soanflsefley eIl L @51&GL19ME DCEFTSTem6U R(HLO6TS TS HlenmGaummiw sl.

&Tyeuorid (R): @ieyQumm BH LS L. &emeuT&FeiT emevemnloudleuTeT S,6metorlld FLOTULNGS
urfibglenrseflerr 9 LliLemnLullév @hs LECEFMST HlenmMGaummLILILL GI.

a) A lnMHmILd R @uevor(Hb &Fifl, GLosyild R eTadTLIG A @6t Fiflment eNlemdh oD o, @LD.

b) A lnMHMID R @ Tesor(Rh &1f], QUL60TTev R eTadT LIS A @)6dT S iflulment eleng:&sLh 6V6v.

) A eTetTLIG &I, DL60TITEV R 6T6TLIGI &6UMITEUTESI.

d) A eTETLISI S56UMITETS, 3L60TIT6V R 6TadTLIG! &FIfl.

129. Assertion (A): The 69% reservation system in Tamil Nadu was given constitutional
protection in 1994 through the 94th Amendment.

Reason (R): Chief Minister Jayalalithaa and Prime Minister P. V. Narasimha Rao played a
crucial role in securing this safeguard for the state's quota system.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

gammi (A): SOLDHBTLLG6 69% B)LRSIGGELM WenMEHE 1994 94lh 91,600T(H 946uS B (HSHSHLD CLNGVLD
TFWevemDLIL|LI LMSISTLIL] 6upmkisLIULL S

&TIewrid (R): DHVENFFT QRWevedsm nmmib LNFsnd .66, BreIbWFmed LB CWTT 0T HBlevE S) 6ot
RFIHEL{H WMEE @HSLI LTHSTLemU QL MG 6l (n&S W LINIG 6u &g 6.

a) A lnmmILd R @uesor(Hid &1fl, GLosyiln R eTedTLIG A @)6dT Fifliment ellemda1D Sy, @GLD.

b) A LnMMILh R @ Tevor(hild &Fifl, 1,60TM6L R 6TaTLIGI A @ 60T FIflLIMeoT ellem&h&1D 6V6V.

) A eTetTLIG &I, 9L60TIT6V R 6T6TLIGI &6UMITETSI.

d) A 6T6ITLISI SaUMITETSI, 24,6076V R 6TedTLIG! &ifl.
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130. Which of the following statements is true regarding the Illam Thedi Kalvi (ITK)
scheme?
a) The ITK program was introduced to enhance skill education in schools.
b) The assessment of the ITK program was conducted in 2023.
c) Parents observed an improvement in their children’s learning experiences through the ITK
program.
d) Volunteers and teachers were dissatisfied with the impact of the ITK program.
@6veulb G5 L &evall (ITK) B L LD QSTLFLMS LNeTeu(bLD Sammiserflev g &ifl?
a) LeTeflaerflel Hmedr Hevallemw GDLIMSSIUSMHHTS ITK FL_ LD AnflWesLILRSSLILL LS.
b) ITK S_L&F et nGHLILT(H 2023 @ulh 21,600T(H BLGSLILILL Sl
o) ITK L SH6T eLp6uLh SHIGET GHLoHen S 8616l &mmev 3iealLIamIGH6rfleL (NeTGeTmmLD gMLIL (H6TeTS TS
QUMHBMTISHET & 6160155 60T
d) ITK BILLEH 6T SMESHSmMS HLILTLLF 6L SerermTieusu(®Ld oFAWFsHEHLD QBSHLDE R Wen L HSeoT.

131. Assertion (A): Girls who have studied in private schools under the Right to Education
(RTE) Act for classes 6 to 8 but later studied in government schools from class 9 to 12 are
eligible for the incentive under the Pudhumai Pen scheme

Reason(R): The scheme aims to promote gender parity and prevent dropouts, but it
excludes girls who have studied in private schools at any point, ensuring that only those
who have completed their entire schooling in government institutions benefit.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammil (A): &6l 2 flemwnd FL LGS 6T SLb Geoflwmy LeterflagerfleL 6 (nG&6L 8 QYLh EUGSLIL] UemT LI GG
QUIGOOTS6IT, LN60T6oTT 9 (LNG6V 12 QYLD UG LIL] UedT T8 LieTerflsemev LGS G\LI6UITS 6T L SlemLn G LI6uoT
BLLGG 6T GLh 215550 Ten & 60 QLI MILD & W elléy aupeur.

&Tyewrh (R): @\H&S S)LL LD QLTS 6T FLnall& 55 ens Wb, Leter ensall(heuens &0 LILI6emS WD
CIHM&&I0NE S Q& MeuoT(h6TemSl, S)60TMeL @) &I Heoflwmy UeTerflserflel L& QLIcToTSG:eme 66V (& H M S,
3|78 MlmieueTngernflev (W LiueTer] LI LemLu]ld (P19 &&H6UT&H6T 0L HILD LILW6TenL aUemns 2 MIH
QFLRMSI.

a) A lnmmILd R @uesor(Hid &1fl, GLosyiln R eTedTLIG A @)6dT Fifliment ellemda1D Sy, @GLD.

b) A LnMMILh R @ Tevor(hild &Fifl, 1,60TM6L R 6TaTLIGI A @ 60T FIflLIMeoT ellem&h&1D 6V6V.

) A eTetTLIG &I, 9L60TIT6V R 6T6TLIGI &6UMITETSI.

d) A 6T6ITLISI SaUMITETSI, 24,6076V R 6TedTLIG! &ifl.
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132. What types of diseases are addressed under the 'Kalaignarin Varumun Kappom'
scheme?

a) Only communicable diseases

b) Only pediatric diseases

c) Various health issues including dental, ENT, heart, kidney, and psychiatric conditions

d) Only maternal health issues

'8 60166 [f1 60T 61 (IH (LD 60T SITLIGLITLD' HL L& B\ 60T GLD 6T6OT6UT 616 & WITeT GIBITUIS 6T B 178 8 L1 () S 60TM 60T?
a) OSTMHMICHTUISET DL (HILD

b) GLHend GHMULIGET WL (HLD

¢) U6y, &Mgl, @&Wh, HmiBrsid immild eTheuld 2 6Terfll L LiIsuCaimi 2 | euhevll LN JE&enerss 6T

d) QUM &meul] LNTFFemets 6T Lol (LD

133. Find out the incorrectly matched pairs (schemes and their inaugurated places)
a) Chief Minister’s Breakfast Scheme (2022) — Simmakal, Madurai

b) Illam Thedi Kalvi (2021) — Mudaliarkuppam, Villupuram

c¢) Nammai Kaakkum 48 (2021) — Melmaruvathur

d) Makkalai Thedi Maruthuvam (2021) — Alinjivakkam, Tiruvallur district

SUMTSHL QUITIHIHH W @) 60 600TSH 60618 & 600TL MWD (H)LLMIG6T LM MID Sjeubner QG TL &8I L
B\ LTGIZ6IT):

a) (NS6LaUfl6T HTenev 2 awrald G LLD (2022) - FIDIN&ESH6, LGI6NT

b) @6veuld BS1q Gevel (2021) — WNSENWMFG LU, eIy

¢) FLD6DILD S TEHGLD 48 (2021) — GLOEVEUIHEUS ST

d) ID&&METE G51q IDHSSIAILD (2021) - AW EGFaUTEHSLD, F([H6U6TesHT DMaIL. L LD

134. Choose the primary focus of the training materials in “Elanthenral Pettagam”
developed by Tamil Nadu State Resources Centres

a) Agricultural Practices

b) Manufacturing Sector’s Technology Advancement Initiative

¢) Financial Literacy to children

d) Gender based violence and child marriages awareness steps

SO HBTE WMHI6L 6U6T e WIS efleL 2 (HeumssLILLL “@ 6ThHA S5 6aTM6v QUL L&ID” LulHe
QUITIHL & 6rf6dr (NS 6iTenLD MW GHMSS CH T F LWL

a) NQUFF T [HL 6L 5608856

b) 2. mUSHS siemmuileT Qg TYLHIL L GLMUTLG WWMmHE

) GLHMBHEHHGE BIH LD sevailwimley

d) LImedledT &119.L1LIem LU 6VITET aU6TG&TEm6V LDMMILD GLPHemS B (HLoeoor elLSILIL|6ooT 6y LI &6iT
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135. Which of the following is NOT an eligibility of NEEDS (New Entrepreneur cum
Enterprise Development Scheme)?
1. All entrepreneurs within the age of 21 to 35 are eligible under the General Category.
2. Women, SC, ST, BC, MBC, Minorities, Ex-Servicemen, Transgenders or Differently abled
persons have no age limit.
a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 or 2
NEEDS (4SW Q5 mL8l6L nemeorGeurmy oM MILD Mlmieuer GLWLUMLBHS HLLL1D) B L &S 6T &G B &erflev
L9 6dT6u (B 6U 6OTEU M N6V 6TSH @) 6L6MEU?
1. Qumgil Kflefler GLp 21 W6V 35 U F euemTUNEUITET B eM6TsH Sl QST (LD 6060TGEUITITS EFLD
555\ W 60 L LI IT&ElT.
2. QUIevOT& 6T, SC, ST, BC, MBC, & mILIMeiTemLOUIN 60TIT, (LD 60T6UTITEIT [T TSI 61 8 B\ 60T 1T, B (IHIHMEI60 & 56T 3{6V6V Sl
LM mIS5H meormerfl & Eh&H G Ul Sl eUTLDL] @)6V6m6v.
a) 1 (b b) 2 0L_(h\LD ¢) 1 mmih 2 @ Fevor(hLd d) 1 9j6LELGI 2 T&IALD @)6L6tIEY

136. Match the following Tamil Nadu awards with their respective recipients:
Award Recipient

A. Thiruvalluvar Award (2025) 1. Poet Kapilan

B. Anna Award (2024) 2. K.V. Thangabalu

C. Bharathiar Award 3. Pulavar M. Padikkaramu

D. Kamarajar Award 4. L. Ganesan

etreu(pLlb SLADBTH 69 (5 S8 66T 3 6umn)edr GlLIMIMG T EHL 60T GILIT(HS S18:

aNms! QUK

A. Bl(BeusT@bauly e (H g (2025) 1. 36l @1y &L 6evetT

B. o evorevorT a9l (HS! (2024) 2. G&.6M. HRIGLMSY

C.umrgpwry e s! 3. LJ6VeUI] 6TLD. LILG&&TTD

D. syl ef@ms 4. 6T6V. & G6UoTE 60T

ajA-1 B-2 C-3

b)A-2 B-1 C-3

c)A-3 B-4 C-1

dA-4 B-3 C-2

137. Which of the following statements best explains why the Art in a Box initiative is
significant in the context of India’s economic and cultural policies?

a) It promotes South Indian art forms to a global audience, enhancing cultural diplomacy.

b) It is part of a larger initiative to provide employment opportunities in rural Andhra Pradesh
and Telangana.

c) It ensures that traditional South Indian crafts receive financial backing from the central
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government.

d) It is an initiative to standardize and modernize traditional crafts for export purposes.

@ HH Wmelledr QUITIHETTSITY LOMHMILD HVMTFFTTH Q& MeTena S erfleor LI eoTeorevorluflev, " @LIL19.USl6L
SHM6V" (NWMHTF 6iT (N&TH WS FHI6ULD 6UMLIHS S 6TeoTLIenS LI 6dTeu (LD Fndmiserfle ers F\mLILIMs
eflerrs: &S mEI?

a) @& Q56TerlHS U S606V QILLAIMBIGHEM6T 2 VSTl LITTeneULTeT & Eha & 26185 G &R MS!, HeVMTEFE T
QUTRsHEISHmS CLLUGSSIH M.

b) Symliym SLBSHTT IMHMID CFHeIEISTeTTall6) Gauemev aUTUILILIGEHEM6T QULDTEIG6SMET6T (H G uifluw
WWMHHRUNET @B LGHWMESLD.

o) umguflu Qg eTaflbH W 68 eleneT QLML &6T SH W TR LINBHS BISH wSTamealll QLIS @)
2 MH QFULRMSI.

d) gHmIG) CHTHHBISEHSHE5TSH LTTIUFW engsallenarsenaT STliLUbhSSan befarliLBE&Sea|n @& @b
WWHRWMGSLD

138. What is the main objective of the "Uttachatlai Uruthi Sei" scheme?

a) To provide financial assistance to pregnant women and provide them nutritional weekly
provisions.

b) To reduce malnutrition through focused interventions and monitorable outcomes.

c) To improve health of lactating mothers.

d) To provide free education to underprivileged children.

"oorl L FFHMS 2 MG QF " G L&SH 6T (NSHSW GHTHSHLD 6T60T60r?

a) &FL1L9600111 QLTS 665G BIS) 256 QILNHIGSH6) IDHMID EITHEHSHE UTTHH T 261 L F55 3!
FHUMTHI& 6T QULDIHIGH S 6V.

b) HeUeTID QFGSID HeevUTH 6T LDMHMILD 8560018 6001885880191 6lem6ITey S56iT eLneuLD 26Tl | FF& S
GSOMHUTL ML 8 GHMME H6V.

o) LmTL_ QI STUITT&66T SCITHEH WSS G LIRS S5 6V.

d) NTsmH GBS SHEHEHEG B)6vals &evallen Ll 6lLDHkIGSHe60.

139. What is the objective of the Siruneeragam Kakkum Seermigu Maruthuva scheme?
a) To detect and manage lung diseases

b) To provide free dialysis treatment

c) Early detection of Chronic Kidney Diseases

d) Free kidney transplant surgeries.

FmBrsbd sréEwL €7 G WGBS Sieu BLLS S 6T CHITEHSLD 6TeiTeor?

a) BlemTuTyeL CBHITUIGem6TE HevorL MBS BlTeUEH &5 60

b) @evaus LMedF e FI&R &Femsenl 6ULDHIG 560

o) BIeTUL L S miBrss GBITUISHemeT (LNeiTdnL1q Cul & 6vor Ll &6V

d) @eveus Ambrs LTHM M6l FGH &Fengaer
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140. of the following statements is TRUE regarding Muthalvar Marunthagam?

a) Entrepreneurs without a pharmacy qualification can apply without any additional
requirements.

b) Only individuals, not cooperative societies, can apply for Muthalvar Marunthagam.

c) Entrepreneurs selected for the scheme will receive a government grant of 33 lakhs.

d) The government grant covers 100% of the infrastructure costs.

WS6VaUT LDGBHSHLD QSTLTUTS LNeTau(blh ammiserflev gl &ifl?

a) IDBHSHS &G @6vevs QST LNamaTCAIMT a(BlFH6v CHemneaud6T @e6veuTney alevoresor L& &euTLD.
b) Fal_(hM6)| FBIGHMIGHET V6VTEH HeofIBLFSH6T L HIGLD (N&6VeT LDIBHEHHESH MG 6llevoresor LILN&&H6e0ITLD.
0 @Qbss HLLEFNGS CHTHOSHESEILMGM QFTLH6WmeTGalTT 23 VL&D 2|J& LnmeafllgamsLl
QUMIGUTT&HET.

d) 9i7& wreflwib o sl LennliLg QFae|se6rfley 100% & 2 _aTaTL&& W gl

141. The National Talent Search Examination (NTSE) is primarily conducted for what
purpose?

a) To assess the overall academic performance of students across the nation and rank schools
accordingly.

b) To identify talented students among school children and provide them with financial
assistance for their higher education.

c) To encourage a competitive spirit among all secondary school students in India through a
rigorous testing process.

d) To provide diagnostic feedback to schools about the learning levels of their students in core
subjects like science and mathematics.

CxF W Hmermile]sd G5 Tey (NTSE) (0SSR WIDMTS 6THM&BTS HLSSLILG S M H1?

a) BT (REUGILD 2_6T6T LmeooTal T &6iflel el (HGILNMS S Sevalls Hmeneot LGV (B LeaTefl&HEb5 @& STalflens
QULNMHIGEUSMEHTS.

b) Leiterfl WnmeooTau & 6flemL_GUl HMEmLOUITEITEU T8 6016 D 6M LMD &H600T(H) S eUTSHEHEH G 2 W HevallshE B1S
2 g6l QIPBIGSDHSHTS.

c) @BHWmellev 2_6TeT SiemenTs &l GLneLBlemeuLl LigTer Lomesorel s erflen L Gul &{HlemLnwlmenT G5 J6)y eLN6VLD 6 (H
GUITLLY DEOTLILIMETEm N6t 26155 @ eI LIG M &HTE.

d) 9jnflefluiev mmiD &eooll&LD CUITETM (&SI LIMLMHIgerflev Inmesorel F&Herfler SMmmey BleneusseT &mlss!
LieTerfl 856585 & SevorLmMIULD LI edTenrl | &6m& 6ULPMHIGaIS M ST,

142. The "Kanitamil Peravai" initiative by the Tamil Virtual Academy focuses on:
a) Providing financial assistance to students pursuing research in Tamil literature.
b) Creating awareness about the importance of Tamil Computing among students in colleges and

universities.
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c) Organizing annual Tamil language and cultural festivals in educational institutions.
d) Establishing Tamil language departments in foreign universities.

Sl @\ emetoTLE H6v6NE &LN& 5 6T "G eGS0 CLIFemeu” (NETINWMHE TH6L FHeueorin
QF5s5RME?

a) B @VERWSH 6L 2T TULFF CLMEG&TETEHBLD LTIl J&HEHSHEG BIF 2 56l aILpkiG S5 6.

b) SeveumiflG6T DMMID LIGVE 6608 5L &M 6T 60 2 6T6T Lmetorel & erflen LG HLAlLp &5600f]6oflull 6ot
WEHWSsIaID GPIGS eilflliLeurTane gHLBSSIS60.

o) seval BlmiaueTmISH6Tl60 9L CHMTMID Sy QM MHMID HVTEEFTT PSS 06T HL &S5 6V.
d) QeueflBTL (R Leb&Hemevsapamisafle sl Qumbls sienm&seneT Blmie) &6y

143. Who led the Harijan temple entry protest in Madurai?

a) Kakkan - 1939 b) Poovalingam - 1937

c) R.S. Nayudu - 1937 d) Vaithiyanadha iyer - 1939
wgemnruilev amiflee6r oW Hienwea CUTTTLLSMS HL& S w6y

a) &H&&60T - 1939 b) LeueSimisLD - 1937

o RS. BT @ - 1937 d) emeUSH WIBMTS Wi - 1939

144. Choose wrong statements
. Green Tamil Nadu campaign started in September 2022
. For this, a new special purpose organization will be created by the State Government at
Ariangar Anna Zoo
. Target — 33% replacement of forest cover in 5 years
. One of its goals is a paperless lifestyle
SaUMITET SaMenms CS5THOS0H
Ugenn SEDBHTH WL 2022 QFUL LUl QS MTLESID
@5M&Ts MlEehT jevorevorm 2 ullflwey L mismeilél LMFBlev ST&FMeL S W FmLiL] CHMEs SjemlnLiL]
2_(HeUM&&LD
CBM&SID - 5 9yevoT(H & 6rfleL &mH Serfler LFLienu 33% B &FHH60
©) 56T @6V &S 6Tl6L RETM HMTE FHLINGLEVIT QUITLD & 6™ & (L6 M
a) 1,2,4 b) 2,4 c)3,4 d) 3

145. Choose the correct statement with regard to Tamil Nadu Global Investor Conference
2024

1. A project to set up a fully integrated solar power plant at Sriperumbudur

2. Agreement with Vinpast Vietnam's electric vehicle manufacturing company to set up

plant in Tuticorin

Page 54 of 73

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

3. Agreement with Hyundai to set up manufacturing plant for electric vehicle accessories

and electric vehicle batteries in Kanchipuram
4. India Institute of Technology, Chennai is collaborating on hydrogen-related innovation
OGS 2 68 (PGESLLMeTT LIHTEH 2024 QS TLFUTeT &FflWImer Samenms G5 HA S0
WFQUB L L STFl6L (LW eMDWITS 6(HEIH emettrs s LILLL GGl F658) SL6m60 S MNESS HLL LD
B153516619W6 SLemev &S eflerumevl WL BML WeTEFTy eumser SWMfllL HBlmieieTd
@UUbSLD
STEHFLTSH 6L OOTEFT 6UMS6T DS (DHSIS6T MM LOGTETT eumsHeur L6TEHBIS6T &Wmifle LW
2 MUSH) VER M | MDGH IO 6U0TLITWI 2 L 60T LIS LD
QFeTemeurulleir @HHWIT QASTLHLHIL LIS &6V6N &GN LTS ML TE60T Q&L T LIT6OT LS8 M& &0
QSHTLILNTSE 5 SIe0LPLIL] QULNMKIGS 2 _6iTemSI
a)1,2,3,4 b)1,3,4 c)2,3,4 d) 1,2,4

146. Assertion(A): In the year 2016, the Tamil Nadu Government has provided 30%
reservation for women in employment

Reason 1(R1) :A bench comprising Justices Muneeswaranath Bhandari and Mala quashed
this

Reason 2(R2) :Fill up the seats on the basis of social reservation and only if the 30%
reservation for women is not filled then the rest of the seats should be filled.

a) A is correct and R1, R2 are wrong b) A, R1 correct R2 wrong

c) A, R1, R2 are correct d) A, R1, R2 are wrong

FammI(A) : 2016 b SLe0T(H SWOWPE T& CeuemeueumILILN6L QUEIITHEHE S 30 % QL @SHIHEH eULPHIGEH
2 _eiTengl

&myevorid 1 (R1) : BH LS peoferueurpmg LiesorLmifl LM mILD MV YILBIG W S|nFey @ 60ns IS S QF IS SI
&Myeuorld 2 (R2) : Fen s QL @&1&EBD g LiLenLulley @Lmigsener HIFLULl eflL® S6L GlLI60TS: @6 & & IT6oT
30% QLR&I&S0 LTSS wnsallcueneu srearmmey L HGLO LSS N6TET @)L MhigemeT Byl Gauesor(® LD

a) A siflwmenrsl Lommith R1, R2 Seuml b) A, R1 &ifl R2 eum

d) A R1, R2 &ifl d) A, R1, R2 eumi

147. Choose the incorrect statement
. Electronics Corporation of Tamil Nadu was established in 1977
. A premier provider of hardware procurement and technical assistance to Government
departments
. Successfully implemented projects like TNSWAN, TNSDC, DRC, Cloud computing etc.
. 12 Information Technology Special Economic Zones have been created
SUMTET Fabmlaners C5THAS0H
1. sUlhBTEH WeTeorami Bl mieueorid 1977 6L BlMIeuULILIL L I
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ITH SIOMBEHSHES 6USTAUTHET QHTETINS QFWSHSH , QML L 2569 eupmkiGL
(LD G 60TEMLO W IT6OT ] Ml 6 60T LD
TNSWAN, TNSDC, DRC, @Qeuerl SDLIW GBI CUTerm GLLBIGmET QaummMlsrnms QFwWe LUBHSSH
GRS
12 &6u6L EMTHS QST BIL LW FmLiL] QUITIHETITSITIT LO6UITL 6V IS M6 2_(IH6eUITE S 2_6Tens

a) 1l b) 3 c) 4 d) 2

148. Assertion(A): In 1918, Chennai Labor Union, a trade union of India, was formed.
Reason 1(R1): In Chennai, P.B.Wadia, M. Singharavelan, Thiru. V. Ka . etc. tried to set up
labor unions.

Reason2(R2): Its first conference was held on May 1, 1921 in Mumbai, hence May 1 is
celebrated as Labor Day.

a) Assertion, Reason 1 is true Reason 2 is false

b) All statements are correct

c) All are false

d) Assertion is correct and Reasons are false

Fammi (A):1918 6L @B WMell6iT QSN FhIGLOMET Q& 6OTEn6T QGMTLNEUTETIT FMhIGSID 2 (HeUTSHSLILILL S,
&MTyewrin-1: Q&eTemeruiley L9.19.cumquim , L. FHBISGTTCe6V6T, H(H.61.5, CLIMETMUTHET QG TLSleumeTT
FEIGMEISM6T S eMLILIGH 6 (LpW M GLoMG & TevoTL6OTIT.

STIeUrD-2: @S6T (NS WLMHTEH 1921-60 Clo 160 (DLW BLBS S @H60r STTeromsEGeu G 1
QSTISlGUITETIT HTOME Q& MeroTLTLLILGSMmSI.

a) FaMm STyeord 1 &ifl STFesorid 2 Heauml

b) SHemeTSHSID FiflWmeTemel

<) S|ODTHSID Sl

d) Fammy Fifl SryevorLd @revor(hLd &6

149. Who is referred to in these statements?
1. She Conducted Siddananda Hospital in Chennai
. Organized Tamil Nadu Women's Conference in 1938
. Condemned the low wages paid to Tamil teachers.
. She gifted her house to the Karanthai Tamil Sangham
5. In 1951, prized the degree of Veerathamizhannai.
a) Muthulechmi Reddy b) Sivagami Amal c) Padmasini Ammal d) S. Darumambal
1. AGHMeTHS Mmeus H I FTemeuenl Q& eiTementudley /L& S weurt
2. 5IALPHTH GLI6TOTSHET LOMBITL6mL 193860 HL & w6t
3. s TAFIWITSEEHE S ULPMEIGSLILIGILD (&60M6UITET 26T H W &M G & 6007185 6IT.
4. 57Hs SO FRISSHSI&EG T Geusians Lflens eflsseurm
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5. 1951 6L efy& LAl LpeiTemenT LIL LD QUIMHMeEUTT
@ &ammmisefley GOILINLUILGUeUT Wmi?
a) (WSS & Qg b) Aleuasmidl ojbLomeT o) USLMH eofl YLDLDOMTET d) S. @GO LITET

150. Kalaingar Centenary Library
a) 2nd Floor - Tamil Literature Section
b) 3rd Floor - English books, Research Journal
c) 4th Floor - Competitive Exam Papers
d) 5th Floor - Electronic books
& 606V (6HIT BNMHMTeooT(h HITeL&LD
a) 2lb e - silh Brev L9fley
b) 3 1b emb - LRI BNV, QL TTLEFFR @b
c¢) 41b Sermd CUMLLY CHIT6Y BTV 6T
5 1b SeTD 1S etreoreml BeL LNfley
a d

1
1
1
1

151. Correct statement about Tamil Nadu parties

1. Even after change of name from justice Party to Dravidar Kazhagam by Periyar , the
Justice Party continued to function under its old name.

2. Panneerselvam was the leader of Justice Party after 1944

3. In 1958 Naam Tamilar Movement was started by C. Pa. Adithanar.

4. In 1959 Sudhandira Party was started in Tamil Nadu by K.M.Munshi and Rajaji.

sUUlpg &L F&6r umMiw FRlwmer sammleanersd C5THASH0

1. B8 &L aurfluryme GomeflLl &ps&h aer QUW LTHMWw KVNEGL FHSHLEF 56T UmPW
QuUWCuCW @ W RIS WSI.

2.19448 6 KM©E B8 &L A uller &eneueurT LIGTETITAF6U6ULD.

3. 1958 6L BIMD SLALPIT QW E S F,LIMT,ILBSHHETTITL QSMTLBISGLILLL SI.

4.1959 6L &FHHH T HLEF KM.weradl nmHmid @rrarglwm s s 56 QSTLESLD.

a) 1,3,4 b) 1,2,3,4 c) 1,2,4 d) 2,3,4

152. Which of the following are NOT among the books written by Vallalar
a) Chinmaya deepikai b) Olivilodukkam c) Arul nool d) Jeevakaarunya vilakkam
GUGITEMEUITIT TG W BTV 6fl6L VLTS Sl
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a) Perow GLlemss b) WA T(H& &0 C) S|([HET HBIT6V d) 86U&MHEvoT L (D& &L

153. Assertion(A): Tamil Nadu is an agricultural state. It has seven agro-climatic zones
Reason 1(R1): Tamil Nadu ranks first in the production of horticultural crops, banana and
coconut

Reason 2(R2): Tamil Nadu ranks second in pepper production and flowers and fruit
production

a) Assertion and R1, R2 are true b) All are wrong

c) Assertion True R1 True R2 False d) Assertion is false R1, R2 is true

Fami: HLOLNS&LD (5 GEUETIT6U0T LOMBI6ULD. @\MEIE (L CeUEITITEUIT &IT6VIHI6MEV LO6UOT L6V IS 6T 2_6Tern g
&mTyeuorid1(R1): GHMLLGS&Hemev LILAT, sumenlp, CHmISGM 2 MUGSGIUlleL SLIADBTEH (NS G)L&H6v 2 6Tengl
&Tyewrb2(R2): Wem@ 2 musHullaid LL&&6T Lpms6ar 2. musSuilan SOl HIrGEH @) TeorLmd @)L &5 6v
2_eiTengl

a) Famm oMM R1, R2 &ifl b) SeMETSSILD Heum

o) Famm &Fifl R1 &ifl R2 Heum! d) Famml Heumi R1, R2 &ifl

154. Correct statement about Padmasini Ammal

1. Participated in Kaveri Yatra

2. She sold her jewelery and financed Somayarajulu's protest against the removal of the Neel
statue

3. Krishnammal, who started the Sisters Association, helped them

4. She told us to fight by making Kadhar itself as a weapon

ugLmF evfl bwomeTr LummMw sFiflwmerr samnleners G HA S0

1. smCeurfl W ymailel LIBICHMHMTT

2. B FPemev YHEHMID CUITTLLSH 6 CFMUOWITE N &GS H60TE HeansEeamer afllmm BIGwsel
Sieflg sy

3. 5CGaN5 &6 FRIGSIL QFSTLBIS W G (HEEUTDLOTET @)6UTsE55HE 286y

4. 50ICW WSO SLER L CUTTTLF Q& MeiTeoTeu

a) 1,2,3,4 b) 1,2,4 c) 2,3,4 d) 1,3,4

155. Assertion(A): Tamil Nadu Chief Minister D. Prakasam is the first to celebrate India's
First Independence Day

Reason 1(R1): The Madras Devadasis Act was passed in 1947

Reason 2(R2): He was the last Chief Minister of Tamil Nadu from Congress party who set up
the Madras Small Industries Association

a) All statements are True b) All statements are False

c) Assertion is True R1, R2 is False d) Assertion is False R1, R2 is True
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Fammi(A): @HBWmelledr WWHL HSHHT Hersensd Q&GmevorLmqweuy SWps (WS eeud 1g. LKNISTEFD
Sy6UMy
&Tyeuorid 1 (R1): QUOLIMev CHaUFSTHF&G6T FLLLD 1947-@\6L BlemmGaumMmUILILL I
&MTyeworid 2(R2): QULImev M QsTHlL HPHEHMS IMNGS STRIABFHV SLAWET Sl slps
W geveury
a) QTS SID Fifl b) SHeMEOTHSID GHeum
) Fammi Fifl HTFevorld Grevor(hLd &euml d) FaMHmI HeUMI SHTFeTOTLD G Tevor(hLd &FIf]

156. Assertion(A): The Dravida Munnetra Kazhagam came to power for the first time in
1967, winning 138 seats

Reason 1(R1l): In 1967, Anna decided to change the name of Tamil Nadu for which
Shankaralingan had fasted.

Reason 2(R2): "Neerarung Kadaluduttha" written by Manonmaniyam P. Sundaranar, which
was approved as a Tamil Thai Vaalthu by Anna.

a) Statement, R1 is true and R2 is false b) All are wrong

c) Statement, R2 is true, R1 is false d) Both are correct

FammI(A): FymeilL (eTCTMM SHLNGLID 1967@) 6L 138 @)L MIGH6M6ET QleU6ITMI (NG6V (NEMMHWTEH L FlemwiLll
9558

&Tyeuorid 1(R1): &G Fed k& 6T T 2_6vorevor TeSlISLD @) (B CeueuorTiqw SLWLBTH QUWT ImMHMLD 1967@)60
| 6UOT6UOTIT B{6UITSETITV G ITLOMEUTLONS G\ & Mevor(h) eUFLILIL L I

&Tyewrid 2(R2): LOGEUTTEITN6uuI WL QU S&BSTerTT qWHW "Brmmh SLYIGSS" LML SWOLhES Tl
UMD &G TEH |6UITEUOTIT 3| 6UTEETITV BlemmMGeummLILILL I

a) SaMmml, R1 &Fifl LDHMID R2 SHeumi b) S|eMETHSID Seum

) &xmml, R2 &1fl, R1 eum d) @uesor(RID &Fifl

157. Assortion(A): He served as Minister of Education and Excise in P. Subbarayan's
Government

Reasonl(R1): Communal G.O introduced MSNO 1021 in 1921

Reason2(R2): S. Muthiah Mudaliar is known as the father of communal representation in
Tamil Nadu

a) A,R2 are true and R1 is false b) All are correct

c) A,R1,R2 are all false d) R1,R2 are true and A is false

Fammi(A): K.&LLgmwenileT oFF6v &evefl LMMILD &6VITEL FHIeMM S|6MIDFEFTTE LI Lieuoflw b nileor iy
SmyevoTLo1(R1): 1921 @) 6L SO WL,60T6L G.O MSNO 1021 &3 MW SELILH S H 6Ty

&Myewrin2(R2): suWlps eauluyeunyl WrSBSHssiusHear Hhengd 66T IJp&SELUILGLUT
6T6N. (LN SH6M S WIT (NGO WITIF

a) AR2 2_euoTemLn LDMHMILD R1 SeUmMTeTen el b) SiemeTSSID Fifl

¢) AR1,R2 9|em60TS &I HeUml d) R1,R2 2_600TemLD LOMMILD A S6UMTETS
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158. Assertion(A): Tourism plays an important role in providing employment opportunities
and earning foreign exchange.

Reason 1(R1):Tamil Nadu has released Tourism Policy 2023

Reason 2(R2): Tourism should contribute at least 12% of the state's GDP annually.

Reason 3(R3): Need to increase 3 Lakhs workforce skill development.

a) All are correct b) A,R2 are true and R1,R3 is false

c) A,R1,R2,R3 are all false d) R1,R2,r3are true and A is false

Famhmi(A): Geuemev euITUILIL] eupMIGaB I HEIW QFeueumenl FL QoS ailb &HmeTsSenm WeS W
LIS USSR mSI.

&Tyevord 1(R1): SWAPHIGH SHMIEVTSH Q& TeTeng 2023 2 Qeuefludl_ B 6iTemgl.

&mTyewrid 2(R2): U(BLLD WOMEHleV QLTSS 2 6THTLR 2MHUSHUNGD GomHss 12% SHHMIET LKSefles
Geuetor(HLD.

&Tyewrid 3(R3): 3 VL& QG MSleumeTT HMeir CUML 6L 5 &6 Geusvor(®LD.

a) eMeTHSIN Fifl b) A, R2 2_euoTemLn LDMHMILD R1,R3 H6UMITETEm6

¢) AR1,R2,R3 9|6Mm6T&HSID H6UM d) R1,R2,R3 2_600TemLD LDMMILD A UM TETS

159. Assertion(A): Tamil Nadu Social Welfare Board was started in 1954 to help the
advancement of women and children

Reason (R): It Promotes NGOs and has 30 members

a) A,R are true and R is correct explanation of A

b) A,R are true and R is not the correct explanation of A

c) A true R false

d) R are true and A is false

Fgabm (A): W& LMD GRHengselfler (NOTCOTHMSHMEG 2-Faylb QUTBLEH 1954 LD y,600T(H
SUILBTEH Fens Hev aumflwb QSTLESID

&Tyeuorid (R): 30 2 MILILN6uT 78 6T Q18 TeuoT(h 6TET S &60TEUTITIT6U Q& MTeuoT(h B MI6U6UTIEIS 6m6ET 268 (S e &&H M Sl.
a) AR 2_euoTemLn LDMMILD R eTadTLIG! A ellm & meor &Fiflwimest edlemgs&h

b) AR 2_etoTemn LoMMILD R eTedTLIG A el &smeor &Fiflwimeor elemd: LD @) 6vemey

c) A 2_6ooTemLD LDMHMILD R HeU M)

d) R 2_evoTemLn LDMMILD A Seumi

160. Match the following

Rivers Tributaries
Thamirabharani 1. Chinnar
Vaikai 2. Newa river
Cauvery 3. Kadana River

Palaru 4. Upparu
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Amaravati - 5.Varaha river
S 018 6T S1601600T 34, M

&l iy Liyevor] 1. FedreoTTMI
MU 2.15 eum oM
smaill 3. &L6UTIT S
Lmeumm 4. 2 UM
S|yras 5. uMs HH
a b ¢ e

3 1 2

3 1 5

3 1 4

3 1 2

161. The HDI function in each evolution is calculated by which of the following methods?
a) Evolution index = (Actual value - Minimum value) / (Maximum value - Minimum value)

b) Evolution Index = (Max Value - Min Value) / ( Actual Value - Min Value)

c) Evolution index = (Maximum value - Actual value ) / (Actual value — Minimum value)

d) Evolution index = (Actual value - Minimum value) / (Maximum value - Actual value)

@6elQeuryp LNfleoormng Hlevilh HDI Q& W6euLIMBH & 6T GLh &8 600TL 6TLD (L emmUuiley & 6ooTs S L LILIG S mSi1?

a) Liflesormin GMIUT®) = (2_eooTemLD IOGIL] - GOMBSLILF HLIL]) /( ABSLLEF IDHIL] - GenmbSLILFLD InGLIL])
b) uflesormo GOIUTEH = (SIBGULEF DHIIL - GOMBSLULE IDHLIL) / ( 2_6soremln GHLIL] - GeMBSLUL S IGLIL])
o) uflevormio GOIUTH = (B &LLEF GLIL| - 2_eooTemLn IDHILIL] ) / (2_6v0Tem D LDHIIL] - GemMBHSLLFLD HLILY)

d) uflesormo GMOIUTEH = (2_stoTemLD OGHILIL] - GOMBSLILF IDHLILY) / ( SIHSLLF I0FLIL] - 2_6voTemLn IDHLIL])

162. Which statement is correct?
. Establishment of Slum Replacement Board in 1970
. Introduction of Rural Electrification Scheme in 1969
. Beggar Rehabilitation Scheme 1971
. Passage of the first resolution for state autonomy 1971
. Housing and Development Corporation 1975
Frflumer gabml 615l
1. 1970 Sy1b 2600 G960&F LTMHM urFlwid 3|60 g 560
2. 1969 @\6L ST ST LWINMESE S LD S|MpssLD
3. NFemFs&TIT MIeUTHey GLLLh 1971
4. I0MHB6VL &6TEUTITL &\ & &TeuT (NG 6V BIFLomeorid 1971
5.0 euFS) WMHmIb CWLUTL® &Lp&Lh 1975
a)1,2,3 b) 2,3,4,5 c) 3,4,5 d)1,2,3,4
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163. Choose incorrect statement

1. The Tamil Nadu Police Commission was constituted in 1969

2. The fourth commission was constituted under the chairmanship of a retired judge of the
Madras High Court

3. This is the second time that a judge is heading the Police Commission

4. Justice CD Selvam is the Chairman of the Fifth Police Commission

Seumer samnleners C5THOSM0

1. OID BT &ITEU6L ILEM6ToT LD 1969@)6L MG S LILILL SI

2. BIT&HEMeUS SLemeTwild uley QUMM QFeremerr 2 wWIHHWeTM FBFHUG Fensvemouden
SIS SLILLL I

3. BHIT6U6L IYLEMETITLSH MG HH LS Hemevenln SITHIG6uUS @) 8 @) [F60TLTeUSl (LNemM

4. 5SS & 19 QFLQID BHSMTEUG HTEU IL,6M6UUTL S B) 60T &6016V6U T

a)l, 2,3 b) 3,4 c) 2,3 d) 1,4

164. Which of the following indicators were stated by Biswajeet Guha to widen the scope of
Human Development Index?

I. Quality of life II. Poverty Eradication III. Urbanisation

a) I and II only b) II and III only c) I and III only d) All the above
werflgeaier CLUTL (& GMWIUIL 1960 CHTHE&ESmS allflajuBSS ‘Leveumsss Gamm’ 6redTm QLITIH6TTSITY
Ml eI mev (WeTALMEAWLILLL GM&TLLY.856T eTemel.

l. UM SHM&ES STLD Il. umiemin eLAILILY lll. BSFLOWIDME 6

a) | oMo 1l oL (B b) Il nmmiLd 1l Il (R o | inmHmid I I Gl d) GLOM&H600TL. | 60)60TSH HILD

165. Who among of the following are the beneficiaries under Sathiyavanimuthu Ammaiyar
Ninaivu Free Supply of Sewing Machine Scheme?

I. Widows II. Deserted women

III.Women from economically weaker sections IV. Transgender

a) [ and IV only b) I, I and III only c) II and IV only d) I, II and IV only
F5HWeumenl (NG Sl | LDeMOWITT Blemere] @ 6valsF enG 6L @WHH TS S L LGS 6ot Liweormerflager wimy?

I. el em6uss6iT

Il. &L ILIL L QLI6U0TS 6T

. Qum@erms My FH WM Levefarwmer LNfleysenend C&FIHS G LI6UITS 6T

IV. B(HHHEIenS
a) | oo IV DGl b) I, Il nmoyd 1 (LD o Il oo IV o ()b d) |, Il oo IV Il (HLd

166. Consider the following statements regarding the Manarkeni app:

1. It is an initiative of the Tamil Nadu School Education Department.
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2. The app provides educational videos only in the Tamil language.
3. SCERT is responsible for creating the video content for this app.
4. It is designed to enhance conceptual learning and critical thinking among students.
Which of the above statements are correct?
a) 1 and 2 only b) 1, 3, and 4 only ¢) 2 and 3 only d1,2,3,and 4
Lo6voT(H G5 6uull QFWES QG MLTLIMeor L6iTau(BLD Sa M MIS606TE & 6L 60T UM 6iT:
@& BTG Uetes sevalld Siemmuilesr (LeoT(p W MmN WMESLD.
@hs QsFwed sl AmPluiéy GG &l FriHe 6l GUITE 8 eme6rT 6ULDMIE S M Sl.
@\hS LWeTUTL L9 M&mer aflqCWIT 2 6TeaTL &5 56M5 2 (HeUMTsGLD QUTMILIL] MFEleus sevalluliwev
SLIMWER 1mHmib WM BlmieueToMGLD.
@)\ LnmeoTeu TS 6rflenL G & (HS5 S W6V HMHM6L LM MID eNlnFFer FhSemerenwl CLWLLIG &S
ULG6UEMLD G & LILIL (H 6TerTSl.
GLOG6v 2 6iTel FaMmiserflev eTgl &Fiflwimeorg?

a) 1 lnmmILd 2 Ll (HLD b) 1,3 LoMMID 4 10 (HILD ¢) 2 IoMmMID 3 I (HILD d) 1,2 3 wmHmid 4

167. Consider the following statements regarding Geographical Indications (GI) in India
and Tamil Nadu:

1. A Geographical Indication (GI) tag is an intellectual property right granted under the
Geographical Indications of Goods (Registration and Protection) Act, 1999 in India.

2. As of April 30, 2025, Tamil Nadu holds the highest number of GI tags in India, followed
by Uttar Pradesh.

3. The Darjeeling Tea was the first product in India to receive a GI tag.

4. Once a product receives a GI tag, the registration is valid for an indefinite period and
does not require renewal.
Which of the above statements are correct?

a) 1, 2, and 3 only b) 1, 3, and 4 only c) 1 and 3 only d) All The Above
@b wmalsiid SEhBILIgan Lellery GMu@ &6r Qg mLyumer L eTeubLD &aM mMI&emne6Td:

8561 6071 U 161 &5 61T:

1. yellemy &MIui® aearug @BHwmeiley QumpLaserflear Lalulweé GMIuiG &6T (LS ey mmib
UMSISMLUL]) FLL LD, 1999 @\60r GLp auprsLILG L leysFTy QFTssIflenn LG .

2. gL1F6L 30, 2025 MBleveuLiLLg, @ HH W mellev 9B & erevoTevnrl s emas ulleumenr Gl GMIEQEFETM&m6T HLALNSLD
Q& TUIT(H 6TeNSI, MBS QSTLIHSE 2 55TNTCHEFD 2 6iTeg.

3. Lmrledii G uilemev @BHWmellev LellFmy &mMlui® QUMM PSH6L WL 9LGLWD.
4. @@ swriflliy yellemy gmMiufienL I QUMM L 65T, SILILG 6 &TeveuemnFwmm STeuSH MG
QFLNILIGWITEGSLD MM 9emg LSILLNNGESHS Cgeneuuilcuemev.

CGLOG6v 2 6iTelm Fa MG 6rflev a1l Fiflwimeorgi?

a) 1,2 lnmoib 3 oL (LD b) 1, 3 LDMHMILD 4 oL (HILD o) 1 wmmih 3 R d) GLMFaNIW {60601 SID
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168. Which of the following correctly describes the role and composition of the District
Development Coordination and Monitoring Committee (DISHA)?
1. The District Collector serves as the chairperson to ensure the proper implementation
of centrally sponsored schemes (CSS).
. The committee is responsible for monitoring schemes such as PM Awas Yojana,
MGNREGA, and Jal Jeevan Mission at the district level.
. DISHA meetings must be conducted quarterly, and all elected representatives,
including MLAs and Panchayat leaders, are members.
. The Union Minister of Rural Development directly oversees and chairs all DISHA
meetings at the national level.
Select the correct answer using the codes below:
a) 1 and 2 only b) 2 and 3 only c) 1, 2, and 4 only d) 2, 3, and 4 only
L9l 6dT6u (IH 6U 6OTEUM NI 6V 6TSI LOMEUL_ L 6UETITEFF 6 (15 MG 6m6voT LIL| LM MILD & 600T85 Tevor 11L& (& (W edledr (DISHA)
LI mmih sjenwnlienu eflwns efleurflse mas?
1. WEHEHW THF QUTMNLICLMEGLD B LMBIGET (NenMWITS QFWOLGSSLILGMLMS 2 MG Q&FIw
LrallL oL AWl Semnevaurns QEFwWeL@GSRmT.
KoswF SL6umerv Gumgetm, MGNREGA LoMmILh g26L gBeuett 1l6g.60r GLIMeITM B L EIS&6m6T LOMmeuL L
SlemeiléL &evoT& Mol ILILS MG @)HS & W QUITMILILIMEGLD.
B OQIT Sal L MISGET SHTVITTIT(H &G 6@ (H(LN6MM HL&SLILIL. Coueoor(hLD, GLOSYILD 6TLD.6T6V.6] & & 6T L0 MH mILh
LEHFTWS S &em6evalT&H6T 2L LIL 9eners s C5THasS0\&sLULLL LNTSHBIS&EsW0n 2 ML arTserTs
2_6IT6ImeuTIy.
4. WHHW a1y CLLUTL(H JMWLEFT CHFW eaTallél 3|6M6TH S HOQIT Fal LHBIGMETW LD CHIFQWITS
CuHUTFmauUIG&E M LMMID &6M6VENLD &THEIGH MTIT.
ECLp 2 6itemr GMIUTHIGHemeTLI LwWeTL® S S Frflwmer LG emevs CH TS H &6 LD:
a) 1 lnmmiLd 2 L (HLD b) 2 LnMmMmIth 3 DG o 1,2 mmib 4 0 GHID d) 2, 3 inmmild 4 oL (HILD

169. Who among the following is eligible to avail the benefits of the "Kaakum Karangal"
Scheme?

1. Retired paramilitary personnel

2. Dependents of deceased soldiers

3. Organizations recognized by the Ex-Servicemen Welfare Board

4. Civilians affected by war

Select the correct answer using the codes given below:

a) 1, 2, and 3 only b) 2 and 3 only c) 1 and 4 only d1,2,3,and 4
"G GLD HIMRGET" HLL 5560 LIeVeirsGemerL] Qum LI etTeuhLIeuFsserflev WM &G S WImeoTeu?

1. @Wley QUMM Flemevor FTEvIEUL] LiemLuSleory

2. QMHS Frevieu iy IHemend FTTHCHTT
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3. (peiTeuT et LemLaST T Hev eumflwg S mev MBS &F&&LILLL 3|6mL0LIL| 86T

4. GumfleormeL UM H&LILILL QLTSO8 &6lT

GG AsmH&EsUULR 6T GMuihseneTl LwWeTU®GSS) Frlwmer LG C5ITHAS®H & &ea]Lh:

a) 1,2 nMMID 3 L (LD b) 2 LnmMIh 3 LB o) 1 Wmmib 4 LG d)1,2 3 wmhmib 4

170. Consider the following statements about PM-JANMAN:
. It is India’s first scheme exclusively for Particularly Vulnerable Tribal Groups (PVTGs).
. The scheme focuses on PVTGs residing in both forest and non-forest areas.
. Funds for PM-JANMAN are entirely provided by the central government, with no state
contribution.
Which of the above statements are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2,and 3
PM-JANMAN Lmnlw LSletTeuhLd N8 60886068 & 61 601 UL M6 85 61T:
1. @& GOUUTS UTH&ESLLLSSIQW LIPEIGL (D885 E5858MSH (PVTGs) @) b5 wimell6ir (D& 6v
S LIOmMGLD.
@55 L LD 6u6uTID LOMMILD EUEITLD S{EVVITS LG B & 6rfleL euB & (G510 PVTGE & 6m6T enLDWLOITS S
Q& TevoT(h 6TETS 1.
3. PM-JANMAN &&[Teur 518 (pHMisviid LSS W ST&FMeL eupmISLUILG&MSI, IMBlev LmSGeflLL @ 6enev.
CLOG6v 2 6iTelm Fa MG 6rflev eTgl FiflWimergi?

a) 1 LmMILD 2 L (HILD b) 2 LnmMILh 3 L (BILD o) 1 mmib 3 LD d) 1,2 ommi 3

171. Which statement about SEBI’s new chairman is correct?

a) Tuhin Kanta Pandey aims to implement maximum regulation in the securities market.
b) He has no prior experience in public asset management.

c) He was appointed SEBI Chairman in January 2025.

d) He previously managed strategic disinvestments like LIC and Air India.

QFWleT S W semeveuT LMMIW 6THS Samm Fiflmers?

a) SlanleT &MHST LIMerGL LISHT FHensullel SIHGLLF kG Wammell QFWaLI(H S S almns
CBMHEHINMEHS 6\&TeoT(HGTETTI.

b) SEUBSHG QLTS QFTHS BIFeUTHSH60 (LN6T S eILIAILD G)6Ven V.

c) leuy Leralfl 2025 @ 6v SEBI H6m6u6auJ s BluLdl&a UL LT,

d) 9jauly (6DTL 6T6V.82.8) LoMMILD ¢ T @S WM GLIMETm eLnGeVTLIML (LN&H6eSHIGeneT BITaUR G STH.

172. Consider the following statements regarding the PM Internship Scheme 2025:
1. The scheme offers a 12-month paid internship to youth aged 21-24 years.
2. Selected interns receive a monthly stipend of 35,000 along with a one-time grant of

8,000.
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3. Applicants from premier institutions (such as IITs, IIMs, and National Law Universities)
are encouraged to apply.

Which of the above statements is/are incorrect?

a) 1 and 2 only b) 2 only c) 2 and 3 only d) None Of the above

PM @ eTLFeoradll) S LD 2025 QG ML TLUTeT LI 6tTeu(HLD 3|8 60188606118 & 6L 60T L M1 & 61T:

1. Qh55 G LD 21-24 eUW SI60L L G)6M6ITEH TS EHSE 12 DTS 20 FH) WS FIL 60T FalqWl @) 60rLFeoradliemL

ULPMEIGH M.

2.CaIHOsSM&ESULLL LUNHANWMTTSHEHE S LMSTHHT 2561560 5 Temns W ms 5,000 LDMHMID @H (WHemMm

omeoflwib 8,000 eupmISLILIGS MSI.

3. BVVIY&ET, BWVETIDSGET LMMILD CHENW FLLLI LI6VS 601608 8L & MBI G 6T GLITEITM (LD 60T60T600T |

Bl mi6u 6o 1 & 61fl 60T 69 600T6UOT LILIS T TS 61T 619l 6v0T600T LILI & 8 26185 (5 61 & 8 LILI(H) &\ 1 IT T 55 61T.

CLOM&600TL. 3| N 860 8561Tl6L eTEM6U & 6U M TEUTEm6U?

a) 1 nmmILd 2 Ll (HLD b) 2 I0L_(h\LD ¢) 2 IoMmMID 3 I GILD d) GLM&evorL 61516 L0l606DI6V

173. Which of the following constitutional provisions in India are conceptually aligned
with international collaboration in peaceful space exploration?

1. Article 51: Promotion of international peace and security

2. Article 51A(h): Development of scientific temper and spirit of inquiry

3. Article 253: Parliament’s power to implement international agreements

Choose the correct answer:

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d) All of the above
@ HH wWmellev LNeTeuBd TF WevenloliL] NG &erlev 6151 S emwBGwimenr allevor@euer] oy uieflév FFauUCHSF
@5 SI60PLILIL 6T &(HS T WL FHWTSH @&HSILICLTHMS?

1. 5055 51: FFuCHEF JennG) LMHMID LIMGSTUemU CLIbLIB S 51560

2. 5758 51A(h): 2MeTWev Ln6eoTLILIMETemLD oM MILD 681& TIT6m600T L0 60T LILITEOTEm L0 60 U EITIT LILI Sl

3. 5581 253: FTeUGHF @LILIM S M &6M6T QFWLIGH &S LTI ITERL6TM S S 60r oS &My

Frflumer LHemevs CHTQFILS:

a) 1 LmMILD 2 L (HILD b) 2 LbMMID 3 WL GILD ¢) 1 wmmilh 3 LD d) GLDB6V 2_6ITET I|6M60TSHSILD

174. How does the INS Guldar project align with sustainable development goals (SDGs)?
1. Supports SDG 14 (Life Below Water) by fostering marine biodiversity through artificial
reefs.
. Promotes SDG 8 (Decent Work and Economic Growth) through eco-tourism
employment.
. Undermines SDG 12 (Responsible Consumption and Production) by using

decommissioned materials underwater.
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4. Encourages SDG 13 (Climate Action) by reducing carbon emissions from naval
operations.

Choose the correct answer:

a) 1 and 2 only b) 1, 2 and 4 only c) 1 and 4 only d) 1, 2 and 3 only

INM &6 MJ HLLLD Hlem6uWITeT 6UeTTEF §)6V8 (&8 EBL60T (SDG) eTeueuUMTM & SILICLTH MI?

1. QFWMHEMSLI LITEmME 6T eLp6eulh &L 6V Lisusyudiiflwemev euemLiLIg 60T elpeuld eteivlg el 14 (B & &8 SCLp

UMHEE) B A5T1SEH DS

2. HHMIFGLP6V &MHMIEVT GauemeveumlLiL] eLp6uLd eTerulq.gdl 8 (8 600T6uuTl WD T6oT GeUemev LM MILD

QUITIHETTSITT 6UeTTER) & 2018 &N &R M SI.

3. B & sIqUI6L @@BHSI HEHELILLL QLITIHL&6m6TL] LI 6T L[ & S51618 60T CLN6VLD 6T6rulq.e3l 12 (QLITmILILITeT

BISTe| LHOID 2 MUSS) 88 GODLHIKNNG 2 LUGSSIRDSI.

4. BLMLIENL HL6ULYEmE & 6Tlev @ (BH S &TTL6T QeueflCUMME & (&6emmLILIS 60T eLpeuLh eTerulg.edl 13

(SMeVBleMev HL6ULYE M) B 2618 &N SR MSI.

giflumer LS emevs CH T QFILS:

a) 1 lnmmILd 2 L (HLD b) 1,2 nmMILD 4 DL (HLD ¢ 1wmmih 4 DG d) 1,2 nmmib 3 oL (HID

175. Which of the following statements about the new museums announced in Tamil Nadu

is/are correct?

1. The 'Noyyal Museum' is being established in Erode district with an allocation of 322
crore.

. The 'Naavaai Museum' will be located in Ramanathapuram district with a budget of 321

crore.

3. The 'Indus Valley Cultural Gallery' is being set up at the Keeladi Museum.

Select the correct answer using the codes given below:

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3

SUILBITLIg60 SMaflEsUUL L SHW SRS TLAWwWskEIg6r Lmmiw LNeTe(pld dammiserfle ergi

Frflumeorg?

1.'QBMUWE BRISGTLAWSL' FCIm@p LTIl LEH 6 T22 GaHMY @S5G 1960 BlniauliLGSmsl.

2.'BHITEUM QHRISTLAIWSID FTOBTSL T LIQLLSSH 6 321 Ga ML LILARL 1960 3 6mou]LD.

3. By SIBRISTLAWSSSH O 'Fhgl FuQai6l HSuMTFFTT STLAWSLD' emns&EsLUIUGRMSI.

GG Aam@ssLIULB6reT GMuiGsener LWeaTU®O S S Frlwmear LGlemavs G5 HG S5 M & &6 LD:

a) 1 LMmIb 2 oL BHID b) 2 LbMMILD 3 L (LD ¢ 1 LmmIb 3 WL (LD d) 1,2, Lopmild 3

176. The exterior angle of a triangle is 120° and one of its interior opposite angle is 58° then
the other opposite interior angle is ?
@0 N&HCHTEISH T QeueflliLyms C&mevorid 120° WMHMID HHT 2. LM THF&H GCa&HMeuorid 58° erevilev,

LOHRAMT®H TH T 2G5 MeuoTLh?
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a) 62° b) 72° c) 78° d) 68°

177. A person has Rs. 960 in denominations of Rs. 1, Rs. 5 and Rs. 10 notes. The number

of notes in each denomination is equal. The total number of notes is (in each
denomination)

6 (% BUIFILLD emp. 960 LG LIL|6ITEIT erp.1, eh.5 oM MILD erh. 10 CIHITL(H) & 61T 2_6T6meor. 626UG eUIT(H LG LILNeyiLh 2_éiTerm
CHIL(sefler ercioTeunll&ems &FlOWD. QMG CHITLH&6Tl6rT eTevoTeovll&Hems (U 6UT(H LS LI syiih)
6Teu G GITEY

a) 55 b) 60 c) 50 d) 70

178. A mobile vendor has 22 items, some are pencils and others are pens. Pencils are sold
for Rs. 15 each and pens are sold at Rs. 20 each. If the total sale amount with the vendor is
Rs. 380, how many pencils did he sell?

@@ BLIOMGLWL eflmuenerwmenflLd 22 QUTIBLSGET 2 6Temer. eummley Flev QUETFILSHET 2 6iTeTenT
LMHMeneu CLIGTITESHET. QLIETTILSEET 15 eHLIMILE GLD, CL6ETMEHG&6T 20 epLUIMLS G M & L1L[H S eormeur.
aflmueneTwmerfledr QLTSS aflMHLIEMETS Q& Tems €. 380 eTeufleL, 3jeul eflhM QLT TV 6IT 615 S 6M60T?

a) 10 b) 12 c) 14 d) 15

179. The unit digit of the numeric expression: 11420+ 11521 + 11622 is
1142 + 1152 + 11622 6T6OT LI 60T EOTMITID @)6VE LD & T60TS.
a) 6 b) 5 c) 7 d) 4

180. A certain sum of money is invested at a compound interest rate that varies year by
year. In the first year, the rate is 5%, in the second year it is 10%, and in the third year it
is 20%. If the compound interest earned at the end of 3 years is Rs.3,310, then the initial
sum invested was:

@ GMULILL QTS 3L600T(H &G 4,650T(H LTNILGLW Fal® el Ly SH5E5B 6 N&HSH
QEWWULGSRMSI. NS0 4,600TIq.60 UL Lg NGRSO 5%, &) [F600TLTeUSI SI,600TL.6V 10% LM MILD ELOESTMITEU &)
94,600T19.6V 20% 4G 1D. 3 9600T(H & 6T (WIgeT6L QUMLILILL Fal(® 6uL_Lg 3,310 948 @)\ (HHSTEV, S TIDLIS S 6V
WSO QEFEWWLILILL Q&ITeNd 6Te0Ter?

a) Rs.10,000 b) Rs.12,000 ¢) Rs.15,000 d) Rs.20,000

181. In certain code language EFFICIENT is related to 644737651, SCIENCE is related to

2376536, then EINSTEIN is

MWL Qumblserfléu EFFICIENT eTedTLISI 644737651 2. L 6T Q& TLITLemL W S, SCIENCE 6T60TLI S 2376536

2 L6 Qe MLL6emL S 6Tevil6L EINSTEIN 6T60TLIS!

a) 67521675 b)65721675 c) 67512675 d) 67526175
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182. Read the following statements:

1. Either A and B are of the same age or A is older than B

2. Either C and D are of the same age or D is older than C

3. B is older than C

Which one of the conclusions can be drawn from the above statements?

a) A is older than C b) D is older than C

c) A is older than B d) B and D are of the same age
L 6dTeU(BLD FnM MIG 66T &6U6uT8 5

1. A-WLD B-WLh FLOEUW GIEOLWITSHET 3|6V6v 8l A SL60Teul] B-2 el Quiflweury

2. C-WLb D-WLb FLOEIW IO WEUTSH6T 3j6Leugl D oy eoreulf C- el Quflweury

3. B 9yeoreul C-23 el Quflweury

GGV 2_6iT6T FaM MG 6eTleS (& HITD SMTEDILD GIFLOMETD WTSI?

a) A gpeoraly C-83 el Quflweud b) D Qeotauy C-83 oL L1 Quflweuy

c) A peoteuly B-83 el L1 Quirfluleury d) B-UWJLD D-WJLD &FLOGUUISIE0)L_LI6UTSH6IT

183. In an examination, Ravi scores 4 marks for every correct answer and loses one mark
for every wrong answer. If he answers 60 questions in all and gets 150 marks, find the
number of questions he answered correctly ?

a) 48 b) 38 c) 42 d) none of these
@@ Caralley, el eu@eurmp FilmeT LH GG 4 LB LICLIGTUTSET QUMISBMTT, 6UQ6eUTIH & 6uMmITer
LUBEEGWL @@ LG LIGLIEITa6 @L&EHMTT. Sjauf QLMsSD 60 allerms:sEnsE allanLwerflgg 150
LG LIQLIEUITS 6T QLUMMITEL, Sj6ulf Fiflwums eflenLwellss Caereilserledr 6Tevoreuulldhen & enl & &6voT(HLILS.

a) 48 b) 38 c) 42 d) @emeu g&ifleveney

184. The cost price of 11 pens is equal to the selling price of 10 pens. Find the loss or gain
percent.

a) 10% loss b) 10% profit c) 12% loss d) 12% profit

11 Cuenrma SGerfledt LG8 eflemev 10 CUeTmESefledr afllMmUemer aflemeud; & FLOWD 6TeufleL HLL LD 6LV
UITL &5685 56058 &ITe00Ts:.

a) 10% BLL LD b) 10% @e6vITLILD ) 12% BLL LD d) 12% @euITLILD

185. A shop keeper marked the price of an article as 15% more on its cost price and then
offered 15% reduction for the article, then he got

a) Profit b) Loss c) Neither profit nor loss d) Profit and loss
@B HOLGSTTT e QLUTIH6edr eflemevemnl 95 60T LG8 eflemeuudleL 15% B\ &LD 6T6dT M &M\ & HI6TerTTIT,
LetTeoTy UHSLI QUITIHEHSHE 15% SH6TE@HLILG. 6ULPBIGUTITIT 6TeufleL 3j6uly QUIMHMSI

a) 6UITLILD b) BLLLD ¢) @6eumLIGLOM HLL GO @6Vemev d) @evmLILD LDMMILD BLL LD
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186. The average of five numbers is 20. If we eliminate one number from it, the average will

be reduced by 5. What is the number eliminated?

2H Gl erevorserfleor FrmaFil 20 9L,GW. erenm HHEG LT T SGBHE FrmFflums 5 Gammuld. 6ahHs
erevor BEHBLILILL &I?

a) 5 b) 40 c) 20 d) 15

187. The curved surface area of a right circular cylinder whose radius is ‘a’ units and height
‘b’ units is?

a) ma2b sq. Units b) 2nab sq. Units ¢) 21t sq. Units d) 2 sq. Units
@0 QFHRIGSHS eIl L 2 (penemuiledT LD a JVGSSHET WMMID 2. WJD b JUGSHET ereollel 56T
eUEMEITLITLIL] 6T60TLISI

a) na’b FHIT 6VGHSH6T b) 2nab FHIT VG SH6IT Q) 2n FST VGSSH6T d)2 FSIT VG SH6T

188. The capacity of a tank of dimension (8m x 6m x 2.5m)?

a) 120000 litres b) 100000 litres c) 50000 litres d) 80000 litres
(8mx6mx 2.5 m) LIFILOMetOTLD Q& MevoTL. Q& TLLq.Ufl6dT Q& meiTeTemey ?

a) 120000 eSL_LIJ b) 100000 6SIL_L_If ) 50000 e0L_LI d) 80000 eSIL_L_I

189. In a cylinder, if radius is doubled and height is halved then what happens to the Curved
Surface Area?

a) Halved b) Doubled c) Does not change d) Four times

@@ 2 (HemeTulléy, QLD G WLMBSTSHWD, 2 WL UTHWTSHD G UBHSTV eueneThHs GMmLITLiL]
LGB & eTetTeur BlHBL&EMSI?

a) UMTHWTS GmmaaLILLL gl b) @ULIQ LILUMG&SLILILL g

) DTS d) BTeTS (Lemm

190. The curved surface area of a right circular cylinder of radius 1 cm and height 1 cm is
equal to?

1 Q&FIS 9T Q&ML QFRIGHS Ul L 2 (Hhememulledr 2 WD 1 QF. 1. & &LOW T6TMITEL 3|5 60T
QUemeTLITLIL]?

a) It cm? b) 2t cm? c) 3t cm? d) 2 cm?

191. Weekly income of two persons are in the ratio of 7:3 and their weekly expenses are in
the ratio of 5:2. If each of them saves 300 per week, then the weekly income of the first

person is
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@reor@l) HUTSEEEMLW UMY 6U@BLOMETd 7:3 efeorm NSRS HS D, aumy Q&Feuelleorth 5:2 eT6dTm

NG 55T eVID 2 6TeTe. S6UT&H6T @ UHeUIHGCLD UITTLD eHLIMUI 300 CFLI &G TM6UTIT ET6OTMITEL (LN &6V [ LINfl6oT
6UITIT 6U(HLOITEOTLD 6T6M QUETEY?
a) X7,500 b) 4,500 c) 36,300 d) 25,400

192. A father said to his son, “Your age now is the same as my age at the time of your birth”
If the father’s age is 38 years now, the son’s age five years back was

a) 14 Years b) 19 Years c) 24 Years d) 38 Years

‘B NM&GSGLECUITSI 6T6tT UG @LUCLITS 26T UG’ 6T6TMI, (I SHeMG D& QFETLSRMTT. ) 60rmI
SHen G UN 6T UL S 38 21,600T(H &6IT 6T6OTMITEL W IH S 6L (H L1615 (61585 (S (LD 60T L0 &5 60T 60T 6L S 6T6OTEOT?

a) 14 21,600T(H & 6T b) 24 91,600T(H & 6T ¢) 19 &,600T(h & 6T d) 38 9,600T(h\ & 6T

193. If 21 cows eat that much as 15 buffaloes, how many cows will eat that much as 35
buffaloes?

21 LUG& 56T, 15 T(He0LD &6 I 6mey FITLILI B 6 60T 60T. 6758 6M60T LIG+& 56T, 35 6T(H60L0 6T 6Ty FmUiLN@Lb?
a) 49 b) 45 c) 56 d) 42

194. A book contains 300 pages. Each page has 32 lines with the same content, how many
pages will the book contain if every page has 24 lines?

RUQGUMIH LESHSH I 32 auflseners QSGMeoTL LHS58555) 60T QMHSL LISSHEIGET 300. 965 QFWS)
RUAGUMIH USSSHND 24 auflsenms @ UBHSMN, LSS55ESHOT QMSSL LISSHMGET 6T6UGI6TEUTS
@\ (B8 LD?

a) 350 b) 400 c) 425 d) 375

195. Which of the following statement/s is sufficient to determine the time period?

I. The compound interest obtained on a principal of ¥ 5000 at an annual interest rate of
10% is ¥ 1050.

II. The simple interest obtained on a principal of ¥ 5000 at an annual interest rate of 10%
is ¥ 1000.

a) Statement I alone is sufficient

b) Statement II alone is sufficient

c) Statement I and Statement II together are sufficient

d) Statement I and Statement II together are not sufficient.

LS etTeu(BLD Fam mi&6rfleL 6TS1/6Temel &ITeV eTemeud SITL0Mmenl18 8L GLITSILDTEITemn6U?

1. ¥ 5000 9|FVI& G L600T(H &S 10% UL 1q Nl FH &5 H 6L FeL & GLD Fal [ euLLq T 1050.

1. 5000 9|FNI&S 600THEGS 10% Ul Ly RS S5H 6L FRemL &GS Heoll eul_Lg T 1000.

a) Famml | LD (HILD CUIMSILDTETSI.
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b) Mo Il 0L (HLD GLIMSILDMTEOTSI.
¢) Fammi | LDMHMILD Fammi || @ Tevor(HILD GLIMSILOITETEn6.
d) GmmHmi | DHMILD Famm Il @FeooT(HD GLIMSILDITEITE0E! 3]6V6V.

196. Which is true for the statements?

a) The degree of the polynomial is the highest (non-negative integer) power of the variable
involved in the term

b) The G.C.D of co-prime factors is 1

c) The LCM of ab, be, ca is abc

d) 1 is a prime number

a) (a), (b), (c) only b) (a), (b), (d) only c) (b), (¢), (d) only d) All of the above
L edTeu(BLD FaM mIG6rfl6L 6TS 2_6UoTemLO?

a) LI mILIL| &G memeuuledr LIl 6TedTLIGI & 2 miLILNeéb 2 aTter LompiludledT SIBSBULF (Gemmwmm WD
6r600m) SO &S S0

b) FMTLGIT eTevorgserfledr LSLIQLIH QUTS! UGS 1 3G 0.

c) ab, bc, ca WS Weumner ISFF M QUIMS! OL_MBIE abc LG LD.

d) 1 e LIGIT 6T600T & LD.

a) (a), (b), (c) LLL @D b) (a), (b), (d) only ¢) (b), (c), (d) only d) GLIMHSHETITL. M6 SILD

197. In a flower garden, there are 23 rose plants in the first row, 21 in the second row, 19
in the third row and so on. There are 5 rose plants in the last row. How many rows are there
in the flower garden?

20 LHCHTLLEH (s eaulflensuiley 23 CrmEmdF QFQ&G6T, @reorLmb auflensFullsy 21 CrmRMsE
QFY&6T, epeTMML euflensuiley 19 CUMLYMEF QFILS&ET 6reTm (WemmUileh CUMTRIMEF QFILHET @UH
agrLjaurflens jemnlilléy 2 etemerr. SHoL&  eauflemsulley 5 CrmERMEF QFSEET @) @HLIL60r,
SILILBHCHITLL&H6L 6185 606tr 6uflen & & 6T 2_6iT6meor?

a) 8 b) 10 c) 12 d) 14

198. If ‘A’ means ‘x’ , ‘B’ means ‘+’, ‘C’ means '+ '
30B15A4D48C12

A’ ET6OTMITEL ‘X', ‘B’ 6TEOTMITEL ‘+’, ‘C’ 6TEOTMITEVL ‘+’, ‘D’ eTEOTMITEL ‘-* 6T6vT16L, 30B15A4D48C12 @) 60T LOG)LIL| 6TEOTEOT?
a) 90 b)88 c) 96 d) 86

, ‘D’ means ‘-¢, then what is the value of

199. Which alphabet is opposite to B?
THS TS S B &G TR iflev 2 6iTengI?
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c)F d) None of the above /GuHFamlw esia|b §6emev

200. If x stands for ‘addition’ < stands for ‘subtraction’ + stands

for ‘division’, > for ‘multiplication’, - stands for ‘equal’ to, +

for ‘greater than’ and = stands for ‘less than’ state, Which of

the following is correct?

x TEOTLISI 'Fa L6V’ < 'SNS5 S56 qTaTLMSE GMIEGERMS + 'UGSSHH0' > 'QLHESHE TTLMSES GMERMSI,
- TEOTLISI "FLOID' TEOTLIEMNS S GMIGE&R M S, +

‘el S &I’ InMMID = 'alL& Gemmey' eTeiTLIemnS & &M1& G LD.

L9 edreu(pLIemeu &iflumeorssm?

a)3x2<4+16>2+4 b)5>2+2=10<4x2
c)3%x4>2-9+3<3 d5x3<7+8+4x1
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